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Q1) What do you mean by Management Accounting? State and explain advantages
and limitations of Management Accounting. [15]

OR

Costing department of A Limited manufacturing special purpose component
has supplied following information about its cost structure - [15]
Direct Material Rs. 800/-, Direct Wages Rs. 1,200/- & Variable overheads Rs.
400/- per unit. The Fixed Cost amounts to Rs. 18,00,000/- per annum. The
Selling price of the component in local market is Rs. 3,000/- per unit.
You are required to find out:-
a) P/V Ratio.
b) Break even sales and Break Even Units.
c) How many units of component are required to be sold to make profit of

Rs. 15,00,000/-
d) A Company has received export order to spply 2,000 Units at Rs. 2,750/

- per unit. If company accepts this order variable cost will be increased
by Rs. 50/- per unit without change in fixed cost. Advice the managment
whether the export order should be accepted or not.

Q2) Define Budget and budgetary control. State and explain objectives and
limitations of budgetary control. [15]

OR

P.T.O.
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From the following information prepare a Cash Budget of Garud Ltd., Pune
for 3 Months ended on 30th June, 2021. [15]

Months Sales in Rs. Purchases in Rs. Wages in Rs. Overheads in Rs.

January, 2021 20,00,000/- 12,00,000/- 2,40,000/- 4,00,000/-

February, 2021 24,00,000/- 16,00,000/- 2,80,000/- 4,40,000/-

March, 2021 26,00,000/- 16,00,000/- 2,80,000/- 4,40,000/-

April, 2021 20,00,000/- 16,00,000/- 3,00,000/- 4,00,000/-

May, 2021 22,00,000/- 12,00,000/- 3,00,000/- 4,80,000/-

June, 2021 28,00,000/- 18,00,000/- 3,60,000/- 4,00,000/-

Other Information -

a) 25% of the sales are on cash and balance on credit basis.

b) 50% of the credit sales are collected in next month and the balance in the
following month.

c) All purchases are made on credit basis and paid after three months of
purchases.

d) Wages are paid on monthly basis and Overheads are paid in the same
month.

e) Advance payment of Tax in the month of June, 2021 Rs. 70,000/-

f) Cash balance on 1st April, 2021 is Rs. 6,00,000/-

g) Board of Directors expected to pay equity dividend of Rs. 1,50,000/- in
the Month of June 2021.

Q3) What is Marginal Cost and Marginal Costing? State and Explain utility and
limitations of Marginal Costing. [15]

OR
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Following information is provided by ABC industries Limited to determine
the quantum of Working Capital needed by the company for forthcoming
financial year. [15]

Estimated Annual Sales 52,000 units @ Rs. 100/- per unit.

The following percentages which various elements of cost bear to the selling
price have been extracted from the Pro-forma Cost Sheet -

Material - 30% Labour - 30% Overheads - 20%

Following further particulars are available -

a) Raw Materials are expected to remain in stock for an average period of
six weeks before issued to production.

b) Finished Goods are to stay in the warehouse for one and half months
on the average before being sold & sent to customers.

c) Each unit of production will be in process on an average for two
weeks (Stage of completion in respect of Labour 75% and Overheads
60%).

d) Credit allowed by suppliers of materials is two month.

e) Debtors are allowed eight weeks credit.

f) Lag in payment of wages is of one months & that of for overheads is
six weeks.

g) Add 20% for contingencies.

h) Sales and Productions follow a consistent pattern and a year consists
of 52 weeks.

Q4) Write Short Notes On (Any Three) [15]

a) Tools and Techniques of Management Accounting

b) Flexible Budget.

c) Make or Buy Decision.

d) Limitations of Financial Accounting.

e) Types of Working Capital.

 
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Q1) Fill in the Blanks with the most appropriate alternative (any six) [6]
i) _____are the different course of action available for a business unit to

pursue its objective at a given point of time.
a) Strategic Review
b) Strategic Evaluation
c) Strategic Alternatives

ii) Product, Price,_________and promotion are the 4 main p’s of
Marketing Mix.
a) Performance
b) Phase
c) Place

iii) ______takes  into consideration the limited natural resources.
a) Social Development
b) Sustainable Development
c) Economical Development

iv) Mainly a pioneer company adopts______for its product or service.
a) Penetration Pricing
b) Skim Pricing
c) Dynamic Pricing

v) The I/O or Industrial Company Model adopts_______perspective.
a) External b)     Internal
c) Neither (A) or (B)

P.T.O.
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vi) The concept of_______implies setting of outlandish or almost
unthinkable goals.
a) TQM
b) Stretch
c) SWOT

vii) ______is the excess of Present Value of estimated Cash Inflows over
the amount of Investment required.
a) Net Present Value
b) Internal Rate of Return
c) Outflow of Cash

viii) ______is the analytical strategic Planning Tool.
a) GST
b) CSR
c) ABC

Q2) State dimensions of Strategic decisions and explain the approaches to strategic
decision making. [14]

Q3) Define strategic Planning? Explain the advantages and limitations of Strategic
Planning. [14]

Q4) Define ‘Strategic Choice’ Explain the steps in the process of Strategic Choice.
[14]

Q5) Define Strategic Evaluation. Explain the characteristics of an effective Evaluation
System and Barriers in Evaluation. [14]

Q6) Write short notes on (any two) [12]
a) Six Sigma
b) Manpower Planning
c) Financial Strategy
d) Resource Audit.


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à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am (H$moUVohr ghm) [6]
i) EImÚm ì¶dgm¶ EH$H$mbm Ü¶o¶ {ZYm©aU H$aV AgVmZm EH$m R>am{dH$ doiog {d{dY H¥$Vr (course

of action) CnbãY AgVmV Ë¶mbm ............... Ago åhUVmV.
A) ì¶yhaMZm nwZamdbmoH$Z
~) ì¶yhaMZm ‘yë¶‘mnZ
H$) ì¶yhaMZm n¶m©¶

ii) CËnmXZ, qH$‘V, .............. Am{U àMma ho {dnUZ {‘lMo Mma nr AmhoV.
A) H$m‘{Jar
~) Q>ßnm
H$) ñWi

iii) ............... ‘Ü¶o ‘¶m©{XV Z¡g{J©H$ g§gmYZm§Mm {dMma Ho$bm OmVmo.
A) gm‘m{OH$ {dH$mg
~) emœV {dH$mg
H$) Am{W©H$ {dH$mg

iv) ‘w»¶V… AJ«oga H§$nZr hr Amnë¶m dñVy d godm§gmR>r ........... Mm dmna H$aVo.
A) hiwdma dmT> qH$‘V (noZrQ´>oeZ)
~) CƒV‘ qH$‘V (ñH$s‘)
H$) ~XbVr qH$‘V (S>m¶Zm{‘H$)

v) Am¶mAmo qH$dm Am¡Úmo{JH$ H§$nZr ‘m°S>bo ................ Ñï>rH$moZ A§{JH$maVo.
A) ~{hJ©V
~) A§VJ©V
H$) (A) qH$dm (~) Zmhr
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vi) ............... hr g§km åhUOo Agm‘mÝ¶ d  Ag§̂ dZr¶ Ü¶o¶mMr AmIUr H$aUo.

A) Q>r³¶yE‘ (TQM)
~) ñQ´>oM (Stretch)
H$) ñdm°Q> (SWOT)

vii) ............... ho Amdí¶H$ Jw§VdUyH$sÀ¶m aH$‘onojm A§Xm{OV amoI àdmhmVrb {dÚ‘mZ
‘yë¶mnojm OmñV AgVo.

A) {Zìdi dV©‘mZ ‘yë¶

~) A§VJ©V naVmdm Xa

H$) ~{hJ©V amoI àdmh

viii) .............. ho ì¶yhaMZm {Z¶moOZmMo {dûcofUmË‘H$ gmYZ Amho.

A) OrEgQ>r

~) grEAma

H$) E~rgr

à.à.à.à.à.2) ì¶yhaMZmË‘H$ {ZU©¶m§Mo Am¶m‘ (dimensions) ñnï> H$am. ì¶yhaMZmË‘H$ {ZU©¶ {ZYm©aUmMo
(approaches)Ñï>rH$moZ ñnï> H$am. [14]

à.à.à.à.à.3) ì¶yhaMZmË‘H$ {Z¶moOZmMr ì¶m»¶m Úm. ì¶yhaMZmË‘H$ {Z¶moOZmMo ’$m¶Xo d ‘¶m©Xm ñnï> H$am. [14]

à.à.à.à.à.4) ‘ì¶yhaMZmË‘H$ {ZdS>’ ì¶m»¶m Úm. ì¶yhaMZmË‘H$ {ZdS> à{H«$¶oVrb nm¶è¶m ñnï> H$am. [14]

à.à.à.à.à.5) ì¶yhaMZm ‘wë¶‘mnZ (Evaluation) ì¶m»¶m Úm. à^mdr ì¶yhaMZm ‘wë¶‘mnZ (Evaluation) àUmbrMr
d¡{eï²>¶o Am{U AS>Wio ñnï> H$am. [14]

à.à.à.à.à.6) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]
A) {g³g {g½‘m

~) ‘Zwî¶~i {Z¶moOZ

H$) {dÎmr¶ ì¶yhaMZm/YmoaU (Strategy)
S>) g§gmYZ A§Ho$jU (Audit)





Q1) Define ‘Accounting Theory’. Explain the approaches to Accounting Theory
in detail. [15]

OR
Write Short Notes (Any Three) : [15]
a) Generally Accepted Accounting Principles
b) IFRS
c) Accounting Environment
d) Classification of Accounting Theory
e) Professional Development of Accounting in India

Q2) The following are the summarized Balance Sheets of X Ltd. Y Ltd. and
Z Ltd. as on 31st March 2022. [15]

Balance Sheets
Liabilities X Ltd. Y Ltd. Z Ltd. Assets X Ltd. Y Ltd. Z Ltd.

Rs. Rs. Rs. Rs. Rs. Rs.
Share 5,00,000 4,00,000 1,50,000 Goodwill 30,000 - -
Capital :
Equity
Shares of Rs.
100 each
fully paid
Profit & Loss
A/c 1,20,000 1,00,000 52,000 Fixed Assets 2,00,000 3,00,000 1,80,000
Creditors 20,000 25,000 8,000 Investments:

acquired on
1st April 2021

Total No. of Questions : 4]
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3,000 Equity 3,50,000 - -
Shares in Y
Ltd.
1200 Equity - 1,40,000 -
shares in
Z Ltd.
Stock in
Trade 50,000 40,000 20,000
Debtors &
Cash at Bank 10,000 45,000 10,000

6,40,000 5,25,000 2,10,000 6,40,000 5,25,000 2,10,000

Further Information
1. On 1st April 2021, Credit balances in Profit and Loss Account before

taking into account proposed dividend were :
X Ltd. Rs. 80,000
Y Ltd. Rs. 48,000
Z Ltd. Rs. 3,000

2. 10% dividend was distributed by X Ltd. for the year 2020-2021 on
30th June 2021.

3. Proposed dividend for 2021-22 to be paid wholly from the profits for
that year are :
X Ltd. 10%
Y Ltd. 5%
Z Ltd. 10%

Prepare a consolidated Balance Sheet as on 31st March 2022.

Q3) Following are the details of PK Ltd. which went into voluntary liquidation
as on 31st March 2022. [15]

Liabilities Rs.
12,000 Equity Shares of Rs.100 each,
Rs.80 called and paid 9,60,000
6% 4,000 Preference Shares of Rs. 100
each fully called up Rs. 4,00,000
Less : Calls in Arrears
(Expected to be realized in full) Rs. 20,000 3,80,000
5% Debenture having floating charge on
assets (Interest paid up to 30.9.2021) 4,00,000
Mortgage on Land and Buildings 3,20,000
Trade Creditors 10,62,000
Wages Outstanding 80,000
Secretary’s Salary @ Rs. 2,000 PM outstanding 12,000
Managing Director’s Salary @ Rs.6,000 PM outstanding 24,000
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Assets Estimated to Book
produce Value

Rs. Rs.
Land & Building 5,20,000 4,80,000

Plant 5,20,000 8,00,000

Patents 1,20,000 2,00,000

Tools 16,000 80,000

Stock 2,96,000 3,48,000

Accounts Receivables 2,40,000 3,60,000

Investments (Pledged with bank for an

overdraft of Rs. 7,60,000) 6,80,000 7,20,000

You are required to prepare a Statement of Affairs of the company as on
31st March 2022.

Q4) The Balance Sheet of Moon Co. Ltd. discloses the following financial
position as on 31st March 2022. [15]

Balance Sheet as on 31st March 2022
Liabilities Rs. Assets Rs.
Issued Capital Fixed Assets 2,50,000

20,000 Shares of Rs. 10 each

fully  paid 2,00,000 Current Assets 1,00,000

Capital Reserve 45,000 Goodwill 20,000

Profit & Loss A/c 10,000

5% Debenture 50,000

Current Liabilities 65,000

3,70,000 3,70,000
1. On 31st March 2022 the fixed Assets was independently valued at

Rs. 2,75,000 and Goodwill at Rs. 25,000.

2. The net profit for the last three years were Rs. 25,800, Rs. 25,825 and
Rs. 26,000 of which 20% was placed to reserve, this proportion being
considered reasonable in the industry in which the company is engaged
and where a fair investment return may be taken at 10%.

Compute the value of company’s share by-

a) Net Assets Method

b) Yield Method
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OR

The Balance Sheet of Bharati Manufacturing Co. Ltd discloses the following
financial position as on 31st March 2022. [15]

Balance Sheet as on 31st March 2022

Liabilities Rs. Assets Rs.

Share Capital : Rs. 10 fully

paid up 5,00,000 Goodwill 50,000

Reserve and Surplus 2,00,000 Land and Building 1,50,000

Sundry Creditors 1,50,000 Plant and Machinery 4,00,000

Investment 50,000

Stock 1,00,000

Debtors 75,000

Cash and Bank 25,000

8,50,000 8,50,000

The Profit before tax for 2021-22 amounted to Rs. 3,00,000 including
Rs. 5,000 as interest on investment. However, an additional amount of
Rs. 25,000 p.a. shall be required to be spent for smooth running of the
business.

Market values of Land and Building and Plant and Machinery are estimated
at Rs. 4,50,000 and Rs. 5,00,000 respectively. In order to match the above
figures further depreciation to the extent of Rs. 20,000 should be taken into
consideration. Income tax rate may be taken at 50%. Return on capital at
the rate of 20% before tax may be considered normal for this business at the
present stage.

It has been agreed that 4 years purchase of super profit shall be taken as the
value of goodwill for the purpose of the deal. You are required to calculate
the value of goodwill of the company.


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Q1) A) Fill in the Blanks. [5]

i) Under Income Tax Act, the income liable for for tax is classified as
_____

a) Income from Salaries, Business or profession, Capital Gain

b) Income from House Property and other sources

c) Agricultural Income

d) Both (a) and (b)

ii) The term income in the Income Tax 1961, is defined under
section_____

a) (Section 2 (24) b) (Section 2 (25)

c) (Section 2 (31) d) (Section 2 (20)

iii) In Income tax Act. 1961, the total income is computed
under_____heads of income sources.

a) One b) Five

c) Three d) Six

P.T.O.
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iv) The sum of various heads of Income is called as ______

a) Taxable income b) Total income

c) Gross total income d) Adjusted income

v) The agricultural income includes______

a) Income from sale of crop

b) Income form preparation of crop

c) Income from nursery

d) All of the above

B) State the following Statements are True of False. [5]

i) Assessee is always a person but a person may or may not be an
Assessee.

ii) Under section 16(i), maximum amount of standard deduction is
Rs.50,000 for the A.Y. 2022-23.

iii) An Individual Assessee can also be a member of HUF, and his
share of Income from HUF is not taxable.

iv) The term Assessee” is defined under section Sec 2 (7) under In-
come Tax Act.

v) Net Taxable Income under Income Tax Act is Gross Taxable In-
come minus Deductions under Sec 80C to Sec 80U under chapter
VIA.

C) Match the following pairs. [5×1=5]

Group-A Group-B

i) An Assessee for HUF a) Central Board of Direct Taxes

ii) Hostel expenditure allowance b) SAHAJ

exemption ceiling limit

iii) ITR-1form c) Rs. 300/- per month per child

iv) CBDT stands d) Karta

v) Employer’s contribution of RPF e) Exempted up to 12% of Salary
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Q2) Short Notes: (Any Three) [15]

a) Agricultural Income

b) Deductions U/S 80 C

c) Concept of ‘Assesse’ as per IT Act

d) Residential Status of an Individual

e) Incomes from Other Sources

Q3) Mr. Atish is a manager of a Multinational Company at Delhi.  He has submitted
the following particulars of his salary income for the financial year 2021-22.[15]

a) Basic Salary 4,20,000 (Annual)

b) D.A. 24,000 PM (10,000 p.m. enters into retirement benefits)

c) Education Allowance for two children 1,300 p.m. per child and hostel
allowance for elder son 1,450 p.m.

d) Commission on sales 40,000

e) Entertainment Allowance 800 p.m.

f) Travelling Allowance for his official tours 80,000 (Actual tour expendi-
ture on tour is 54,000)

g) He was given cloth worth 4,000 by his employer free of cost.

h) He resides in he banglow of the company. He pays 51,000 p.a. rent for
the house.

A watchman and a cook have been provided by the company who were
paid 1,400 p.m. each.

i) He has been provided with a motor car of 1,800 cc with a driver for his
official as well as personal use maintenance expenses for private use are
borne by Mr. Atish.

j) The Company Contributed 10% of salary to National Pension Scheme
and 70,000 in RPF.

k) Interest credited to RPF account was @ 13% p.a. amounted to 16,250/-

l) Professional tax paid 2,500 by the employer

Compute taxable income from salary of Mr. Atish for the Assessment year
2022-23 as per old Tax Regime.
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Q4) Mr. Dhananjay is working in L & T Co. Ltd, Delhi. He has furnished the
following details of his income for the year 2021-22. [15]

a) Basic pay Rs. 28,000 p.m.

b) Dearness Allowance Rs. 17,200 p.m.

c) Bonus Rs. 1,00,000

d) Entertainment Allowance Rs. 600 p.m.

e) Transport Allowance Rs. 1,800 p.m.

f) Received house rent allowance Rs. 3,500 p.m. from the employer, but he
paid a rent of Rs. 4,000 p.m

g) Agricultural Income from Land situated at Sri Lanka Rs. 30,000.

h) Income from Business Rs. 45,000

i) Short Term Capital Gain Rs. 25,000

j) Interest on Govt. Securities Rs. 13,500

k) Income from units of UTI Rs. 4,500

l) His contribution to companies Recognised provident Fund Rs. 32,000
and the employer contributes an equal amount.

m) The interest credited to R.P.F. A/c at 12% is Rs. 9,000.

n) He has taken life insurance policy of Rs. 2,00,000. The premium of Rs.
25,800 and professional tax of Rs. 2,500 is paid by employer.

o) Repayment of loan borrowed for higher education of his son Rs. 59,000
including interest Rs. 29,000.

p) He paid donation to the Government for the promotion of family planning
Rs. 5,000 and Prime Minister’s Drought Relief Fund Rs. 5,000.

Compute the total taxable income and tax liability of Mr. Dhananjay for A.Y.
2022-23 as per old Tax Regime.

Q5) a) Manoj has a property whose municipal valuation is Rs. 2,00,000 p.a. The
fair rent is Rs. 2,10,000 p.a. and the standard rent fixed by the Rent
Control Act is Rs. 2,20,000 p.a. The property was let out for a rent of
Rs. 20,000 p.m. throughout the previous year. Unrealised rent was Rs.
20,000 and all conditions prescribed by Rule 4 are satisfied. he paid
municipal taxes @ 10% of municipal valuation. Interest on borrowed
capital was Rs. 40,000 for the year. Compute the income from house
property of Sunil for A.Y. 2022-23. [8]
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b) Mr. Ashish prepared the following Profit and Loss A/c of his Cloth shop
for the year ended 31st March, 2022. Find out his income for Business
from the AY 2022-23. [7]

(Assuming that he did not opt for presumption Taxation Scheme)

Profit and Loss Account

for the year ended 31-03-2022

Particulars Rs. Particulars Rs.

Salaries and Wages 33,000 Gross Profit 3,34,725

Rent etc. 1,600 Gifts Received

Household Expenses 82,000  from Relatives 275

Income Tax 900

Advertisement 800

Postage Expenses 600

Gift to Relatives 900

Fire Insurance Premium 400

Life Insurance Premium 2,100

Bad Debts Reserve 800

Audit Fees 400

Net Profit 2,11,500

Total 3,35,000 Total 3,35,000

Q6) Explain Short term Asset and Long term Asset. Explain income tax provisions
and exemptions on the following capital assets -LTCG and STCG. [15]

• Shares and Stocks

• Debentures and bonds

• Movable Assets

• House property

• personal Furniture and utensils


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Q1) Fill in the Blanks (Attempt any six) [6]
i) The______can help you choose a product.

a) Office automation system
b) Management information system
c) Transaction processing system
d) Decision supports system

ii) The best products to sell in B2C e-commerce are:_______
a) Small products b) Digital products
c) Specialist Product d) Fresh Product

iii) Intranet and Extranet differs at________
a) Intranet: Private, Extranet: Public
b) Intranet: Public, Extranet: Public
c) Intranet: Private, Extranet: Private and also allowed authorized.
d) Intranet: Public, Extranet: Private

iv) ________create a virtual fingerprint  that is unique to a  person or entity
and are used to identify users and protect information in digital messages
or documents.
a) Digital signatures b) Digital Identification
c) Digital Code d) Password

v) _____type of e-commerce focuses on consumers dealing with each other.
a) B2B b) B2C
c) C2B d) C2C

P.T.O.
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vi) An______is software that allows users to transform enterprise data into
quickly accessible and executive -level reports, such as those used by
billing, accounting and staffing departments.
a) Expert Support System
b) Executive Support System
c) Executive Support Solution
d) Expert Support Solution

vii) The purpose of supply chain management is to_______
a) increase the production level
b) manage and integrate supply and demand management
c) enhance the quality of a product and services
d) provide satisfaction to the customer

viii) ______is the process of buying, selling, or exchanging products, services,
and information via computer networks.
a) E-Business b) E-Commerce
c) E-Governance d) E-Education

Q2) Define System. Explain in detail the four major types of system. [14]

Q3) State the meaning of E-Commerce. Explain in detail the Categories of
E-Commerce. [14]

Q4) Define Internet. Explain in detail the components of Internet. [14]

Q5) Explain in detail the Purchase procedures in relation to E-Commerce. [14]

Q6) Write short notes on (any two) [12]
a) Model of  Business System
b) B2G
c) Electronic Data Interchange
d) Digital Signature


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à.à.à.à.à.1) [aº$ OmJm ^am (H$moUË¶mhr ghm) [6]
i) ................... CËnmXZ {ZdS>Ê¶mV Amnbr ‘XV H$ê$ eH$Vo.

A) Am°{’$g Am°Q>mo‘oeZ {gñQ>‘ ~) ì¶dñWmnZ ‘m{hVr àUmbr
H$) ì¶dhma à{H«$¶m àUmbr S>) {ZU©¶ g‘W©Z àUmbr

ii) ~r 2 gr B©-H$m°‘g©‘Ü¶o {dH«$s gmR>r gdm}Îm‘ CËnmXZo AmhoV…
A) bhmZ CËnmXZ ~) {S>{OQ>b CËnmXZ
H$) {d{eï> CËnmXZ S>) ZdrZ CËnmXZ

iii) B§Q´>mZoQ> Am{U E³ñQ´>mZoQ> ..................... da {^Þ AmhoV.
A) B§Q´>mZoQ>… ImgJr, E³ñQ´>mZoQ>… gmd©O{ZH$
~) B§Q´>mZoQ>… gmd©O{ZH$, E³ñQ´>mZoQ>… gmd©O{ZH$
H$) B§Q´>mZoQ>… ImOJr, E³ñQ´>mZoQ>… ImgJr Am{U A{YH¥$V ^mJrXmam§Zm XoIrb nadmZJr Amho
S>) B§Q´>mZoQ>… gmd©O{ZH$, E³ñQ´>mZoQ>… ImgJr

iv) ................ EH$ Am^mgr q’$JaqàQ> V¶ma H$aVmo Omo EImÚm ì¶º$sgmR>r qH$dm ApñVËdmgmR>r
Img AgVmo Am{U Vmo dmnaH$Ë¶mªZm AmoiIÊ¶mgmR>r Am{U {S>{OQ>b g§Xoem§‘Ü¶o qH$dm XñVEodOmV
‘m{hVr g§a{jV H$aÊ¶mgmR>r dmnabm OmVmo.
A) {S>{OQ>b {g{¾Ma ~) {S>{OQ>b AmoiI
H$) {S>{OQ>b H$moS> S>) g§Ho$VeãX

v) ................ àH$maMo B©-H$m°‘g© EH$‘oH$m§er ì¶dhma H$aUmè¶m J«mhH$m§da bj H|${ÐV H$aVmV.
A) ~r 2 ~r ~) ~r 2 gr
H$) gr 2 ~r S>) gr 2 gr
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vi) ................. Ago gm°âQ>doAa Amho Oo dmnaH$Ë¶mªZm E§Q>aàmBP S>oQ>m ÐþVnUo àdoe H$aÊ¶m
¶mo½¶ Am{U H$m¶©H$mar-ñVar¶ Ahdmbm ‘Ü¶o énm§Vm©aoV H$aÊ¶mg AZw‘Vr XoVo, Ogo H$s
{~qbJ, boIm Am{U ñQ>mq’$J {d^mJm§Zr dmnabobo.

A) Vk g‘W©Z àUmbr ~) H$m¶©H$mar g‘W©Z àUmbr

H$) H$m¶©H$mar g‘W©Z g‘mYmZ S>) Vk g‘W©Z g‘mYmZ

vii) nwadR>m gmIir ì¶dñWmnZmMm hoVy  ............ Amho.

A) CËnmXZ nmVir dmT>{dUo

~) nwadR>m Am{U ‘mJUr ì¶dñWmnZ ì¶dñWm{nV Am{U g‘mH${bV H$aUo

H$) CËnmXZ Am{U godm§Mr JwUdÎmm dmT>dUo

S>) J«mhH$m§Zm g‘mYmZ àXmZ H$aUo

viii) ................. hr g§JUH$ ZoQ>d³g©Ûmao CËnmXZo, godm Am{U ‘m{hVr IaoXr, {dH«$s qH$dm
XodmUKodmU H$aÊ¶mMr à{H«$¶m Amho.

A) B©-ì¶dgm¶ ~) B©-H$m°‘g©

H$) B©-JìhZ©Ýg S>) B©-{ejU

à.à.à.à.à.2) àUmbr Mr ì¶m»¶m Úm. àUmbr Mo ‘w»¶ Mma àH$ma g{dñVa ñnï> H$am. [14]

à.à.à.à.à.3) B©-H$m°‘g© Mm AW© gm§Jm. B©-H$m°‘g© À¶m loÊ¶m g{dñVa ñnï> H$am. [14]

à.à.à.à.à.4) B§Q>aZoQ> Mr ì¶m»¶m Úm. B§Q>aZoQ> Mo KQ>H$ g{dñVa ñnï> H$am. [14]

à.à.à.à.à.5) B©-H$m°‘g© g§X^m©V IaoXr à{H«$¶m g{dñVa ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) ì¶dgm¶ àUmbr Mr à{VH¥$Vr

~) ~r 2 {O

H$) Bbo³Q´>m°{ZH$ S>oQ>m B§Q>aMoÝO

S>) {S>{OQ>b ñdmjar


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2) Solve any Three questions from question no. 2 to question no. 5.
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Q1) Fill in the blanks by selecting a suitable choice. (Any Six) [6]
i) Intellectual Property Rights includes ________.

a) Goodwill
b) Copy Right
c) Both a and b

ii) The headquarters of WIPO is located at ______.
a) Geneva
b) Delhi
c) Paris

iii) World Trade organisation established in the year ______.
a) 1995
b) 2010
c) 1948

iv) _________ is an exclusive right granted for an invention.
 a) A Patent
b) Copy Right
c) Trade Marks

v) Apple, McDonald's are the examples of ________.
a) Patent
b) Trademarks
c) Copy Right

SEAT No. :

P.T.O.
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vi) National Biodiversity Authority is established in the year _______.
a) 2010
b) 2008
c) 2003

vii) The purpose of National Biodiversity Authority is _______.
a) To protect the interest of consumers
b) Implementation of biodiversity Act
c) Both a and b

viii) The Biodiversity Act is enacted in the year _______.
a) 2015
b) 2002
c) 2006

Q2) What is world Trade Organisation? Explain the objectives of World Trade
Organisation. [14]

Q3) Explain the concept and types of patent. What are patentable & non-patentable
inventions. [14]

Q4) Explain the concepts and types of Trademarks. What is infringement of
Trademarks and its remedies? [14]

Q5) Explain the functions & powers of state Biodiversity Board. [14]

Q6) Write short notes (Any Two) : [12]
a) Intellectual Property Rights
b) GATT
c) Procedure for obtaining patents
d) National Biodiversity Authority


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àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aH$må`m OmJm ^am. (H$moUVohr ghm) [6]
i) ~m¡ÕrH$ g§nXm A{YH$mamV ................. `m§Mm g_mdoe hmoVmo.

A) Zmdbm¡H$sH$
~) H$m°nramBQ>
H$) A Am{U ~ XmoÝhr

ii) OmJ{VH$ ~m¡ÕrH$ g§nXm g§KQ>ZoMo _w»`mb` ............. òWo Amho.
A) {OZoìhm
~) {Xëbr
H$) n°arg

iii) OmJ{VH$ ì`mnma g§KQ>ZoMr ñWmnZm ............... _Ü ò Pmbr.
A) 1995
~) 2010
H$) 1948

iv) ................... hm EH$ Agm {deof A{YH$ma Amho H$s Omo EImXçm Zd{Z{_©VrgmR>r {Xbm
OmVmo.
A) noQ>§Q>
~) H$m°nramB©Q>
H$) Q´>oS>_mH©$

P.T.O.
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v) A°nb, _°H$S>moZmëS> hr .............. Mr CXmhaUo AmhoV.
A) noQ>§Q>
~) Q´>oS>_mH©$
H$) H$m°nramB©Q>

vi) amï´>r` O¡d{d{dYVm àm{YH$aUmMr ñWmnZm ............. _Ü ò Pmbr.
A) 2010
~) 2008
H$) 2003

vii) amï´>r` O¡d{d{dYVm àm{YH$aUmMm CÔoe åhUOo .............
A) J«mhH$m§À`m {hVm§Mo ajU H$aUo
~) O¡d{d{dYVm H$m`XçmMr A§_b~OmdUr H$aUo
H$) A Am{U ~ XmoÝhr

viii) O¡d{d{dYVm H$m`Xm ................. _Ü`o g§_V H$aÊ`mV Ambm.
A) 2015
~) 2002
H$) 2006

àíZ 2) OmJ{VH$ ì`mnma g§KQ>Zm H$m` Amho? OmJ{VH$ ì`mnma g§KQ>ZoMo CÔoe ñnï> H$am. [14]

àíZ 3) noQ>§Q>Mr g§H$ënZm Am{U àH$ma ñnï> H$am. noQ>§Q> H$aÊ`m`mo½` Am{U noQ>§Q> H$aÊ`m`mo½` ZgUmao emoY
H$moUVo? [14]

àíZ 4) Q´>oS>_mH©$Mr g§H$ënZm Am{U àH$ma ñnï> H$am. Q´>oS>_mH©$Mo Cëb§KZ Am{U Ë`mg§X^m©V Cnm` `moOZm
gm§Jm. [14]

àíZ 5) amÁ` O¡d{d{dYVm _§S>imMo H$m }̀ Am{U A{YH$ma ñnï> H$am. [14]

àíZ 6) {Q>nm {bhm. (H$moUË`mhr XmoZ) [12]
A) ~m¡ÕrH$ g§nXm A{YH$ma
~) J°Q>
H$) noQ>§Q> {_i{dÊ`mMr à{H«$`m
S>) amï´>r` O¡d{d{dYVm àm{YH$aU


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SEAT No. :

P.T.O.

Q1) Define cost accounting. Explain the advantage and limitation of cost
accounting . [15]

OR
From the following information prepare cost sheet of xyz co. Ltd.
Sales 7,80,000
Purchase 4,83,375
Salaries: 63,300

Office 40,350
Selling 22,950

Rent & Taxes: 4050
Office 2,700
Selling 1,350

Consumable Stores 3,850
Depreciation on plan & Machinery 13,950
Advertising 4,700
Indirect Materials 2,350
Travelling Expenses 3,000
Opening Stock of Row Material 1,14,375
Sundry Expenses 24,750

Office 16,500
Selling 8,250

Closing Stock of Raw Material 1,47,750
Dividend on Shares 13,500
Preliminary Expenses 4,500
Discount on issue of Shares 6,000
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Q2) What is Remuneration? State the various principles of Remuneration. [15]

OR

Z Ltd. is divided into four departments A, B, C and D. A, B, C are
production departments and D Service Department the actual cost for the
period are as follows: [15]

Particulars Rs.

Rent 6,000

Reparis 3,600

Depreciation 2,700

Light 600

Supervision 9,000

Fire insurance in respect of stock 3,000

Employer’s contribution to Group Insurance 900

Power 5,400

The following data are available in respect of four departments

Particulars Production Department ServiceDep.

A B C D

Area sq. ft. 450 330 270 150

Number of workers 72 48 36 24

Total wages 24,000 18,000 12,000 6,000

Horse-power of

Machines 800 600 400 200

Value of plant 72,000 54,000 36,000 18,000

Value of stock 45,000 27,000 18,000 -

Prepare primary distribution of overheads.
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Q3) Define the term overhead. Explain the classification of overheads.

OR

The following are extracted from the books of Varma Constructions, Pune on
31/03/2020. [15]

Particulars Rs.

Contract Price 12,00,000

Plant and Machinery 1/4/2019 60,000

Material 3,41,200

Labour charge 2,97,500

Engineer’s Fees 12,660

Outstanding Wages 10,760

Work Uncertified 24,000

Overheads 16,480

Materials return to stores 3,200

Material at site 7,400

Plant and machinery at site 31/03/2020 44,000

Work certified 7,80,000

Cash received 7,02,000

Prepare contract accounts for the year ended 31st March 2020 and extract of
balance sheet as on that date.

Q4) Write short note (any three). [15]

a) Contract Costing.

b) Advantage of Job Costing.

c) Cost Centre.

d) Classification of Labour.

e) Overhead Absorption.


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Q1) What is meant by budgetary control? State its objectives. [15]

OR

Prepare a cash budget for three months from the following particulars relating
to Bhargav Ltd, Bombay.

Months Credit sales Purchases Wages

Nov'20 10,0000 80,000 50,00

Dec' 20 90,000 70,000 60,00

Jan' 21 11,0000 10,0000 45,00

Feb'21 60,000 95,000 55,00

Mar' 21 80,000 13,0000 70,00

40% of the credit sales will be realised in the month following the sales & the
remaining 60% in the second month following. The creditors will be paid in
the month following the purchases. Interest of Rs. 5000 will have to be paid in
the month of February 2021. Income Tax of Rs. 15000 will have to be paid in
the month of march 2021 wages are paid in the same month. The opening
balance of cash as on 1st January 2021 was Rs. 20000. [15]

SEAT No. :

P.T.O.
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Q2) Define standard cost & standard costing. Distinguish between standard costing
& Budgetary  control. [15]

OR
XYZ Co. Ltd provides following cost details from which you are required to
calculate.
i) Labour cost variance
ii) Labour Rate variance
iii) Labour efficiency variance
Standard hours per unit of output 20 Hours
Standard rate per hour Rs. 5
Actual production during october' 21 2000 Units
Actual Hours 35000 Hours
Actual Rate per Hour Rs. 4
Also verify your results. [15]

Q3) What is Inter firm comparison? State the advantages & Limitations of Inter
firm comparison. [15]

OR
A company has two divisions & it wants to make additional investment in one
of the two divisions. The relevant intermation about the divisions is gives as
follow :
Net Profit on additional investment :
Division 1- Rs. 70,000, Division 2 - Rs. 85000
Current ROI - Division 1 - 15%

Division - 2 - 14%
Additional Investment - Rs. 500000
The cost of capital is 12%. In which division should investment be made?[15]

Q4) Write short notes on (Any 3) [15]

a) Production Budget

b) Sales variance

c) Overhead cost variance

d) Advantages of Responsibility Accounting

e) Uniform cost manual


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Q1) Fill in the blanks by selecting a suitable choice (any six): [6]

a) The short coming in the act of 1904 was removed by the legislation
known as ________.

i) Cooperative societies act of 1992

ii) The model cooperative act

iii) Constitution amendment bill

iv) None of these

b) Capital of cooperative societies in the form of ______.

i) Share capital ii) Ear marked fund/Debenture

iii) Corpus fund iv) None of the above

c) The white revolution is related to _______.

i) Milk ii) Wheat

iii) Soyabean iv) None of the above

d) The working capital of a society as defined under the Maharashtra
cooperative society act includes _________.

i) paid-up share capital ii) funds build up out of profit

iii) money raised by borrowing iv) all of the above

e) Dr. V.V. Patil Institute of cooperative management was situated in ______.

i) Pune ii) Hydrabad

iii) Delhi iv) Mumbai

P.T.O.
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f) The members of a cooperative society have _______ liability.

i) Limited ii) Unlimited

iii) Joint iv) Joints & Several

g) Expand NCDC

i) National Cooperative Development Corporation

ii) National Cooperative Dairy Corporation

iii) National Consumers Development Corporation

iv) National Consumer Dairy Cooperative

h) The binding up of cooperative society means ________.

i) Liquidation ii) Registration

iii) Amalgmation iv) Reconstruction

Q2) State the recent scenario in Cooperative Movement in India. [14]

Q3) State the structure of Cooperative Department. [14]

Q4) Explain the updated amendments of Maharashtra state Cooperative Society
act 1960. [14]

Q5) Write a brief note on “All India Rural Credit Survey Committee”. [14]

Q6) Write a short notes (any two): [12]

a) NABARD.

b) Post in dependence evolution of cooperative movement in India.

c) Responsibilities of Register of Cooperative Societies.

d) Report of Vaidyanathan Committee.


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à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z Jmiboë¶m OmJm ^am. (H$moUVohr ghm) [6]

A) 1904 À¶m ghH$ma H$m¶ÚmVrb CUrdm ................... Ûmao Xÿa H$aÊ¶mV Amë¶m.

i) ghH$mar g§ñWm A{Y{Z¶‘ 1992 ii) ghH$mar ‘m°S>ob H$m¶Xm

iii) KQ>ZmË‘H$ gwYmaUm {dYo¶H$ iv) ¶mn¡H$s Zmhr

~) ghH$mar g§ñWoMo ^mJ^m§S>db .................. À¶m ñdê$nmV AgVo.

i) ^mJ^m§S>db ii) H$O©amoIo

iii) H$m°n©g ’§$S> iv) darbn¡H$s Zmhr

H$) ew^«H«$m§Vr ........................... er g§~§{YV Amho.

i) XþY ii) Jhÿ

iii) gmo¶m~rZ iv) ¶mn¡H$s EH$hr Zmhr

S>) ‘hmamï´> amÁ¶ ghH$mar g§ñWm H$m¶Úm§VJ©V ghH$mar g§ñWm§Mo IoiVo ^m§S>db åhUOo ...............

i) {d{H«$OÝ¶ ^mJ^m§S>db

ii) Z’$m daH$S>

iii) H$Om©D$ {ZYr

iv) darb gd©

B) S>m°. {dR²>R>bamd {dIo nm{Q>b ghH$mar g§ñWm ................. ¶m{R>H$mUr Amho.

i) nwUo ii) h¡Xam~mX

iii) {X„r iv) ‘§§w~B©



4[5956]-109

’$) ghH$mar g§ñWoÀ¶m g^mgXm§Mo CÎmaXm{¶Ëd ................ AgVo.

i) ‘¶m©{XV ii) A‘¶m©{XV

iii) g§¶yº$ iv) g§¶yº$ d AZoH$

¶) NCDC Mo nyU© ê$n

i) National Cooperative Development Corporation

ii) National Cooperative Dairy Corporation

iii) National Consumers Development Corporation

iv) National Consumer Dairy Corporation

a) ghH$mar g§ñWobm ................. ~§YZH$maH$ AgVo.

i) {b{¹$S>oeZ ii) Zm|XUr

iii) EH${ÌH$aU H$aUo iv) nwZa©MZm

à.à.à.à.à.2) ^maVr¶ ghH$mar MidirVrb AbrH$S>rb ~Xbm§Mm AmT>mdm ¿¶m. [14]

à.à.à.à.à.3) ghH$ma {d^mJmMr aMZm ñnï> H$am. [14]

à.à.à.à.à.4) ‘hmamï´> amÁ¶ ghH$mar g§ñWm H$m¶ÚmVrb AbrH$S>rb gwYmaUm ñnï> H$am. [14]

à.à.à.à.à.5) Am{Ib ^maVr¶ J«m‘rU nVnmhUr g{‘Vrda {Q>n {bhm. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) Zm~mS>©

~) ñdmV§Í¶moÎma H$mimVrb ^maVr¶ ghH$mar MidirMr CËH«$m§Vr

H$) ghH$mar g§ñWm§À¶m {Z~§YH$mÀ¶m O~m~Xmè¶m

S>) d¡ÚZmWZ g{‘VrMm Ahdmb


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Q1) Fill in the blanks by selecting suitable choice (any 6 out of 8) : [6]
i) In India, the rural Landless employment Guarantee programme was started

in __________
a) 1982 b) 1984
c) 1999 d) 1981

ii) The integrated Rural Development program (IRDP) was introduced
in________.
a) 1982 b) 1977
c) 1980 d) 1975

iii) National institute of Rural Development and Panchayati Raj is situated at
_________
a) Hyderabad b) Pune
c) Delhi d) Mumbai

iv) NREGA National Rural Employment Guarantee Act of 2005 has guranted
________ days of employment in year in many districts of India.
a) 200 days b) 100 days
c) 30 days d) 60 days

v) National Rural employment Guarantee programme started in ______
a) 2005 b) 2006
c) 2007 d) 2008

vi) Employment Assurance scheme was launched on __________
a) 31 August 2007 b) 31 August 2009
c) 31 August 2012 d) 31 August 2006

SEAT No. :

P.T.O.
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vii) The word sustainable development come into existence in __________
year.
a) 1992 b) 1978
c) 1980 d) 1987

viii) Poverty and _________ are twin main problem found in Rural India.
a) Unemployment b) Child labour
c) Crime d) Castism

Q2) Explain the problem and challenges of Rural development of Maharashtra.[14]

Q3) Explain the role of government for rural Development in Maharashtra. [14]

Q4) Explain the major central government schemes for Rural Development in India.
[14]

Q5) Explain the principles and approaches of Rural Development. [14]

Q6) Write a short notes on: (any 2 out of 4) [12]
a) Concept of Rural Development.
b) Programme for Rural Development in Maharashtra
c) Problem of Rural Development in Maharashtra
d) Area Development plan


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3) COdrH$S>rb A§H$ Ë¶m àíZmMo nyU© JwU Xe©{dVmV.
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àíZ 1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må`m OmJm ^am. (8 n¡H$s H$moUË¶mhr 6) [6]
i) ^maVmV J«m‘rU ŷ{‘hrZ amoOJma H$m¶©H«$‘ .......... ‘Ü¶o gwê$ Pmbm.

A) 1982 ~) 1984
H$) 1999 S>) 1981

ii) EH$mpË‘H$ J«m‘rU {dH$mg H$m¶©H«$‘ (Am¶.Ama.S>r.nr) ...............‘Ü¶o A‘bmV Ambm.

A) 1982 ~) 1977
H$) 1980 S>) 1975

iii) amï´>r¶ J«m‘rU {dH$mg d n§Mm¶Vr amO g§ñWm ............. ¶oWo ñWmnZ Pmbr Amho.

A) h¡Xam~mX ~) nyUo

H$) {X„r S>) ‘w§~B©

iv) ZaoJm (amḯ>r¶ J«m‘rU amoOJma h‘r H$m¶Xm 2005) Zo ̂ maVmVrb ~è¶mM {OëømV ..............
{XdgmÀ¶m amoOJmamMr h‘r {Xbr.

A) 200 {Xdg ~) 100 {Xdg

H$) 30 {Xdg S>) 60 {Xdg

v) amï´>r¶ J«m‘rU amoOJma h‘r H$m¶©H«$‘ ............. ‘Ü¶o gwê$ Pmbm.

A) 2005 ~) 2006
H$) 2007 S>) 2008

P.T.O.
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vi) amoOJma h‘r ¶moOZm ............. ‘Ü¶o gwê$ Pmbr.
A) 31 Am°JñQ> 2007 ~) 31 Am°JñQ> 2009
H$) 31 Am°JñQ> 2012 S>) 31 Am°JñQ> 2006

vii) emídV {dH$mg hm eãX gZ .......... ‘Ü¶o ApñVËdmV Ambm.
A) 1992 ~) 1978
H$) 1980 S>) 1987

viii) Jar~r Am{U ............ ¶m XmoZ à‘wI g‘ñ¶m ^maVmV AmT>iVmV.
A) ~oamoOJmar ~) ~mb H$m‘Jma

H$) JwÝhoJmar S>) OmVrdmX

àíZ 2) ^maVmVrb J«m‘rU {dH$mgmVrb g‘ñ¶m Am{U AmìhmZo ñnï> H$am. [14]

àíZ 3) ‘hmamï´>mVrb J«m‘rU {dH$mgmVrb gaH$maMr ŷ{‘H$m ñnï> H$am. [14]

àíZ 4) ^maVmVrb H|$Ð gaH$maÀ¶m J«m‘rU {dH$mgmÀ¶m ‘w»¶ ¶moOZm ñnï> H$am. [14]

àíZ 5) ì¶dñWmnZ H$m¶m©Mr J«m‘rU {dH$mgmVrb ŷ{‘H$m gm§Jm. [14]

àíZ 6) {Q>nm {bhm. (4 n¡H$s H$moUË¶mhr 2) [12]
A) J«m‘rU {dH$mgmMr g§H$ënZm
~) ‘hmamï´>mVrb J«m‘rU {dH$mgmMo H$m¶©H«$‘

H$) ‘hmamï´>mVrb J«m‘rU {dH$mgmÀ¶m g‘ñ¶m
S>) joÌr¶ {dH$mg ¶moOZm


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Q1) Fill in the blanks with appropriate alternatives given (any 6): [6]

a) The promotion P of marketing is also known as __________.

i) Product Differentiation ii) Distribution

iii) Cost iv) Marketing Communication

b) Testing before launching a product is known as _________.

i) Acid Test ii) Concept Testing

iii) Market Test iv) Test Marketing

c) A ______ is an elaborated version of the idea expressed in consumer terms.

i) New Idea ii) Product concept

iii) Product Idea iv) Test Brand

d) NCDC = ____________________.

i) National Cooperative Development Corporation

ii) National Cooperative Dairy Corporation

iii) National Consumer Development Corporation

iv) National Consumers Dairy Cooperative

e) The co-operative credit society’s Act has been passed in _______.

i) 1901 ii) 1902

iii) 1903 iv) 1904

P.T.O.
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f) ____ of the following is note considered as a type of reseller?

i) Wholesaler ii) Retailer

iii) Manufacturer iv) Distributor

g) B.P.O. means _________.

i) Business Process Outsourcing

ii) Business Procurement outsourcing

iii) Business Processing Outcome

iv) Business Process Outstanding

h) SHG means ______________.

i) Self Help Group ii) Self Helping Group

iii) Saving Housing Group iv) Self Housing Group

Q2) What is the meaning of organized Commodity Markets? Explain its advantages
and limitations. [14]

Q3) What do you understand by service sector? Explain the importance and scope
of service sector? [14]

Q4) What do you mean by ‘FDI’? Describe the importance and limitations of
FDI. [14]

Q5) What is the meaning of co-operative marketing? Explain the role of co-operative
marketing in rural development. [14]

Q6) Write a short notes on (any 3): [12]

a) Reliance Mall

b) State Trading corporation (STC)

c) Importance of Regulated Markets

d) Direct marketing for farmers.

e) Role of service sector in India.


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[5956]-111
M.Com. (Part - I)

111 : BUSINESS PRACTICES AND ENVIRONMENT
Organised Trades and Markets

(2019 Pattern) (CBCS) (Semester - I) (Special Paper - I) (Group - E)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«§$. 1 Am{U àíZ H«§$. 6 gmoS>{dUo A{Zdm¶© Amho.
2) àíZ H«§$. 2 Vo àíZ H«§$. 5 n¡H$s H$moUVohr 3 àíZ gmoS>dm.
3) àíZ H«§$. 2 Vo àíZ H«§$. 5 gd© àíZm§Zm g‘mZ JwU AmhoV.
4) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-2870

à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSw>Z [aH$må¶m Om‘m ^am (H$moUVohr ghm) [6]

A) {dnUZmVrb {dH«$¶d¥Õrbm .................. Agohr åhUVmV.

i) dñVw{d{dYVm ii) {dVaU

iii) n[aÊ¶¶ iv) {dnUZg§kmnZ

~) EImXo CËnmXZ ~mOmamV AmUÊ¶mnwdu {VMr MmMUr KoUo Ë¶mg ................. åhUVmV.

i) A°grS> MmMUr ii) g§H$ënZm MmMUr

iii) ~mOmanoR> MmMUr iv) {dnUZ MmMUr

H$) Cn^moº$m ¶m g§H$ënZoVwZ ì¶º$ Ho$bobr ................ hr {dñV¥V Amd¥ÎmrM Amho.

i) Z{dZ H$ënZm ii) dñVw g§H$ënZm

iii) dñVw H$ënZm iv) MmMUr ~«±S>

S>) NCDC = ____________.

i) Z°eZb H$moAm°naoQ>rìh S>oìhbn‘|Q> H$mnm}aoeZ

ii) Z°eZb H$moAm°naoQ>rìh S>oAar H$mnm}aoeZ

iii) Z°eZb H$ÝPw‘a S>oìhbn‘|Q> H$mnm}aoeZ

iv) Z°eZb H$ÝPw‘a S>oAar H$moAm°naoQ>rìh

B) X H$mo-Am°naoQ>rìh H«o$S>rQ> gmogm¶Q>rP A°³Q>-gmbr g§‘V Pmbm.

i) 1901 ii) 1902

iii) 1903 iv) 1904
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¶) Imbrbn¡H$s H$moUVm àH$ma nwZ©{dH«o$Vm ¶m àH$mamV ¶oV Zmhr.

i) KmD$H$ {dH«o$Vm ii) {H$aH$moH$ {dH«o$Vm

iii) CËnmXH$ iv) {dVaH$

a) BPO åhUOo ...................

i) {~PZog àmogog AmD$Q>gmo{gªJ ii) {~PZog àm°³¶wa‘|Q> AmD$Q>gmo{gªJ

iii) {~PZog àmogo{g§J AmD$Q>H$‘ iv) {~PZog àmogog AmD$Q>ñQ>±S>rJ

b) SHG åhUOo ...................

i) goë’$ hoën J«wn ii) goë’$ hoëntJ J«wn

iii) goìhtJ hmD$qgJ J«wn iv) goë’$ hmD$qgJ J«wn

à.à.à.à.à.2) g§KQ>rV dñVw ~mOma åhUOo H$m¶ ? Ë¶mMo ’$m¶Xo Am{U ‘¶m©Xm ñnï> H$am. [14]

à.à.à.à.à.3) godmjoÌmMm AmnUmg H$m¶ AW©~moY hmoVmo? godmjoÌmMo ‘hËd Am{U d¡{eîQ>ço ñnï> H$am. [14]

à.à.à.à.à.4) naH$s¶ WoQ> Jw§VdUwH$ åhUOo H$m¶? Ë¶mMo ‘hËd Am{U C{X²Xï>o {deX H$am. [14]

à.à.à.à.à.5) ghH$mar {dnUZ åhUOo H$m¶? J«m‘rU {dH$mgm‘Ü¶o ghH$mar {dnUZmMr ŷ{‘H$m ñnï> H$am. [14]

à.à.à.à.à.6) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr VrZ) [12]

A) [abm§¶Ýg ‘m°b

~) amÁ¶ ì¶mnmar ‘hm‘§S>i (STC)

H$) {Z¶§{ÌV ~mOmamMo ‘hÎd

S>) eoVH$è¶m§gmR>r WoQ> {dnUZ

B) ^maVmVrb godm joÌmMr ŷ{‘H$m


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BUSINESS PRACTICES & ENVIRONMENT
Group- E : Business Environment and Policy (Special Paper-II)

(2019 Pattern) (Semester - I) (112)
Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-2871

Q1) Explain the remedies to remove the social injustice and poverty of India. [16]
OR

What is Environment? Explain the nature and important of environment.

Q2) Explain the impact and importance of Globalization. [16]
OR

State the Air and water pollution.

Q3) a) Explain the Business environment of India. [8]
OR

Explain the causes of unemployment. [8]
b) State the concept of Regional imbalance. [8]

OR
Explain the concept of Inflation. [8]

Q4) Write Short Notes (any two) [12]
a) Objects of Globalization.
b) Parallel economy.
c) Air pollution.
d) Go green movement.


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Total No. of Questions : 4]

[5956]-112
M.Com.

BUSINESS PRACTICES & ENVIRONMENT
Group- E : Business Environment and Policy (Special Paper-II)

(2019 Pattern) (Semester - I) (112)
(_amR>r ê$nm§Va)

doi : 3 Vmg]                      [EHy$U JwU : 60
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-2871

àíZ 1) ^maVmVrb gm‘m{OH$ AÝ¶m¶ d Xm[aÐ¶ Xÿa H$aÊ¶mgmR>r À¶m Cnm¶ ¶moOZm {deX H$am. [16]
qH$dm

n¶m©daU åhUOo H$m¶? n¶m©daUmMo ñdê$n d ‘hËd ñnï> H$am.

àíZ 2) OmJ{VH$sH$aUmMo n[aUm‘ d ‘hËd ñnï> H$am. [16]
qH$dm

hdm d nm{U àXþfU {deX H$am. [8]

àíZ 3) A) ^maVmVrb ì¶mdgm{¶H$ n¶m©daU ñnï> H$am. [8]
qH$dm

~oH$marMo H$maUo ñnï> H$am. [8]
~) àmXo{eH$ Ag‘Vmob g§H$ënZm ñnï> H$am. [8]

qH$dm
MbZdmT> g§H$ënZm ñnï> H$am. [8]

àíZ 4) WmoS>³¶mV {Q>nm {bhm (H$moUVohr XmoZ) [12]
A) OmJ{VH$sH$aUmMo C{Ôï>o
~) g‘m§Va AW©ì¶dñWm
H$) hdm àXÿfU
S>) h[aV Midi


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BUSINESS ADMINISTRATION - I
113-Group-F : Production and Operation Management

(2019 Pattern) (Semester - I) (Credit System)

Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Q.1 & Q.6 are compulsory. Out of remaining.
2) Q.2 to Q.5 attempt 3 questions.
3) Figures to the right indicate full marks.

PA-2872 [Total No. of Pages : 4

SEAT No. :

Q1) Choose the correct alternatives (Any 6): [6]

a) Construction of bridge is _______ type of production.

i) Project ii) Batch

iii) Mass iv) Job-Shop

b) TQM means _____________.

i) Total Quality Management ii) Total Quantity Management

iii) Total Quality Marketing iv) Total Quality Money.

c) Which of the following is not part of Five M?

i) Material ii) Machine

iii) Motion iv) Method

d) ISO means ___________.

i) Indian Organisation Standard

ii) Internal Organisation Standard

iii) International Organisation for Standard

iv) None of these

e) ______ factor is not involved in change process.

i) Raw material ii) Human

iii) Money iv) Assembling

P.T.O.
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f) Continious Quality development concept is known ________ system in
Japanies.

i) Six Sigma ii) Kizen

iii) Poca-yoke iv) Control

g) Production and planning and control is important in production -
True or False.

h) Every business organisation is part of at least one supply chain -
True or False.

Q2) Define Plant layout. Describe the objectives and advantages of good plant
layout. [14]

Q3) Explain in details the tools and techniques of supply chain management. [14]

Q4) What is product planning? State the importance of it. [14]

Q5) Define ‘Total Quality Management.’ State the objectives of Total Quality
Management. [14]

Q6) Write note (Any Two): [12]

a) Batch Production.

b) Qualitative Measures.

c) Advantages of Product design.

d) Waste Management.


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Total No. of Questions : 6]

[5956]-113
M.Com. (Part - I)

BUSINESS ADMINISTRATION - I
113-Group-F : Production and Operation Management

(2019 Pattern) (Semester - I) (Credit System)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H« . 6 gº$sMo AmhoV.
2) àíZ H«$. 2 Vo àíZ H«$. 5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-2872

à.à.à.à.à.1) ¶mo½¶ n¶m©¶mMr {ZdS> H$am. (’$º$ ghm) [6]

A) nwb ~m§YUo åhUOo .............. CËnmXZ nÕVr hmo¶.

i) àH$ën ii) ~°M

iii) ‘moR¶m à‘mUmdarb iv) Om°~ em°n

~) TQM åhUOo .........................

i) EHy$U JwUdÎmm ì¶dñWmnZ ii) EHy$U g§»¶mË‘H$ ì¶dñWmnZ

iii) EHy$U JwUdÎmm {dnUZ iv) EHy$U JwUdÎmm n¡gm

H$) Imbrbn¡H$s H$moUVm KQ>H$ nmM ‘M’ n¡H$s Zmhr?

i) H$ƒm ‘mb ii) ¶§Ì
iii) JVr iv) nÕVr

S>) ISO (Am¶ Eg Amo) åhUOo ..............

i) ^maVr¶ à‘mUrH$aU g§ñWm

ii) g§ñWoMr A§VJ©V à‘mUrH$aU àUmbr

iii) à‘mUrH$aU àUmbrMr Am§Vaamï´>r¶ g§ñWm

iv) ¶mn¡H$s EH$hr Zmhr

B) nardV©Z à{H«$¶o‘Ü¶o ................ hm KQ>H$ g‘m{dï> Zmhr.

i) H$ƒm ‘mb ii) ‘mZd

iii) n¡gm iv) OwidUo
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’$) .............. OnmZr g§H$ënZoV gmVË¶nyU© JwUdÎmm gwYmaUm hmoVo.

i) {g³g {g½‘m ii) H$mBPoZ

iii) nmoHo$-¶moHo$ iv) {Z¶§ÌU

¶) CËnmXZm‘Ü¶o CËnmXZ {Z¶moOZ {Z¶§ÌU ho ‘hÎdmMo Amho. -  MyH$ H$s ~amo~a

a) àË¶oH$ ì¶dgm¶m‘Ü¶o {H$‘mZ EH$ nyadR>m gmIir AgVo. -  MyH$ H$s ~amo~a

à.à.à.à.à.2) "¶§ÌHw$b g§aMZm' ì¶m»¶m {bhm. AmXe© ¶§ÌHw$b g§aMZoMo CÔoe d ’$m¶Xo ñnï> H$am. [14]

à.à.à.à.à.3) nwadR>m gmIir ì¶dñWmnZmMr V§Ìo d gmYUo g{dñVa ñnï> H$am. [14]

à.à.à.à.à.4) CËnmXZ {Z¶moOZ åhUOo H$m¶? Ë¶mMo ‘hËd {dfX H$am. [14]

à.à.à.à.à.5) "gnyU© JwUdÎmm ì¶dñWmnZ' g§H$ënZm ì¶m»¶m {bhm. g§nyU© JwUdÎmm ì¶dñWmnZmMo CÔoe ñnï> H$am.[14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) dñVy JQ> CËnmXZ (Batch Production)

~) JwUmË‘H$ Cnm¶

H$) dñVy AmamIS¶mMo ’$m¶Xo

S>) KZH$Mam ì¶dñWmnZ





Total No. of Questions : 6]

[Total No. of Pages : 4

[5956]-114
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114 : BUSINESS ADMINISTRATION
Financial Management

(2019 Pattern) (Semester - I) (Paper - II) (Group - F)
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Instructions to the candidates:

1) Q.1 and Q.6 are compulsory.
2) Attempt any 3 questions from Q.2 to Q.5.
3) In all attempt 5 questions.
4) Use of calculator is allowed.

PA-2873

Q1) Multiple Choice Questions (MCQ’s) (Solve any 6 out of 8 questions) : [6]

i) Financial Management means __________.
(Preparation of P&L A/c, Raising financial resources and effective
utilization, Expenditure of funds)

ii) Indian Financial System is controlled by _________ bank.
(Reserve Bank of India, State Bank of India, Industrial Development Bank
of India).

iii) ___________ assits in identifying the major strengths and weaknesses
of a business enterprise.
(Financial statement, Financial comparison, Financial Analysis)

iv) Fund flow analysis shows __________.
(Sources and application, Profit or Loss, Income and Expenditure)

v) _________ decisions are concerned with investment of funds in fixed
and current assets.
(Revenue expenditure, Capital expenditure, Consumption expenditure)

vi) __________ is not the investment devision method.
(Pay back period method, Discounted cash flow method, Average profit
method)

SEAT No. :

P.T.O.
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vii) Working capital involved in __________assets.
(Current Asset, Intangible Asset, Fixed Asset)

viii) _________ factor does not effect on ‘working capital requirements’.
(Nature of Business, Business Fluctuations, Goodwill)

Q2) Define the term financial management? State the recent trends in Indian Money
Market. [14]

Q3) What is financial statement? Explain in detail the concepts of financial statement.
[14]

Q4) What is meant by Investment Decision? Explain the classification and methods
of Investment decision. [14]

Q5) Define the term working capital? Explain the nature and factors affecting working
capital? [14]

Q6) Short notes (Solve any 3 out of 5) [12]
a) Objectives of financial management.
b) Financial analysis.
c) Capital Budgeting.
d) Lease Financing.
e) Financial system in India.





3

Total No. of Questions : 6]

[5956]-114
M.Com.

114 : BUSINESS ADMINISTRATION
Financial Management

(2019 Pattern) (Semester - I) (Paper - II) (Group - F)
(_amR>r ê$nm§Va)

doi : 3 Vmg]                      [EHy$U JwU : 60
gyMZm : 1) àíZ H«$. 1 d àíZ H«$. 6 gmoS>{dUo A{Zdm¶© Amho.

2) àíZ H«$. 2 Vo àíZ H«$. 5 n¡H$s H$moUË¶mhr VrZ àíZ gmoS>dm.
3) EHy$Z 5 àíZ gmoS>dm.
4) H¡$b³¶wboQ>a dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-2873

àíZ 1) Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdSy>Z CÎmao {bhm (H$moUVohr ghm)Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdSy>Z CÎmao {bhm (H$moUVohr ghm)Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdSy>Z CÎmao {bhm (H$moUVohr ghm)Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdSy>Z CÎmao {bhm (H$moUVohr ghm)Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdSy>Z CÎmao {bhm (H$moUVohr ghm) [6]
i) {d{Îm¶ ì¶dñWmnZ åhUOo ...............

(Z’$m VmoQ>m nÌH$ V¶ma H$aUo, {d{Îm¶ g§gmYZmMr {Z{‘©Vr Am{U H$m¶©j‘ Cn¶moJ, {ZYrMm
IM©)

ii) ^maVr¶ {d{Îm¶ àUmbr hr ...................... ~±Ho$‘m’©$V {Z¶§{ÌV Ho$br OmVo.
([aPd© ~±H$ Am°’$ B§{S>¶m, ñQ>oQ> ~±H$ Am°’$ B§{S>¶m, ^maVr¶ Am¡Úmo{JH$ {dH$mg ~±H$)

iii) ì¶dgm¶mMo gm‘Ï¶© Am{U Xþ~©bVm AmoiIÊ¶mgmR>r ................ ‘VX H$aVo
({d{Îm¶ {ddaU nÌo, {d{Îm¶ VwbZm, {d{Îm¶ {díbofU)

iv) {ZYr àdmh {díbofU ............ XmI{dUo.
(òmoV Am{U dmna, Z’$m qH$dm VmoQ>m, CËnÞ Am{U IM©)

v) .................. ho {ZU©¶ Mb Am{U AMb ‘mb‘ÎmoVrb {ZYr Jw§VdUyH$ser g§~§YrV
AgVmV.
(‘hgyb IM©, ^m§S>dbr IM©, Cn^moJ IM©)

vi) .............. Jw§VdUyH$ {ZU©¶ nÕVr Zmhr.
(‘wÔb naVr H$mb nÕV, H$go[aV amoI àdmh nÕVr, gamgar Z’$m nÕV)

P.T.O.
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vii) IoiË¶m ̂ m§S>dbmV ................ ‘mb‘Îmm g‘{dð> hmoVo.

(Mmbw ‘mb‘Îmm, AÑî¶ ‘mb‘Îmm, pñWa‘mb‘Îmm)

viii) ................ hm KQ>H$ IoiË¶m ^m§S>dbmÀ¶m JaOoda n[aUm‘ H$aV Zmhr.

(ì¶dgm¶mMo ñdê$n, ì¶dgm¶mVrb MT>CVma, Zmdbm¡{H$H$)

àíZ 2) "{d{Îm¶ ì¶dñWmnZ' ¶m g§H$ënZoMr ì¶m»¶m Úm. ^maVr¶ ZmUo~mOmamVrb AmYw{ZH$ àdmh gm§Jm.
[14]

àíZ 3) "{d{Îm¶ {ddaUnÌo' åhUOo H$m¶? {d{Îm¶ {ddaUnÌmVrb g§H$ënZm g{dñVa ñnï> H$am. [14]

àíZ 4) Jw§VdUyH$ {ZU©¶ åhUOo H$m¶? Jw§VdUyH$ {ZU©¶mMo dJuH$aU Am{U nÕVr ñnï> H$am. [14]

àíZ 5) "IoiVo ^m§S>db' ¶m g§H$ënZoMr ì¶m»¶m Úm. IoiË¶m ^m§S>dbmMo ñdê$n Am{U n[aUm‘ H$aUmao
KQ>H$ ñnï> H$am. [14]

àíZ 6) WmoS>³¶mV {Q>nm {bhm (H$moUË¶mhr VrZ) : [12]
A) {d{Îm¶ ì¶dñWmnZmMr C{Ôï>o.

~) {d{Îm¶ {díbofU.

H$) ^m§S>dbr A§XmOnÌH$.

S>) ^mS>onÅ>m {dÎmH§$nÝ¶m.

B) ^maVr¶ {d{Îm¶ àUmbr.





Q1) Fill in the blanks (Any 6) : [6]

i) ______ has the right to penalty the cooperative banks for non-
compliance of rules and regulations

A) Reserve Bank of India

B) State Cooperative Bank

C) Cooperative department

ii) The Banking Regulation Act. 1949 came into force from _______ to
cooperative banks.

A) 1964

B) 1949

C) 1960

iii) Holder in due course is always a _______.

A) Holder

B) Drawer

C) Drawee

iv) _______ parties involved in the process of endorsement.

A) 2

B) 3

C) 4
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v) The tenure of the director body of the Reserve Bank of India is
________.
A) 5 Years
B) 3 Years
C) 2 Years

vi) The Reserve Bank of India established on ______.
A) 1st April 1935
B) 1st April 1949
C) 1st April 1934

vii) The _______ of The Securitization Act. 2002 is related to
cancellation of registration certificate.
A) Section 4
B) Section 3
C) Section 5

viii) The _____ of The Securitization Act. 2002 is related to central registrar.
A) Section 21
B) Section 22
C) Section 23

Q2) State various provisions regarding incorporation, capital management and
business under section 3 to 10 of The Reserve Bank of India Act. 1934.[14]

Q3) Define Bank under section 5 B. Explain various provisions in respect to
business of banking companies under section 6 of Banking Regulation
Act.1949. [14]

Q4) Write various provisions in respect to enforcement of security interest under
section 13 to 19 of Securitization Act.2002. [14]

Q5) Define promissory note and bill of exchange. Explain difference between
promissory note and bill of exchange. [14]

Q6) Write short notes (Any Two) : [12]
a) Central Registry
b) Monetary policy committee
c) Dishonor of Negotiable Instruments
d) Power of RBI (Under section 21 and 22)


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àíZ àíZ àíZ àíZ àíZ 1) [aH$må`m OmJm ^am. (H$moUË`mhr ghm) [6]

i) {Z`_ Am{U gyMZm§Mo nmbZ Z H$aUmè`m ghH$mar ~±H$m§Zm X§S> H$aÊ`mMm A{YH$ma .........
bm Amho.

A) ^maVr` [aPd© ~±H$

~) amÁ` ghH$mar ~±H$

H$) ghH$ma {d^mJ

ii) ~±H$ ì`dgm` {Z`_Z H$m`Xm 1949, ghH$mar ~±H$m§Zm ....... nmgyZ bmJy Pmbm

A) 1964

~) 1949

H$) 1960

iii) `mWm{dYrYmaH$ hm Zoh_r .......... AgVmo.

A) YmaH$

~) AmXoeH$

H$) AmXo{eVr

iv) n¥ï>m§H$Z à{H«$ ò_Ü ò ........ njH$ma AgVmV.

A) 2

~) 3

H$) 4

3 P.T.O.
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v) ^maVr` [aPd© ~±Ho$À`m g§MmbH$ _§S>imMm H$m ©̀H$mi ......... AgVmo.
A) 5 dfm©Mm
~) 3 dfm©Mm
H$) 2 dfm©Mm

vi) ^maVr` [aPd© ~±Ho$Mr ñWmnZm ......... amoOr Pmbr.
A) 1 E{àb 1935

~) 1 E{àb 1949

H$) 1 E{àb 1934

vii) amoIrH$aU H$m`Xm 2002 Mo H$b_ .......... Zm|XUr à_mUnÌ aX²X H$aÊ`m g§X^m©V Amho.
A) 4

~) 3

H$) 5

viii) amoIrH$aU H$m`Xm 2002 Mo H$b_ .......... H|$Ðr` {Z~§YH$ g§X^m©V Amho.
A) 21

~) 22

H$) 23

àíZ àíZ àíZ àíZ àíZ 2) ^maVr` [aPd© ~±H$ H$m`Xm 1934 À`m H$b_ 3 Vo 10 Zwgma g§ñWmnZ, ^m§S>db ì`dñWmnZ
Am{U ì`dgm` g§X^m©Vrb {d{dY VaVwXr Z_yX H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) H$b_ 5 ~r Zwgma ~±Ho$Mr ì`m»`m X²̀ m. ~±H$ ì`dgm` {Z`_Z H$m`Xm 1949 _Yrb H$b_ 6
Zwgma ~±qH$J H§$nZrÀ`m ì`dgm`mg§~§Yr {d{dY VaVwXr {deX H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) amoIrH$aU H$m`Xm 2002 À`m H$b_ 13 Vo 19 Zwgma à{V ŷVr {hV g§~§YmMr A§_b~OmdUr
g§X^m©Vrb {d{dY VaVwXr {bhm. [14]

àíZ àíZ àíZ àíZ àíZ 5) dMZ nÌ Am{U {d{Z_` nÌmMr ì`m»`m X²̀ m. dMZ nÌ Am{U {d{Z_` nÌ `m_Yrb \$aH$ ñnï>
H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) Q>rnm {bhm. (H$moUË`mhr XmoZ) : [12]
A) H|$Ðr` Zm|XUr emIm
~) MbZ{df`H$ YmoaU g{_Vr
H$) MbZj_ XñVEodOmMm AZmXa
S>) [aPd© ~±Ho$Mo A{YH$ma (H$b_ 21 Am{U 22 Zwgma)


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Q1) Fill in the blanks by selecting suitable choice : (Any six) [6]
i) The Reserve Bank of India was Established on ___________

a) April 1, 1935 b) July 12, 1982
c) April 1, 1949 d) March 10, 1949

ii) The Royal commission on Indian currency and Finance is also known as
__________.
a) Hartog commission b) Hilton young commission
c) Buttler commission d) British commission

iii) When CRR is increased by RBI ___________.
a) It decreases money supply
b) It decreases demand for money
c) It increases inflation
d) It increases credit creation capacity of Banks

iv) The rate at which RBI lends money to commercial banks is called
_________.
a) Cash Reserve Ratio
b) Reverse Repo Rate
c) Repo Rate
d) Statutory Liquidity Ratio

SEAT No. :
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v) Mutual Fund Business is regulated in India by ________.
a) RBI
b) SEBI
c) IRDA
d) AMFI

vi) __________ is a India’s first credit Information company.
a) CRISIL
b) SMERA
c) ICRA
d) CIBIL

vii) ________ foreign Investment is allowed for NBFCs.
a) 50% b) 25%
c) 100% d) 30%

viii) _________ minimum net owned fund requirement for NBFCs.
a) 2 crore b) 5 crore
c) 10 crore d) 1 crore

Q2) Explain origin and Evolution of central Banking. [14]

Q3) Explain the function of RBI as a currency Authority. [14]

Q4) Explain the regulations of RBI over commercial Banks [14]

Q5) Explain the role and problems of NBFCs. [14]

Q6) Write short notes : (Any Two) [12]
a) Autonomy of Central Bank.
b) Cash Reserve Ratio.
c) Audit of Banking Company.
d) Types of NBFCs.


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àíZ 1) [aH$må¶m OmJm ^am. (H$m oUVohr ghm)[aH$må¶m OmJm ^am. (H$m oUVohr ghm)[aH$må¶m OmJm ^am. (H$m oUVohr ghm)[aH$må¶m OmJm ^am. (H$m oUVohr ghm)[aH$må¶m OmJm ^am. (H$m oUVohr ghm) [6]
i) ..................... ¶m {Xder ^maVr¶ [aPìh© ~±Ho$Mr ñWmnZm Pmbr.

A) 1 E{àb 1935 ~) 12 Owb¡ 1982
H$) 1 E{àb 1949 S>) 10 ‘mM© 1949

ii) ^maVr¶ MbZ Am{U {dÎm ¶m g§~§YrMo am°¶b H$‘reZ ............. ¶m ZmdmZo XoIrb
AmoiIbo OmVo.
A) haQ>m°J H$‘reZ ~) {hëQ>Z ¶§J H$‘reZ
H$) ~Q>ba H$‘reZ S>) {~«{Q>e H$‘reZ

iii) ^maVr¶ [aPìh© ~±H$ amoI amIrd à‘mU dmT>{dVo, Voìhm ...............
A) n¡emÀ¶m nwadR>¶mV KQ> hmoVo
~) n¡emÀ¶m ‘mJUrV KQ> hmoVo
H$) ‘hmJmB© ‘Ü¶o dmT> hmoVo
S>) ~±H$m§Mr nV{Z{‘©Vr j‘VoV dmT> hmoVo.

iv) ^maVr¶ [aPìh© ~±H$ Á¶m XamZo ì¶mnmar ~±H$m§Zm H$O© XoVo Ë¶m Xamg ............... åhUVmV.
A) amoI amIrd à‘mU ~) [aìhg© aonmo Xa
H$) aonmo Xa S>) d¡Ym{ZH$ amoIVm à‘mU

v) ^maVmV nañna {ZYr ì¶dgm¶ .................... Ûmao {Z¶§ÌrV Ho$bm OmVmo.
A) Ama. ~r. Am¶. ~) go~r
H$) Am¶. Ama. S>r. E. S>) E. E‘. E’$. Am¶.

P.T.O.
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vi) ............... hr ^maVmVrb n{hbr nV ‘m{hVr g§ñWm Amho.
A) {H«${gb ~) Eg. E‘. B©. Ama. E.
H$) Am¶. gr. Ama. E. S>) {g{~b

vii) ~±Ho$Îma {dÎmr¶ g§ñWm§‘Ü¶o ................. {dXoer Jw§VdUwH$sg nadmZJr Amho.
A) 50% ~) 25%
H$) 100% S>) 30%

viii) ~±Ho$Îma {dÎmr¶ g§ñWogmR>r ñdV:À¶m ‘mbH$sMm .............. {Zìdi {ZYr Amdí¶H$ Amho.
A) 2 H$moQ>r ~) 5 H$moQ>r
H$) 10 H$moQ>r S>) 1 H$moQ>r

àíZ 2) H§o$Ðr¶ ~±Ho$Mm CJ‘ d CËH«$m§{V ñnï> H$am. [14]

àíZ 3) MbZ {Z{‘©Vr àm{YH$aU åhUyZ ^maVr¶ [aPìh© ~±Ho$Mo H$m¶© ñnï> H$am. [14]

àíZ 4) ì¶mnmar ~±H$m§darb ^maVr¶ [aPìh© ~±Ho$Mo {Z¶‘Zo ñnï> H$am. [14]

àíZ 5) ~±Ho$Îma {dÎmr¶ g§ñWm§Mr ŷ{‘H$m Am{U g‘ñ¶m ñnï> H$am. [14]

àíZ 6) {Q>nm {bhm (H$moUVohr XmoZ) [12]
A) ‘Ü¶dVu ~±Ho$Mr ñdm¶ÎmVm.
~) amoI amIrd à‘mU.
H$) ~±H$s¨J H§$nZrMo A§Ho$jU.
S>) ~±Ho$Îma {dÎmr¶ g§ñWm§Mo àH$ma.





Q1) Fill in the blanks by selecting suitable choice (Any 6) : [6]

a) In marketing _______ is the focal point.

i) Profit ii) Sales

iii) Customer iv) Retailer

b) Product mix does not include __________.

i) Product range ii) After sales service

iii) Brand iv) Advertising

c) __________ is the first step of product development.

i) Business Analysis ii) Marketing testing

iii) Generation of new idea iv) Production

d) _________ is the factor related with micro Environment of marketing.

i) Economic conditions ii) Legal aspect

iii) Social condition iv) Suppliers

e) Discount, profit margine are the part of _________.

i) product mix ii) price mix

iii) place mix iv) promotion mix

Total No. of Questions : 6]
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f) Advertisement is __________ type of communication.

i) Personal ii) Impersonal

iii) Personal and Impersonal iv) Direct

g) ________ is the E-marketing tool.

i) Television ii) Radio

iii) E-mail iv) Retailer

h) __________ is demographic aspect of marketing Environment.

i) Economic policies ii) Tax policy

iii) Financial support iv) Economic level of population

Q2) Explain the factors affecting to the Marketing Environment. [14]

Q3) Define the term labeling. State functions and types of labeling. [14]

Q4) Explain the advantages and disadvantages of distribution channel. [14]

Q5) What do you mean by public relation? Explain the different tools of public
relation. [14]

Q6) Write short notes (Any Two) : [12]

a) International marketing Environment

b) Brand management

c) Personal selling

d) Social media marketing


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àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀  {ZdSy>Z Imbrb {dYmZo nyU© H$am. (H$moUVohr 6) … [6]

A) {dnUZm_Ü`o ................ hm H|$Ðq~Xÿ AgVmo.

i) Z\$m ii) {dH«$s

iii) J«mhH$ iv) {H$aH$moi {dH«o$Vm

~) CËnmXZ {_l _Ü`o ............... g_m{dð> hmoV Zmhr.

i) CËnmXZ loUr ii) {dH«$s níMmV godm

iii) _wÐm iv) Om{hamV

H$) Z{dZ CËnmXZ {dH$mgmVrb .............. hm n{hbm Q>ßnm Amho.

i) ì`mdgm` n¥ÏWH$aU ii) ~mOma MmMUr

iii) Z{dZ g§H$ënZm YmoaUo iv) dñVw CËnmXZ

S>) ............. hm KQ>H$ gyú_ {dnUZ n`m©daUmer {ZJS>rV Amho.

i) Am{W©H$ pñWVr ii) H$m`Xoera n¡by

iii) gm_m{OH$ pñWVr iv) nwadR>mXma

`) gwQ>, Z\$m à_mU ho ............ Mo KQ>H$ AmhoV.

i) CËnmXZ {_l ii) qH$_V {_l

iii) {R>H$mU {_l iv) Om{hamV {_l

3 P.T.O.
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a) Om{hamV ho ............ àH$maMo g§kmnU Amho.

i) d¡̀ {ŠVH$ ii) Ad¡̀ {ŠVH$

iii) d¡̀ {ŠVH$ d Ad¡̀ {ŠVH$ iv) àË`j

b) ................. ho B©-{dnUZmMo gmYU Amho.

i) Xÿa{MÌdmUr ii) ao{S>Amo

iii) B©-_ob iv) {H$aH$moi {dH«o$Vm

d) ................. hm KQ>H$ bmoH$ g§»`m {df`H$ {dnUZ n`m©daUmMm ^mJ Amho.

i) Am{W©H$ YmoaU ii) H$a YmoaU

iii) Am{W©H$ ghmæ` iv) bmoH$m§Mm Am{W©H$ ñVa

àíZ àíZ àíZ àíZ àíZ 2) {dnUZ n`m©daUmda n[aUm_ H$aUmao KQ>H$ ñnï> H$am? [14]

àíZ àíZ àíZ àíZ àíZ 3) ¼wU {MÇ>rMr ì`m»`m XoD$Z ¼wU{MÇ>rMr H$m }̀ d àH$ma ñnï> H$am? [14]

àíZ àíZ àíZ àíZ àíZ 4) {dVaU dmhrÝ`m§Mo \$m`Xo d VmoQ>o ñnï> H$am? [14]

àíZ àíZ àíZ àíZ àíZ 5) OZg§nH©$ åhUOo H$m`? OZg§nH$m©Mr {d{dY _mÜ`_o ñnï> H$am? [14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUË`mhr XmoZ) [12]

A) Am§Vaamï´>r` {dnUZ n`m©daU

~) _wÐm ì`dñWmnU

H$) ì`º$sJV {dH«$s

S>) g_mO _mÜ`_mVwZ {dnUZ





Q1) Fill in the blanks by selecting suitable choice (any 6) : [6]

i) Since last several decades, professionals have been trying to satisfy to
__________ by making him the king.

(Creditors, Supplier, Customer)

ii) The difference in consumer behavior is due to the ______ factor.

(Social, Cultural, Personal)

iii) In Maslow’s Need Hierarchy Theory ______ is the highest level of
need.

(Physiological Need, Security Need, Self-Actualization Fulfillment)

iv) Which shop to buy the product from is decided by ________.

(Store Specific Goals, General Goals, Product Specific Goals)

v) Personality is a dynamic association of the ________ Characteristics
of a particular person.

(Physical, Mental, Both of the above)

vi) Memory that lasts less than 30 seconds is generally called ______

(Short term memory, Long term memory Episodic memory)

vii) _______ does not belong to one person but to the whole society.

(Culture, Sub-culture, Cross Culture)

viii) Classes are _______ who an equal place in the economy.

(Ten persons, Fifty person, Many Persons)

Total No. of Questions : 6]

[Total No. of Pages : 4
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Q2) What is 'Consumer Behaviour'? Explain the need and advantages of Study
of Consumer Behaviour. [14]

Q3) Define the term ‘Consumer Motivation’. Explain the need, objectives and
scope of Consumer Motivation. [14]

Q4) Explain the term ‘Involvement’. Discuss dimensions of Involvement. [14]

Q5) Explain in detail the concepts - ‘Social Class’ and Family Life’. [14]

Q6) Write Short Notes (Any 2) : [12]

a) Howard Sheth Model

b) Defense Mechanism

c) Components of Learning

d) Cross Culture


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àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀  {ZdS>m H$éZ [aH$må`m OmJm ^am. (H$moUË`mhr ghm) [6]

i) Joë`m {H$Ë òH$ XeH$m§nmgyZ ì`mdgm{`H$ ho ........ bm amOm _mZyZ Ë`mbm g_mYmZ XoÊ`mgmR>r
à`ËZ H$arV AmhoV.

(gmdH$ma, nwadR>mXma, J«mhH$)

ii) J«mhH$ dV©Zm_Yrb \$aH$ hm ......... KQ>H$m_wio AgVmo.

(gm_m{OH$, gm§ñH¥${VH$, d¡̀ {º$H$)

iii) _°ñbmoÀ`m JaOmÀ`m loUrÀ`m {gÕm§Vm_Ü ò ......... hr A{V Cƒ nmVirdarb JaO Amho.

(emar[aH$ JaO, gwajoÀ`m JaO, OrdZ gm\$ë`mMr JaO)

iv) CËnmXZ H$moUË`m XþH$mZmVyZ {dH$V ¿`m`Mo, `mMr {ZpíVMr ........ Ûmao Ho$br OmVo.

(ñQ>moa {deofrH¥$V C{Ôï>o, gm_mÝ` C{Ôï>o, CËnmXZ {deofrH¥$V C{Ôï>o)

v) ì`{º$_Ëd ho EImÚm {d{eï> ì`ŠVrÀ`m ......... JwUd¡{eï>`m§Mo J{V_mZ g§KQ>Z AgVo.

(emar[aH$, _mZ{gH$, darb XmoÝhr)

vi) gd©gmYmaUV : 30 goH§$Xmnojm H$_r doi {Q>H$Umè`m ñ_¥Vrbm ........ Ago åhUVmV.

(AënH$mbrZ ñ_¥Vr, {XK©H$mbrZ ñ_¥Vr, KQ>Zm ñ_¥Vr)

3 P.T.O.
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vii) ........... hr Ho$di EH$m ì`ŠVrMr ZgVo, Va Vr g§nyU© g_mOmMr AgVo.

(g§ñH¥$Vr, Cng§ñH¥$Vr, {V ©̀H$ g§ñH¥$Vr)

viii) Am{W©H$ ì`dñWoV g_mZ ñWmZ AgUmè`m ......... åhUOo dJ© hmò .

(Xhm ì`ŠVr, nÞmg ì`ŠVr, AZoH$ ì`ŠVr)

àíZ àíZ àíZ àíZ àíZ 2) "J«mhH$ dV©Z' åhUOo H$m`? J«mhH$ dV©Z Aä`mgmMr JaO d \$m`Xo ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) "J«mhH$ àoaUm' ̀ m g§H$ënZoMr ì`m»`m Úm. J«mhH$ àoaUoMr JaO, C{ÔîQ>ço d ì`már ñnï> H$am.[14]

àíZ àíZ àíZ àíZ àíZ 4) "gh^mJ' hr g§H$ënZm ñnï> H$am. gh^mJmMo n¡by {deX H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) "gm_m{OH$ g_yh' d "H$m¡Qw>§{~H$ OrdZ' `m g§H$ënZm g{dñVa ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) Q>rnm {bhm. (H$moUË`mhr XmoZ) : [12]

A) hm°dS>© goR> àmén

~) g§ajU §̀ÌUm

H$) AÜ``ZmMo KQ>H$

S>) {V ©̀H$ g§ñH¥$Vr


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Q1) Explain the meaning & importance of financial statement analysis. State its
Limitations [15]

OR

From the following Income Statement of the Metro Ltd. Prepare a comparative
income statement and interpret the Results.

Income Statement for the year ending 31-3-2021 and 2022
Particulars 2021 (Rs.) 2022 (Rs.) Particulars 2021 (Rs.) 2022 (Rs.)

To Cost of By Sales 4,00,000 4,20,000
Goods Sold 2,70,000 2,92,000 Less: Return 8,000 10,000
To Gross Profit 1,22,000 1,18,000

3,92,000 4,10,000 3,92,000 4,10,000
To Administrative By Gross profit b/d 1,22,000 1,18,000

Expenses 60,000 63,000

To Selling Expenses 30,000 35,000

To net Profit 32,000 20,000

1,22,000 1,18,000 1,22,000 1,18,000

Q2) Define Comparative Financial Statement. State its Uses and Limitations. [15]
OR

P.T.O.
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From the following information provided you are required to prepare a cash
flow statement. [8]

Balance Sheet

Labilites 2018 Rs. 2019 Rs. Assets 2018 Rs. 2019 Rs.

Issued Share Freehold

Capital l,00,000 1,50,000 Property at cost 1,10,000 1,30,000

Share Premium 15,000 35,000 Plant & Machinery

Profit and Loss 28,000 70,000 at Cost 1,20,000 1,51,000

Debentures 70,000 30,000 Fixture &

Bank Overdraft 14,000 - Fittings at cost 24,000 29,000

Creditors 34,000 48,000 Stock 37,000 51,000

Proposed Debtors 43,000 44,000

Dividend 15,000 20,000 Bank Balance           - 16,000

Depreciation: 54,000 Premium on

Plant 45,000 Redemption of

Fixtures 13,000 15,000 Debentures              - 1,000

3,34,000 4,22,000 3,34,000 4,22,000

The Following additional information is relevant.
i) There had been no disposal of freehold property in the year.

ii) A machine tool which had cost of Rs. 8,000 and in respect of which Rs.
6,000 depreciations had been provided was sold of Rs. 3,000 and fixture
which had cost Rs. 5,000 in respect of which depreciation of Rs. 2,000
had been provided were sold for Rs. 1,000. The profits and losses on
these transactions had been dealt with through the profit and loss A/c.

iii) The actual premium on the redemption of debentures was Rs. 2,000 of
which Rs. 1,000 had been written off to the Profit and Loss A/c.

iv) No Interim dividend had been paid.
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Q3) Write a detail note on Fund Flow Statement. [15]

OR
The following is the Balance Sheet of XYZ Limited, Pune.

Balance Sheet (as at 31.3.2029)

Liabilities Amount Rs. Assets Amount Rs.
Share Capital: Fixed Assets:

Equity shares of At Cost 30,00,000

Rs. 10 each 5,00,000 Less Dep. 4,50,000 25,50,000

Reserve Fund 3,50,000 Stock 5,00,000

Profit and Loss

Account 5,50,000 Debtors 4,00,000

Long term loans 17,50,000 Cash 1,00,000

Creditors 2,50,000

Other Current

liabilities 1,50,000

35,50,000 35,50,000

Additional information:

a) Profit earned during the year was Rs. 4,00,000.

b) The company has declared 25% dividend.

c) Market Price of Share is Rs. 560.

d) Ignore provisions regarding taxation.

Calculate any Five of the following ratios:

a) Debt Equity ratio

b) Current ratio
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c) Acid test ratio

d) Earnings per share

e) Price earning ratio

f) Dividend payout ratio

g) Dividend yield ratio

Q4) Write short notes (Any Three) [15]

a) Parties interested in Analysis of Financial Statements.

b) Sources of Funds.

c) Importance of Ratio Analysis.

d) Trend Analysis.

e) Working Capital.

 
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Q1) Fill in the blanks by selecting suitable choice (any 6 out of 8): [6]

a) Alfred Weber was published _________ book.

(Wealth of Nation, Theory of the Location of Industries, Employment,
Intrest & Money, Communist Manifesto)

b) ________ a distinctive branch of economics which study with Economic
Problems of Firm & Industries and their relationship with the Society.

(Business Economics, Labour Economics, Micro Economics, Industrial
Economics)

c) ______ is a Geographical factor affecting the location of the Industry.

(Government policies, Capital, Banking, Raw Material)

d) Sergeant Florence is emphasizes on the ________ Factor of liberalization.

(Localization, Mechanization, Labour, Production)

e) Labour Productivity is the total product divided by _______.

(Used Labour, total Finance, Labour hours, Production)

f) ______ is the ratio between output and Input.

(Industrial efficiency, Industrial output, Industrial Productivity, Industrial
Finance).

g) In 1972, the Industrial Sector was relaxed to ________.

(Trade Policy, Finance Policy, International Policy, Licensing Policy)

h) Industrial Productivity (P) = ________.

(Sales/Price, Quantity/Quality, Output/Input, Input/Labour)

P.T.O.
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Q2) Define the Industrial Economics. Explain the scope and significance of Industrial
Economics. [14]

Q3) Define the Industrial Location. Explain the Sargeant Florence’s theory of
Industrial Location. [14]

Q4) Define the Industrial Productivity. Explain the factors affecting to Industrial
Productivity. [14]

Q5) Define the Industrial Policy. Explain the Trends in Industrial Growth since
1991. [14]

Q6) Write short notes (any 2 out of 4): [12]

a) Industrial Monopoly.

b) Causes of Industrial Imbalance.

c) Types of Industrial Productivity.

d) Need for foreign capital.


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à.à.à.à.à.1) ¶mo½¶ n¶m©¶mMr {ZdS> H$ê$Z Jmiboë¶m OmJm ^am. (8 H$moUË¶mhr 6) [6]

i) Amë’«o$S> do~a ¶m§Zr ................... ho nwñVH$ àH$m{eV Ho$bo.

(amï´>m§Mr g§nÎmr, Am¡Úmo{JH$ ñWmZ{ZpíMVrMo {gÕm§V, n¡gm, ì¶mO d amoO½mma, H$å¶w{ZñQ> Om{haZm‘m)

ii) ................ hr AW©emñÌmMr EH$ {d{eï> emIm Amho. Or CÚmoJ d CÚmoJY§ÚmÀ¶m Am{W©H$
g‘ñ¶m Am{U Ë¶mMm g‘mOmer Agbobm g§~§Y ¶m§Mm Aä¶mg H$aVo.

(ì¶mdgm{¶H$ AW©emñÌ, l‘mMo AW©emñÌ, gyú‘ AW©emñÌ, Am¡Úmo{JH$ AW©emñÌ)

iii) .................. hm Am¡Úmo{JH$ ñWmZmda n[aUm‘ H$aUmam ^m¡Jmo{bH$ KQ>H$ Amho.

(gaH$mar YmoaU, ^m§S>db, ~±H$, H$ƒm ‘mb)

iv) gmOªQ> âbmoaoÝgZo ............... ¶m CXmarH$aUmÀ¶m KQ>H$mda ^a {Xbm Amho.

(ñWm{ZH$sH$aU, ¶m§{ÌH$sH$aU, l{‘H$, CËnmXZ)

v) l{‘H$mMr CËnmXH$Vm hr EHy$U CËnmXZ ^mJrbo ............ AgVo.

(dmnabobr l{‘H$, EHy$U {dÎm, l‘Vmg, CËnmXZ)

vi) AmXmZm§Mo àXmZm§er AgUmao JwUmoÎma à‘mU åhUOo ................... hmo¶.
(Am¡Úmoo{JH$ H$m¶©j‘Vm, Am¡Úmo{JH$ CËnmXZ, Am¡Úmo{JH$ CËnmXH$Vm, Am¡Úmo{JH$ {dÎm)

vii) 1972 ‘Ü¶o Am¡Úmo{JH$ joÌ ........................ Zo {e{Wb Ho$bo.

(ì¶mnma YmoaU, {dÎmr¶ YmoaU, Am§Vaamï´>r¶ YmoaU, nadmZm YmoaU)

viii) Am¡Úmo{JH$ CËnmXH$Vm = ......................

({dH«$s/qH$‘V, ZJg§»¶m/JwUdÎmm, àXmZ/AmXmZ, AmXmZo/l{‘H$)
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à.à.à.à.à.2) Am¡Úmo{JH$ AW©emñÌmMr ì¶m»¶m gm§Jm. Am¡Úmo{JH$ AW©emñÌmMr ì¶már d ‘hÎd ñnï> H$am. [14]

à.à.à.à.à.3) Am¡¡Úmo{JH$ ñWmZ{ZpíMVrMr ì¶m»¶m gm§Jm. gmOªQ> âbmoaoÝg ¶m§Mm Am¡Úmo{JH$ ñWmZ{ZpíMVrMm {gÕm§V
ñnï> H$am. [14]

à.à.à.à.à.4) Am¡Úmo{JH$ CËnmXH$VoMr ì¶m»¶m g§mJm. Am¡Úmo{JH$ CËnmXH$Voda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am.[14]

à.à.à.à.à.5) Am¡Úmo{JH$ YmoaUmMr ì¶m»¶m gm§Jm. 1991 nmgyZMr Am¡Úmo{JH$ d¥{ÕMr àd¥Îmr ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (4 n¡H$s H$moUË¶mhr 2) [12]

A) Am¡Úmo{JH$ ‘ºo$Xmar

~) Am¡Úmo{JH$ Ag‘VmobmmMr H$maUo

H$) Am¡Úmo{JH$ CËnmXH$VoMo àH$ma

S>) {dXoer ^m§S>dbmMr Amdí¶H$Vm


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SEAT No. :

Q1) Choose the correct alternatives from each of the following. (Any 6) [6]

a) Prosperity, Regression & depression in a business is an example of_____

i) Irregular trend ii) Secular trend

iii) Cyclical trend iv) Seasonal trend

b) A set of observations recorded at an equal interval of time is called______

i) Array Data ii) Data

iii) Geometric series iv) Time series data

c) If x is a continuous random variable then var (5–3x) is______

i) –3 var (x) ii) g var (x)

iii) 2 var (x) iv) Var (5)–3 var (x)

d) Relation between mean & variance in poisson distribution is______

i) Mean = variance ii) Mean < variance

iii) Mean > variance iv) Mean = 2 variance

e) Example of discrete random variable is______

i) No. of accidents ii) Height of students

iii) Weight of students iv) Temp. of cities

f) A function of sample values is known as_______

i) Statistic ii) Level of significance

iii) Sample iv) Parameter

P.T.O.
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g) The rejection probability of Null hypothesis when it is true is called as____

i) Level of confidence ii) Level of significance

iii) Level of acceptance iv) Level of rejection

h) Test of hypothesis H
0
 : μ = 50 against H

1
 : μ > 50 leads to_______

i) Left tailed test ii) Right tailed test

iii) Two-tailed test iv) Difficult to tell

Q2) Attempt each of the following.

a) Compute 4 yearly centered moving averages for the following data. [5]

Year 1989 1990 1991 1992 1993 1994 1995

Profit In Rs.000 90 100 102 93 104 109 102

b) Fit a linear trend line to the following time series by the least square
method. [5]

Year 1998 1999 2000 2001 2002

Production 12 20 28 32 50

c) Define each of the following. [2×2=4]

i) Time series

ii) Components of time series

Q3) Attempt each of the following. [5]

a) consider the function

P(x) = k (x2 + 4),  x = 0, 1, 2, 3

= 0             ,  otherwise

i) Find the value of K

ii) Find the value of mode of x

iii) Find E(x) & var (x)
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b) Define Probability density function of a continuous random variable,
Also verify whether the following function can be considered as a valid
probability density function. [5]

3 (2- )
f( )  ,  0    2

4
     = 0              ,    otherwise  

x x
x x= ≤ ≤

c) Define each of the following. [4]

i) Random variable

ii) Discrete random variable

iii) Expectation of discrete random variable

Q4) Attempt  each of the following.

a) Let x be a binomial random variable with mean 1 and variance 3/4. Find
n, p, q and p(x =3) [5]

b) Let x is normally distributed random variable with parameter (5,4) find
[5]

P(x ≤ 5), P(x ≥ 5) and P(3 ≤ x ≤ 7)

c) Define exponential distribution. Also state it’s mean, variance and standard
deviation. [4]

Q5) Attempt each of the following.

a) Some individuals were classifies according to gender and colourblindness
as follows.

Gender

Eye-sight Male Female

Normal 442 512

colour-blind 30 04

Test whether there is any association between the two attributes. Use 5% l. 0. s
[5]
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b) A random sample of  10 boys had the following I.Q’ 70,120, 110, 101,
88, 83, 95, 88, 107, 100. Does these data support the assumption that
population mean I.Q is 100? [use α = 5%] [5]

c) Define the term [4]

i) Null hypothesis

ii) Alternative hypothesis

iii) Level of significance

iv) Critical region

Q6) Attempt any two of the following [2×6=12]

a) Define Joint, Marginal and conditional distributions.

b) Explain chi-square test of “goodness of fit’.

c) Define normal distribution, state it’s mean, variance, mode and median.
Define standard normal variable.

d) Explain exponential smoothing of estimating the trend values in a time
series.


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SEAT No. :

Q1) A) a) Fill in the blanks (any 5) [5×1=5]

i) _______ is a tax charged on the annual income earned by an
individual.

1) Income Tax

2) Wealth Tax

3) State Tax

ii) ______ acts as a steady source of revenue for the government.

1) Payments

2) UPS

3) TDS

iii) _________ aims to ensure that taxpayers don’t pay double
taxes on the income earned from the home country and the
host country.

1) Double Taxation Avoidance Agreement

2) Single Taxation Avoidance Agreement

3) Direct Taxation Avoidance Agreement

iv) Types of assessment includes:

1) Self-assessment

2) Regular assessment

3) Both 1 and 2

P.T.O.
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v) ______ means avoiding of tax liability illegally

1) Tax avoidance

2) Tax evasion

3) Tax planning

b) Match the following. [5×1=5]

i) UTGST a) Co-operative societies
engaged in a cottage industry

ii) 100 % deduction b) Union Territory Goods
and Services Tax.

iii) Tax avoidance c) Clubbed in the income of
one of his parents.

iv) 271CA d) Using the loopholes of law
to reduce tax.

v) Income of minor child e) Failure to collect tax at
source.

c) State whether True or False. [5]

i) Book profit means profit of the firm business before allowing
any remuneration and interest in excess of 12% on capital to
partner.

ii) Short term capital loss can be set off against any other income
head.

iii) The Charitable trust should not be created for benefit of any
particular religious, community or cast.

iv) Getting Permanent Account number is compulsory for Income
Tax assesse only.

v) CGST is charged on the intra state supply of products and
services.

B) Write short notes (any 3/5) [15]

a) Types of assessment.

b) Difference between Tax exemption and Tax Evasion.

c) Tax Authorities

d) Tax planning and management.

e) Procedure for registration under GST.
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Q2) X, Y  and Z are partners in a firm which fulfills the conditions of section 184. Z
is non working partner. They share profits and losses in the ratio of 3:2:1. The
following is the profit and loss account for the year ended 31-03-2023. [15]

Debit Rs. Credit Rs.

Establishment expenses 51,000 Gross Profit 1,30,000

Rent to partner 10,000 Interest from Bank 4,000

Remuneration to partners Interest on

X 35,000 Government Securities 6,000

Y 25,000 Net Loss 60,000

Interest on capital at 14%

X 7,000

Y 5,600

Z 1,400

Bonus to partners

X 15,000

Y 5,000

Z 10,000

Profession tax 2,000

Income tax 12,000

Income tax provisions 8,000

Loss on sale of Machinery 8,000

 Depreciation 5,000

2,00,000 2,00,000

Other information

a) Establishment expenses include commission paid to Z Rs. 10,000 and
for furniture purchased Rs. 2,000.

b) Machinery which is sold during the previous year for Rs. 10,000 is of the
W.D.V. Rs. 18,000 as on 01.04.2022.

c) Depreciation allowable as per rules is Rs. 2,000

Compute the Total Income of the firm for the Assessment Year 2023-24
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Q3) The Total Income of Arunoday credit cooperative society engage in process-
ing of agricultural produce of it’s members without aid of power and its mar-
keting permission the following particulars determine total income and tax
liability for the assessment year 2023-24. [15]
Income from house property Rs. 10,00,000

Income from collective disposal of labour Rs. 3,50,000

Income from processing agriculture produce Rs. 4,50,000

Income from processing agriculture produce with aid of power Rs. 9,50,000

Income from marketing of agriculture produce Rs. 7,50,000

Income from agency business Rs. 6,50,000

Income from other sources.

Dividend from  other cooperative society Rs. 7,00,000

Income from letting godowns Rs. 8,00,000

Income from government securities Rs. 1,00,000

Q4) a) Mr. Digvijay furnish the following particulars of his income and losses
for the previous year 2023-24 [10]

Income from salary Rs. 2,10,000

Rent received Rs. 2,000 from house

Dividend from co-operative society Rs. 3,000

Interest on Bank Term deposit Rs. 70,000

Interest on Government securities Rs. 50,000

Winning from lottery Rs. 20,000

NSC (VIII Issue) purchased during the year Rs. 1,50,000

Deposit under PPF scheme Rs. 35,000

He earned a long term capital Gain of Rs. 80,000 on sale of shares during
the year.

Compute gross total income of Mr. Digvijay for the assessment year
2023-24

(He has not exercise new taxation regime U/S 115 BAC)

b) Tejashree purchased goods for Rs. 10,000 and these manufactured goods
sold within a state for Rs. 45,000. GST Rate was 18% then calculate
GST payable by Tejashree. [5]





Q1) Fill in the Blanks (Attempt any six) : [6]

i) Cybercrime that uses computers to commit other crimes may involve
using computers or networks to spread _________.

a) Malware

b) Illegal Information

c) Illegal Images

d) Malware, illegal information or illegal images

ii) To protect a computer from virus, you should install _________ in
your computer.

a) backup wizard b) disk cleanup

c) antivirus d) disk defragmenter

iii) E-Contracts can be entered into through modes of communication such
as __________

a) telephone, text messages and fax

b) letter, facebook post and twitter

c) face-to-face, telephone and zoom

d) e-mail, internet and fax

Total No. of Questions : 6]

[Total No. of Pages : 6

[5956]-206
M.Com. (Part - I)

205 : E-SECURITY & CYBER LAWS
Commercial Laws and Practies

(2019 Pattern) (CBCS) (Semester - II) (Group - B)

Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Questions No. 1 and question No. 6 are compulsory.
2) Solve any three questions from Q.No. 2 to Q.No. 5.
3) Figures to the right indicate full marks.

PA-2883

SEAT No. :

P.T.O.



[5956]-206 2

iv) _________ provides guidelines to banking institutions about legal
proceedings relating to banking records.

a) Bankers Book Evidence Act 1891

b) Reserve Bank of India 1934

c) Indian Evidence Act 1872

d) BSNL IT Policy

v) A digital signature is a mathematical technique used to validate the
authenticity and integrity of a ___________

a) messages

b) software

c) digital document

d) message, software or digital document

vi) ___________ is NOT a dimension of e-commerce security provided
by encryption.

a) Availability

b) Message Integrity

c) Non-repudiation

d) Confidentiality

vii) The Indian Evidence Act 1872 extends to the whole of India _______.

a) including state of Jammu & Kashmir

b) except state of Jammu & Kashmir

c) including Shrinagar

d) including Ladakh

viii) A _______ is an online or networked identity adopted or claimed in
cyberspace by an individual, organization or electronic device.

a) Digital Signature

b) Digital Identity

c) Digital Password

d) None of the above
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Q2) State the meaning of Computer Crimes. Explain in detail the types of
computer crimes. [14]

Q3) What is the mean of E-Security? Explain in detail the security tools and
methods of E-Security. [14]

Q4) What is Cyber Laws? Explain in detail the scope of cyber laws. [14]

Q5) Define Cyber Wrongs. Explain in detail the Penalties for Cyber Wrongs
and Adjudication. [14]

Q6) Write short notes (Any Two) : [12]

a) E-Commerce Securities Issues.

b) Hackers and Crackers.

c) Digital Signature

d) Indian Evidence Act, 1872


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àíZ àíZ àíZ àíZ àíZ 1) [aŠV OmJm ^am (H$moUË`mhr ghm) … [6]

i) BVa JwÝho H$aÊ`mgmR>r g§JUH$ dmnaUmè`m gm`~a H«$mB__Ü ò ................ ngadÊ`mgmR>r
g§JUH$ qH$dm ZoQ>dH©$ dmnaUo g_m{dï> Agy eH$Vo.

A) _mbdò a

~) ~oH$m`Xoera _m{hVr

H$) ~oH$m`Xoera à{V_m

S>) _mbdò a, ~oH$m`Xoera _m{hVr qH$dm ~oH$m`Xoera à{V_m

ii) g§JUH$mg ìhm`agnmgyZ dmMdÊ`mgmR>r, AmnU Amnë`m g§JUH$mda .............. ñWm{nV
Ho$bo nm{hOo.

A) ~±H$An {dPmS>© ~) {S>ñH$ pŠbZAn

H$) A±Q>rìhm`ag S>) {S>ñH$ S>r\«°$½_oÝQ>a

iii) B©-H$m°ÝQ´>°ŠQ²>g_Ü ò g§dmXmÀ`m nÕVtÛmao àdoe Ho$bm OmD$ eH$Vmo Ogo H$s ................

A) XÿaÜdZr, _OHy$a g§Xoe Am{U \°$Šg

~) nÌ, \o$g~wH$ nmoñQ> Am{U {Q‰>Q>a

H$) g_moamg_moa, Q>o{b\$moZ Am{U Py_

S>) B©-_ob, B§Q>aZoQ> Am{U \°$Šg

4 P.T.O.
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iv) .............. ~±qH$J g§ñWm§Zm ~±qH$J Zm|Xter g§~§{YV H$m`Xoera H$m ©̀dmhr~m~V _mJ©Xe©H$
VÎdo àXmZ H$aVmo.

A) ~±H$g© ~wH$ EpìhS>Ýg A°ŠQ> 1891

~) ^maVr` [aPìh© ~±H$ 1934

H$) ^maVr` nwamdm H$m`Xm 1872

S>) ~rEgEZEb Am`Q>r YmoaU

v) {S>{OQ>b ñdmjar ho J{UVmMo V§Ì Amho Oo ................. gË`Vm Am{U AI§S>Vm à_m{UV
H$aÊ`mgmR>r dmnabo OmVo.

A) g§Xoem§Mr

~) gm°âQ>doAaMr

H$) {S>{OQ>b XñVEodOMr

S>) g§Xoe, gm°âQ>doAa qH$dm {S>{OQ>b XñVEodOMr

vi) .................. ho EpÝH«$ßeZÛmao àXmZ Ho$boë`m B©-H$m°_g© gwajoMo n[a_mU Zmhr.

A) CnbãYVm

~) g§Xoe AI§S>Vm

H$) AñdrH$ma

S>) JmonZr`Vm

vii) ^maVr` nwamdm H$m`Xm 1872 g§nyU© ^maVm_Ü ò ................ bmJy Amho.

A) Oå_y Am{U H$í_ra amÁ`mg{hV

~) Oå_y Am{U H$mí_ra dJiVm

H$) lrZJa gh

S>) bS>mI gh

viii) ............... hr EH$ Am°ZbmBZ qH$dm ZoQ>dH©$ AmoiI Amho Or EImÚm ì`ŠVr, g§ñWm
qH$dm BboŠQ´>m°{ZH$ CnH$aUmZo gm`~añnog_Ü ò ñdrH$mabr qH$dm Xmdm Ho$bm Amho.

A) {S>{OQ>b ñdmjar

~) {S>{OQ>b AmoiI

H$) {S>{OQ>b nmgdS>©

S>) darbn¡H$s H$moUVohr Zmhr
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àíZ àíZ àíZ àíZ àíZ 2) g§JUH$ JwÝøm§Mm AW© gm§Jm. g§JUH$s` JwÝøm§Mo àH$ma Vnerbdma gm§Jm. [14]

àíZ àíZ àíZ àíZ àíZ 3) B©-gwajm Mm AW© H$m` Amho? B©-gwajm Mr gwajm gmYZo Am{U nÕVr Vnerbdma gm§Jm. [14]

àíZ àíZ àíZ àíZ àíZ 4) gm`~a H$m`Xo åhUOo H$m`? gm`~a H$m`Úm§Mr ì`már Vnerbdma gm§Jm. [14]

àíZ àíZ àíZ àíZ àíZ 5) "gm`~a MwH$m' `mMr ì`m»`m H$am. gm`~a MwH$m Am{U {ZU©̀ mgmR>r X§S> Vnerbdma ñnï> H$am.
[14]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUË`mhr XmoZ) [12]

A) B©-H$m°_g© gwajoÀ`m g_ñ`m

~) h°H$g© Am{U H«°$H$g©

H$) {S>{OQ>b ñdmjar

S>) ^maVr` nwamdm H$m`Xm, 1872





Total No. of Questions : 6]

[5956]-207
M.Com. (Part - I)

206 : COMMERCIAL LAWS & PRACTICE
Group-B : Laws Relating to Copyright and Design
(2019 Pattern) (Semester - II) (Special Paper - IV)

Time : 3 Hours] [Max. Marks : 60

Instructions to the candidates:
1) Q. No. 1 & Q. No. 6 is compulsory.
2) Solve any 3 questions from question No. 2 to No. 5.
3) Figures to the right indicate full marks.

PA-2884 [Total No. of Pages : 4

SEAT No. :

Q1) Fill in the blanks by selecting a suitable choice. (Any 6) [6]
a) Copyright is _______.

i) Positive right
ii) Exclusive right
iii) Both (i) and (ii)

b) In India, for copyright infringement, the copyright Act, 1957 provides
the following remedies.
i) Administrative remedies
ii) Civil remedies
iii) All of the above

c) _______ is a first handmade tool from micro and small and medium
enterprise registered for a geographical indicator (GI) tag.
i) Wood Craft
ii) Scissors
iii) Arts

d) Geographical Indication (GI) tag is given as per the ______.
i) Geographical indications (Registration and Protection) Act, 1999
ii) Patent Act, 1970
iii) New design Act, 2000

e) Which section of design Act, 2000 deals with the publication of particulars
of registered design?

i) Section 7 of design Act, 2000

ii) Section 4 of design Act, 2000

iii) Section 3 of design Act, 2000

P.T.O.
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f) Section 25 of design Act, 2000 deals with _______?

i) Notice of trust not to be entered in registers

ii) Inspection of registered designs

iii) Piracy of the registered design

g) Swachh-Nirmal Tat Abhiyan is run by ministry of ________.

i) Shipping

ii) Environment

iii) Jal shakti

h) When was copyright Act enacted in India?

i) 1955

ii) 1959

iii) 1957

Q2) What is the infringement of copyright? Explain the acts which constitute
infringement and acts not constituting infringement. [14]

Q3) What is the Industrial Design Act, 2000? Explain the Infringement (Piracy) of
copyright in Design (Sec. 22) and defenses which may be setup by the
defendant. [14]

Q4) Write notes on infringement and its remedies (Section 20-24) and penalties for
infringement (Section 37 to 54). [14]

Q5) Define the protection of plant varieties and Farmers Right Act, 2001. Explain
the period of validity of Registration and surrender and revocation of certificate.

[14]

Q6) Write short notes (any 2): [2×6=12]

a) Infringement of Rights and its remedies.

b) Geographical Indications of Goods (Registration & Protection) Rules, 2002.

c) Scope of Industrial Design Act, 2000

d) Terms of Copyright (Section 22 to 29).


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à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aº$ OmJm ^am. (H$moUË¶mhr ghm) [6]

A) àVm{YH$ma åhUOo ............... ?

i) gH$mamË‘H$ A{YH$ma

ii) AZÝ¶ h¸$

iii) (i) Am{U (ii) XmoÝhr

~) ^maVmV H$m°nramBQ> C„§KZmgmR>r H$m°nramBQ> H$m¶Xm, 1957 Imbrb Cnm¶ àXmZ H$aVmo ............

i) àemgH$s¶ Cnm¶

ii) ZmJar Cnm¶

iii) darb gd©

H$) .............. ho ^m¡Jmo{bH$ {ZX}eH$ (GI) Q>°JgmR>r Zm|XUrH¥$V gyú‘ Am{U bKw Am{U ‘Ü¶‘
E§Q>aàmBPMo n{hbo hñV{Z{‘©V gmYZ Amho.

i) bmHy$S> hñVH$bm (dwS>H$mâQ>)

ii) H$mÌr

iii) H$bm

S>) ^m¡Jmo{bH$ g§Ho$V (GI) Q>°J ................ Zwgma {Xbobm Amho.

i) ^m¡Jmo{bH$ g§Ho$V (Zm§oXUr Am{U g§ajU) A{Y{Z¶‘, 1999

ii) noQ>§Q> H$m¶Xm, 1970

iii) ZdrZ {S>PmB©Z H$m¶Xm, 2000
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B) {S>PmB©Z A{Y{Z¶‘, 2000 Mo H$moUVo H$b‘ Zm|XUrH¥$V {S>PmBZÀ¶m Vnerbm§À¶m àH$meZmer
g§~§YrV Amho?
i) {S>PmB©Z H$m¶Xm, 2000 Mo H$b‘ 7
ii) {S>PmB©Z H$m¶Xm, 2000 Mo H$b‘ 4
iii) {S>PmB©Z H$m¶Xm, 2000 Mo H$b‘ 3

’$) {S>PmB©Z A{Y{Z¶‘ 2000 Mo H$b‘ 25 .................. er g§~§{YV Amho.
i) Q´>ñQ>Mr ZmoQ>rg a{OñQ>a‘Ü¶o Q>mHy$ Z¶o
ii) Zm|XUrH¥$V {S>PmBZMr VnmgUr
iii) Zm|XUrH¥$V {S>PmB©ÝgMr nm¶agr

¶) ñdÀN>-{Z‘©b VV² A{^¶mZ .................. ‘§Ìmb¶mÛmao Mmbdbo OmVo.
i) {eqnJ
ii) dmVmdaU
iii) Obeº$s

a) ^maVmV H$m°nramBQ> H$m¶Xm H$Yr bmJy Pmbm?
i) 1955
ii) 1959
iii) 1957

à.à.à.à.à.2) H$m°nramBQ>gMo C„§KZ åhUOo H$m¶? Á¶m H¥$Ë¶m§Mo C„§KZ hmoVo Am{U Á¶m H¥$Ë¶m§Mo C„§KZ hmoV Zmhr Vo ñnï>
H$am. [14]

à.à.à.à.à.3) Am¡Úmo{JH$ {S>PmBZ H$m¶Xm, 2000 H$m¶ Amho? {S>PmBZ (go³eZ 22) ‘Ü¶o H$m°nramBQ>gMo C„§KZ
(MmMo{Jar) Am{U à{VdmXrÛmao goQ> Ho$bobo g§ajU ñnï> H$am. [14]

à.à.à.à.à.4) C„§KZ Am{U Ë¶mdarb Cnm¶ (sec 20 - 24) Am{U C„§KZmgmR>r X§S> (sec 37 to 54) ¶mda Q>rn {bhm.
[14]

à.à.à.à.à.5) dZñnVr dmUm§Mo g§ajU Am{U eoVH$ar h¸$ H$m¶Xm, 2001 n[a^m{fV H$am. Zm|XUr Am{U ga|S>a Am{U
à‘mUnÌ aX²X H$aÊ¶mÀ¶m d¡YVoMm H$mbmdYr ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]
A) A{YH$mam§Mo C„§KZ Am{U Ë¶mMo Cnm¶
~) dñVy§Mo ^m¡Jmo{bH$ g§Ho$V (Zm|XUr Am{U g§ajU) A{Y{Z¶‘, 2002
H$) Am¡Úmo{JH$ {S>PmBZ H$m¶Xm, 2000 Mr ì¶már
S>) H$m°nramBQ>gÀ¶m AQ>r (sec 22 to 29)





Q1) Prepare a reconciliation statement from the following data : [15]

Rs.

Net profit as per financial books 63780

Net Profit as per Cost book 66760

Factory overhead under-recovered in costing 5700

Administrative overheads recovered in excess 4250

Depreciation charged in financial books 3660

Depreciation Recovered in costing 3950

Interest received but not included in costing 450

Income Tax provided in financial books 600

Bank Interest credited in Financial books 230

Stores adjustments (credited in financial books) 420

Depreciation of Stock Charged in Financial Books 860

Dividend appropriated in financial books 1200

Loss Due to pilferage provided only in Financial Books 260

OR

What is reconciliation of accounts? Explain the need and reasons for
reconciliation of cost and financial accounts.
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Q2) A company produces three products, the standard cost of which is shown :
[15]

A B C

Direct Material 50 40 30

Direct Labor (@Rs. 10/ hrs) 30 40 50

Production overheads 30 40 50

110 120 130

Quantity product / Sold (Units) 10000 20000 30000

Absorbed on the basis of Direct Labor Hours.

The Company wishes to introduce ABC, and has identified major cost pools
for production and their association cost drivers.

Information on this activities- cost pools and their drivers is given below:-

Activity Cost pool Cost Drivers Cost Associates

Activity cost pool

Receiving &inspecting Purchase Requisition Rs. 1400000

Production & scheduling No. of Batches Rs. 1200000

Further relevant information on the 3 products are given below:

A B C

No. of purchase requisition 1200 1800 2000

Number for setups 240 260 300

Form the information given, calculate the activity based production cost of
products A, B and C. comment on the differences between the original
standard cost and the activity based cost you calculate.

OR

What is Value chain analysis? Explain the Importance of value chain analysis
in assessing competitive advantages.
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Q3) Division Z is a profit center which produces four products A, B, C and D.
Each product is sold in the externals market also. Data for the period is :

[15]

A B C D

Market price per unit (Rs.) 150 146 140 130

Variable cost of production per unit (Rs.) 130 100 90 85

Labour hours required per unit 3 4 2 3

Product D can be transferred to Division Y, but maximum quantity that
may be required fortransfer is 2,500 units of D.

The maximum sales in the

external market are :

A : 2,800 units

B : 2,500 units

C : 2.300 units

D : 1,600 units

Division Y can purchase the same product at a price of 125 per unit from
outside instead ofreceiving transfer of product D from Division Z.

Required :

What should be the transfer price for each unit for 2,500 units of D, if the
total labour hours available in Division Z are 20,000 hours?

OR

Define transfer pricing. Explain the Methods, advantages and disadvantages
of Transfer pricing.

Q4) Short Notes (any three) : [15]

a) Benefits of value chain analysis process.

b) Cost drivers.

c) Benefits of product life cycle Costing.

d) Objectives of Target Costing

e) Inter-locking and integral Accounts.


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Q1) A) Fill in the blanks : [5]

a) Marginal costing is the most useful technique for the ____.

i) Shareholders ii) Management

iii) Bankers iv) Creditors

b) _____ is a technique that examines changes in the total cost and
revenue by analyzing proposed alternatives.

i) Differential costing ii) Marginal costing

iii) Standard costing iv) Process costing

c) Cash discount is ____ to buyers who promptly pay their bills.

i) price inflation ii) price increase

iii) price reduction iv) price rise

d) _____ is the efficiency of production of goods or services expressed
by some Measure.

i) Productivity ii) Policy

iii) Plan iv) Process

e) ____ is the process used by companies to reduce their costs and
increase their profits.

i) Cost inflation ii) Cost rise

iii) Cost restructure iv) Cost reduction

P.T.O.



2[5956]-209

B) True or False: [5]

a) Cost cutting refers measures implemented by a company to reduce
its expenses and improve profitability.

b) Pricing strategies tend to change as a product goes through its
product life cycle.

c) Cost reduction is a planned negative approach to reduce expenditure.

d) Just-in-time (JIT) production also known as lean production.

e) Enterprise Resource Planning is a manual inventory control and
production system.

C) Match the following : [5]

A B

a) Cost Reduction technique i) Full costing

b) Productivity improvement ii) Company’s revenues equals its

technique costs

c) Margin of Safety iii) Prioritize

d) BEP iv) Difference between BEP sales
and actual sales

e) Absorption Costing v) Value Analysis

D) Short Notes (Any three out of five): [15]

a) Differential Cost Analysis

b) Pricing Policy

c) Designing and Installing cost system in Computerised Accounting

d) Cost Control

e) Causes of Lower Productivity
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Q2) B Ltd. is planning for improving the profitability, for which the following two
suggestions are under- [15]

a) 10% decrease in value of sales with a sizeable increase in sales volume
from 4000 units to 4500 units.

b) 10% increase in value of sales with a sizeable decrease in sales volume
from 4000 units to 3500 units.

The following details are also made available from the current cost
accounting records

Particulars Rs.

Price per unit 100

Total Rigid cost 50000

Marginal cost per unit 50

State which of the two proposals should be recommended to the
management so as to get sizeable amounts of profits.

Q3) Qjus Ltd. has an annual capacity of 2500 units but produces 1000 units which
are sold in the market at Rs. 25 per unit. The per unit cost data is as below[15]

Particulars Rs.

Productive Material 11

Fixed Office overheads 1.10

Direct wages 4

Rigid Distribution overheads 0.90

Chargeable expense 2

Variable Work overheads 1.20

Wages payable 1

Marginal Selling overheads 0.80

A promising business firm is willing to buy the entire production of 1000 units
but at a price of Rs. 19 per unit. Do you advice the company management to
accept this offer?

Q4) What is Productivity? Explain causes of lower productivity and how to improve
productivity. [15]





Q1) Fill in the blanks by selecting suitable choice (any 6 out of 8) : [6]

a) _________ is the birth place of Co-operative agricultural credit
movement in the world.

i) India ii) Britain

iii) Japan iv) Germany

b) According to _________ "Co-operative society can help the
transformation from capitalism to socialism and finally to communism".

i) J.B. Warbase ii) Herrick

iii) V.L. Mehta iv) Lenin

c) The short comings in the Act of 1904 was removed by another
legislation known as ____________.

i) Co-operative Societies Act of 1912

ii) The Model Co-operative Act

iii) Constitution Amendment Bill

iv) Company Act 1956

Total No. of Questions : 6]
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d) The Chinese cooperative movement started from the _________.

i) 1922 ii) 1920

iii) 1921 iv) 1902

e) The Urban Co-operative Banks, Salary earner's societies thrift and credit
societies are examples of ________.

i) Agricultural Credit Societies

ii) Non-Agricultural Credit Societies

iii) Co-operative Wholesale Societies

iv) Both i) & ii)

f) UNICOOP is a Co-operative Society related to __________.

i) Japan ii) China

iii) India iv) USA

g) NAFED stands for

i) National Agricultural Co-operative Marketing Federation

ii) National Agricultural and Fisheries Marketing Federation

iii) National Association of Fisheries Marketing Federation

iv) National Apex Federation

h) Credit unions were established in the U.S by

i) 1908 ii) 1910

iii) 1900 iv) 1980

Q2) Explain the impact of industrial revolution on co-operative movement in
Great Britain. [14]

Q3) Explain the role of co-operatives in socialistic system. [14]
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Q4) Explain the challenges of Co-operatives posed by globalisation. [14]

Q5) Evaluate the progress of Israeli Co-operatives movement. [14]

Q6) Write short notes (any 2 out of 4) : [2 × 6 = 12]
a) Problems in global Co-operatives movement.

b) Nature of Co-operation.

c) Suggestions for reforming Co-operatives.

d) Co-operation in mixed economy.


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àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aº$ OmJm ^am (8 n¡H$s H$moUVohr 6) … [6]

A) ............... ho OJmVrb ghH$mar H¥$fr g§dY©Z nV MidirMo OÝ_ñWmZ Amho.

i) ^maV ii) {~«Q>Z

iii) OnmZ iv) O_©Zr

~) ............... `m§À`m _Vo ""ghH$mar g§»`m ^m§S>dbemhr nmgyZ g_mO dmñVd eodQ>r
gmå`dmXmÀ`m ê$nm§V[aV hmoÊ`mg _XV H$ê$ eH$Vo.''

i) Oo. ~r dma~ogo ii) ho[aH$

iii) pìh. Eb _ohVm iv) bo{ZZ

H$) 1904 À`m H$m`X`mVrb CUrdm ............... `m H$m`X`mVyZ H$mTy>Z Q>mH$Ê`mV Amë`m.

i) ghH$mar g§ñWm H$m`Xm 1912 ii) _m°S>ob ghH$mar H$m`Xm

iii) KQ>Zm Xþê$ñVr {dYo`H$ iv) H§$nZr H$m`Xm 1956

S>) MrZr ghH$mar Midi ................ _Ü ò gyê$ Pmbr.

i) 1922 ii) 1920

iii) 1921 iv) 1902

4 P.T.O.
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`) ehar ghH$mar ~±H$m doVZ {_idUmÀ`m g§ñWm, ~MV JQ> d nVg§ñWm hr ...............
h`m§Mr CXmhaUo AmhoV.

i) H¥$fr nVg§ñWm ii) ghH$mar KmD$H$ g§ñWm

iii) {~Ja H¥$fr nVg§ñWm iv) i) Am{U ii) XmoÝhr

a) UNICOOP hr ghH$mar g§ñWm ................. g§~{YV Amho.

i) OnmZ ii) MrZ

iii) ^maV iv) `yEgE

b) Zm\o$S> åhUOo (NAFED) ..................

i) amï´>r` H¥$fr ghH$mar {dnUZ _hm g§K

ii) amï´>r` H¥$fr d _Ëñ` {dnUZ _hmg§K

iii) Z°eZb Agmo{gEeZ Am°\$ {\$earO _mH}$qQ>J \o$S>aoeZ

iv) Z°eZb EnoŠg \o$S>aoeZ

d) A_oarHo$ _Ü ò .................. `m dfu nVg§ñWm ñWmnZ H$aÊ`mV Amë`m.

i) 1908 ii) 1910

iii) 1900 iv) 1980

àíZ àíZ àíZ àíZ àíZ 2) J«oQ> {~«Q>Z_Yrb ghH$mar MidirMm CX` Am{U d¥ÕrMr WmoS>Š`mV ê$naofm X`m. [14]

àíZ àíZ àíZ àíZ àíZ 3) g_mO dmXr ì`dñWoVrb ghH$mar g§ñWmMr ŵ{_H$m ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) OmJ{VH$sH$aUmZo ghH$mar Midir nwT>o {Z_m©U Ho$bobr AmìhmZo ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) Bóm`br ghH$mar MidirÀ`m àJVrMo _yë`m§H$Z H$am. [14]
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àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUË`mhr 2) [12]

A) OmJ{VH$ ghH$mar MidirVrb g_ñ`m

~) ghH$mamMo ñdê$n

H$) ghH$mar g§ñWm_Ü ò gwYmaUm H$aÊ`mÀ`m gyMZm

S>) g§{_Ìm AW©ì`dñWoVrb ghH$ma


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Q1) Fill in the blanks by selecting suitable choice. (Any 6 out of eight) [6]

a) In the  ______ five year plan the central committee for co-operative
Training was established.

i) First ii) Second

iii) Third iv) Fourth

b) ______ are now known as co-operative Agriculture and rural development
banks.

i) Land development Banks ii) Primary Banks

iii) Urban Co-operative Banks iv) NABARD

c) In a co-operative society, admission of members and allocation of shares
is done by

i) Secretary ii) Managing Committee

iii) President iv) General body

d) The first diary co-operative society was registered in 1913 at ______.

i) Anand in Gujrat ii) Allahabad in UP

iii) Aurangabad in Maharashtra iv) Ahmedabad in Gujrat

e) The board of directors of urban co-operative bank consist of _______
members.

i) 3 to 5 ii) 5 to 7

iii) 7 to 9 iv) 9 to 11

P.T.O.
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f) NCCT stands for

i) National Center for Co-operative trainning

ii) National Council for co-operative trainning

iii) National Council for Co-operation and trainning

iv) National Center and Council for Co-operative trainning

g) Which society offers production bonus?

i) Urban Society ii) Dairy Society

iii) Agricultural Society iv) Non-Agricultural Society

h) Registrar of co-operatives societies is appointed by __________.

i) Government ii) Leader

iii) Supervisior iv) None of the above

Q2) Explain the role of primary credit societies in rural development. [14]

Q3) Explain the social responsibilities of co-operative Business. [14]

Q4) Describe the role of state co-operative Bank in the development of co-operative
sector. [14]

Q5) Describe the role of co-operative department in promotion of co-operative
business. [14]

Q6) Write short notes (any 2): [2×6=12]

a) Distric Co-operative Bank.

b) Importance of Co-operative management.

c) Problems of Sugar Industries.

d) National Council for co-operative trainning.


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à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aº$ OmJm ^am. (H$moUË¶mhr ghm) [6]

A) ............. n§Mdm{f©H$ ¶moOZoV ghH$mar à{ejU H|$ÐmMr ñWmnZm Ho$br Jobr.

i) n{hbm iii) Xþgam

ii) {Vgam iv) Mm¡Wm

~) ........... AmVm ghH$mar H¥$fr Am{U J«m{‘U ~±H$ åhUyZ AmoiIë¶m OmVmV.

i) O{‘Z {dH$mg ~±H$m iii) àmW{‘H$ ~±H$m

ii) ehar ghH$mar ~±H$m iv) Zm~mS>©

H$) ghH$mar g§ñWoV g^mgXmMo àdoe Am{U g‘^mJm§Mo dmQ>n ¶m§À¶mÛmao Ho$bo OmVo.

i) g{Md iii) ì¶dñWmnH$s¶ g{‘Vr

ii) AÜ¶j iv) OZab ~m°S>r

S>) n{hbr S>oAar ghH$mar g§ñWm 1913 ‘Ü¶o Zm§oXUrH¥$V ................. {R>H$mUr Pmbr.

i) JwOamV ‘Yrb AmZ§X iii) CÎmaàXoe‘Yrb Abmhm~mX

ii) ‘hmamï´>mVrb Am¡a§Jm~mX iv) JwOamV‘Yrb Ah‘Xm~mX

B) ZmJar ghH$mar ~±Ho$À¶m g§MmbH$ ‘§S>im‘Ü¶o ................. ‘oå~a AgVmV.

i) 3 Vo 5 ii) 5 Vo 7
iii) 7 Vo 9 iv) 9 Vo 11

’$) EZ gr gr Q>r åhUOo ..............

i) ghH$mar à{ejU amï´>r¶ H|$Ð iii) ghH$mar à{ejU amï´>r¶ n[afX

ii) ghH$ma Am{U à{ejU amï´>r¶ n[afX iv) amḯ>r¶ à{ejU H|$Ð ghH$mar à{ejU n[afX
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¶) H$moUVr gmogm¶Q>r CËnmXZ ~moZg XoVo.

i) ZmJar gmogm¶Q>r iii) S>oAar gmogm¶Q>r

ii) H¥$fr g§ñWm iv) {~Ja H¥$fr g§ñWm

a) ghH$mar g§ñWmMo {Z~§YH$m ................. Ûmam {Z¶wº$ Ho$bo OmVmV.

i) gaH$ma iii) ZoVm

ii) n¶©dojH$ iv) darbn¡H$s H$mhrhr Zmhr

à.à.à.à.à.2) J«m{‘U {dH$mgmV àmW{‘H$ ghH$mar nVg§ñWmMr ŷ{‘H$m ñnîQ> H$am. [14]

à.à.à.à.à.3) ghH$mar g§ñWmMr gm‘m{OH$ O~m~Xmar {deX H$am. [14]

à.à.à.à.à.4) ghH$mar joÌmÀ¶m {dH$mgmV amÁ¶ ghH$mar ~±Ho$Mr ŷ{‘H$m ñnï> H$am. [14]

à.à.à.à.à.5) ghH$mar ì¶dgm¶mMo àJVrer {ZJS>rV ghH$mar ImË¶mMr ŷ{‘H$m ñnï> H$am. [14]

à.à.à.à.à.6) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [2×6=12]

A) {Oëhm ghH$mar ~±H$

~) ghH$mar ì¶dñWmnZmMo ‘hËd

H$) gmIa CÚmoJmVrb g‘ñ¶m

S>) amï´>r¶ ghH$mar à{ejU n[afX





Q1) Fill in the blanks by selecting suitable choice (Any 6) : [6]

a) _________ member can participate in formulating economic & indus-
trial policy.

i) FICCI ii) IDBI

iii) ICICI iv) LIC

b) The main function of chamber of commerce to promote interest in
____________ business possibilities.

i) National ii) Local

iii) State iv) International

c) WTO was established in the year ___________.

i) 1995 ii) 1997

iii) 1991 iv) 1986

d) Dairy products include ___________.

i) Cheese ii) Water

iii) Pestisides iv) Fertilizers

Total No. of Questions : 6]
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e) Facilities for sale and purchase of agricultural products are available in
__________ market.

i) Regulated ii) Unregulated

iii) Individual iv) Stock exchange

f) ___________ is a natural method of disposing the agricultural waste.

i) Recycling ii) Landfills

iii) Composting iv) Collecting

g) Public enterprises are institution operating an economic on behalf of
____________.

i) Government ii) Non-government

iii) NGO iv) Individual

h) __________ utility is an entity that provides goods or services to the
general public.

i) Public ii) Industrial

iii) Commercial iv) Supplier

Q2) Explain in detail objectives and functions of Maratha Chamber of
Commerce. [14]

Q3) What is Public Enterprises? State the functions of public enterprises and
public utility in India. [14]

Q4) Explain the term 'Agricultural By-product'. Explain nature and disposal of
Agricultural By-product. [14]

Q5) Explain the impact of WTO (World Trade Organisation) on development
of agri-business practices in India. [14]
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Q6) Write Short Notes (Any 2) : [12]
a) Trade Associations.

b) Control of Public Enterprises.

c) Problems of Agriculture Business.

d) Dairy Business in India.


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àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aH$må`m OmJm ^am. (H$moUVohr 6) … [6]

A) ............... gXñ` ho Am{W©H$ Am{U Am¡Xçmo{JH$ YmoaU V`ma H$aVm§Zr gh^mJr hmoD$
eH$VmV.

i) E\$. Am`. gr. gr. Am`. ii) Am`. S>r. ~r. Am`.

iii) Am`. gr. Am`. gr. Am`. iv) Eb. Am`. gr.

~) M|~a Am°\$ H$m°_g© Mo _w»` H$m ©̀ åhUOo ............... ì`dgm{`H$ g§̂ mì`Vo~X²Xb ñdmañ`
dmT>{dUo hmò .

i) amï´>r` ii) ñWm{ZH$

iii) amÁ` iv) Am§Vaamï>́r`

H$) S>ãb ỳ. Q>r. Amo. Mr ñWmnUm .............. `m dfu Pmbr.

i) 1995 ii) 1997

iii) 1991 iv) 1986

S>) Xþ½YOÝ` nXmWm©_Ü ò ................. Mm gm_mdoe hmoVmo.

i) MrO ii) nm{U

iii) H$sQ>H$ZmeHo$ iv) IVo

4 P.T.O.
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`) ............... Ho$boë`m ~mOmanoR>oV H¥$fr CËnmXZm§À`m {dH«$s Am{U IaoXrÀ`m gw{dYm CnbãY
AmhoV.

i) {Z §̀{ÌV ii) A{Z §̀{ÌV

iii) ì`º$sJV iv) ñQ>m°H$-EŠgM|O

a) ................ hr eoVrVrb H$Mè`mMr {dëhodmQ> bmdÊ`mMr Z¡g{J©H$ nÕV Amho.

i) nwZdm©na ii) O_rZ ^aUo

iii) H§$nmopñQ>¨J iv) Jmoim H$aUo

b) gmd©O{ZH$ CX²̀ moJ hr ................ À`m dVrZo Am{W©H$ godm MmbdUmar g§ñWm hmò .

i) gaH$mar ii) {~Ja-gaH$mar

iii) EZ. Or. Amo. iv) ì`º$sJV

d) ................. Cn`mo{JVm hr EH$ g§ñWm Amho H$s Or gm_mÝ` bm|H$mZm dñVw qH$dm godm
nwa{dVo.

i) gmd©O{ZH$ ii) Am¡X²`mo{JH$

iii) ì`dgm{`H$ iv) nwadR>mXma

àíZ àíZ àíZ àíZ àíZ 2) _amR>m dm{UÁ` _§S>imMr C{Ôï> ò Am{U H$m }̀ g{dñVa ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) gmd©O{ZH$ CX²̀ moJ åhUOo H$m`? gmd©O{ZH$ CX²̀ moJ d gmd©O{ZH$ godm `m§Mo H$m }̀ gm§Jm. [14]

àíZ àíZ àíZ àíZ àíZ 4) H¥$fr Cn-CËnmXZo hr g§H$ënZm ñnï> H$am. H¥$fr Cn-CËnmXZmMo ñdê$n Am{U {dëhodmQ> g§~§YrV
_mhrVr ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) OmJ{VH$ ì`mnma g§KQ>ZoMm, ^maVmVrb H¥$fr ì`dgm` nÕVrÀ`m {dH$mgmda hmoUmam n[aUm_ ñnï>
H$am. [14]
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àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr 2) [12]

A) ì`mnmar _§S>io

~) gmd©O{ZH$ CX²̀ moJm§Mo {Z §̀ÌU

H$) H¥$fr ì`dgm`mÀ`m g_ñ`m

S>) ^maVmVrb Xþ½Yì`dgm`


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Q1) Fill in the blanks by selecting suitable choice. (any 6) [6]

a) MNCS stands for _____________.

i) Multinational Companies

ii) Multinational Co-operative Societies

iii) Multinational Co-ordination Services

iv) Multipurpose Companies

b) _________ sector organisation owned, controlled and managed by
Government.

i) Public ii) Private

iii) Personal iv) Confidential

c) ______ is related with money market.

i) Commercial ii) Treasury Bills

iii) Cheque iv) Shares

d) _______ controls the capital market in India.

i) Government of India ii) SEBI

iii) Reserve Bank of India iv) NABARD

e) Environmental Analysis includes __________.

i) Social and cultural ii) Social and ideological

iii) Cultural and ideological iv) Natural and ideological

P.T.O.
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f) _______ helps organisations identify internal and external elements that
can either negatively or positively impact their business.

i) Capital Analysis ii) Market Analysis

iii) Environmental Analysis iv) Chemical Analysis

g) ______ is about not having enough money to meet basic needs including
food, clothing and shelter.

i) Parallel economy ii) Unemployment

iii) Social injustice iv) Poverty

h) ______ is defined as a state of disequilibrium in terms of economic and
social criteria.

i) Balance Growth ii) Equilibrium

iii) Economy iv) Regional Imbalance

Q2) What is Foreign Investment? Explain the role of ‘Foreign Investment’ and
‘MNC’ in the development of nation. [14]

Q3) What is Financial Environment of Business? Explain in detail the role of Foreign
Banks and Non-Banking Institutions. [14]

Q4) What is Environmental Analysis? Explain the impact of social and cultural
Environment on world trade. [14]

Q5) What is Regional imbalance? Explain the factors responsible for regional
imbalance and suggest remedies to reduce regional imbalance. [14]

Q6) Write short notes (any 2): [12]

a) Small and Cottage Industry

b) Role of Public and Private Bank

c) Techniques of Environmental Analysis

d) Problems of unemployment


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à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUË¶mhr ghm) [6]

A) MNCS åhUOo ...................

i) ~hþamï´>r¶ H§$nÝ¶m ii) ~hþamï´>r¶ ghH$mar g§ñWm

iii) ~hþamï´>r¶ g‘Ýd¶H$ godm iv) ~hþCX²Xoer¶ H§$nÝ¶m

~) ............ joÌmVrb g§ñWmMr ‘mbH$s, {Z¶§ÌU d ì¶dñWmnZ ho gaH$ma Ûmao Ho$bo OmVo.

i) gmd©O{ZH$ ii) ImOJr

iii) ì¶º$sJV iv) Jmon{Z¶

H$) ........... ho ZmUo~mOmamer g§~§YrV Amho.

i) H$‘{e©Ab ZmUo ii) Q>óPar ~rbo

iii) YZmXoe iv) ^mJ

S>) ............ ^maVmVrb ^m§S>dbr ~mOmamda {Z¶§ÌU R>odVo.

i) ^maV gaH$ma ii) go~r

iii) [aPìh© ~±H$ Am°’$ B§{S>¶m iv) Zm~mS>©

B) n¶m©daUr¶ {díbofUm‘Ü¶o ............¶m§Mm g‘mdoe hmoVmo.

i) gm‘m{OH$ Am{U gm§ñH¥${VH$ ii) gm‘m{OH$ Am{U d¡Mm[aH$

iii) gm§ñH¥${VH$ Am{U d¡Mm[aH$ iv) Z¡g{J©H$ Am{U d¡Mm[aH$
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’$) ............... ho g§ñWmZm A§VJ©V Am{U ~mø KQ>H$ AmoiIÊ¶mg ‘XV H$aVo Oo Ë¶m§À¶m ì¶dgm¶mda
ZH$mamË‘H$ qH$dm gH$mamË‘H$ n[aUm‘ H$ê$ eH$VmV.

i) ^m§S>db {díbofU ii) ~mOma {díbofU

iii) n¶m©daUr¶ {díbofU iv) amgm¶{ZH$ {díbofU

¶) ........... åhUOo AÞ, dñÌ Am{U {Zdmam ¶m§gma»¶m ‘wb ŷV JaOm nyU© H$aÊ¶mgmR>r nwaogm n¡gm
ZgUo hmo¶.

i) g‘m§Va AW©ì¶dñWm ii) ~oamoOJmar

iii) gm‘m{OH$ AÝ¶m¶ iv) Xm[aÐ¶

a) .............. åhUOo Am{W©H$ Am{U gm‘m{OH$ {ZH$em§À¶m Ñ{ï>Zo Ag§VwbZmMr pñWVr hmo¶.

i) g‘Vmob dmT> ii) g‘Vmob

iii) AW©ì¶dñWm iv) àmXo{eH$ Ag‘Vmob

à.à.à.à.à.2) naH$s¶ Jw§VdUyH$ åhUOo H$m¶? XoemÀ¶m {dH$mgm‘Ü¶o naH$s¶ J§wVdUyH$ d ~hþamï´>r¶ H§$nÝ¶m§Mr ŷ{‘H$m
ñnï> H$am. [14]

à.à.à.à.à.3) ì¶dgm¶mMo {dÎmr¶ n¶m©daU åhUOo H$m¶? ¶m‘Ü¶o naH$s¶ ~±H$m d ~±Ho$Îma g§ñWmMr ŷ{‘H$m g{dñVa
ñnï> H$am. [14]

à.à.à.à.à.4) n¶m©daUr¶ {díbofU åhUOo H$m¶? gm‘m{OH$ Am{U gm§ñH¥${VH$ n¶m©daUmMm OmJ{VH$ ì¶mnmamda
hmoUmam n[aUm‘ ñnîQ> H$am. [14]

à.à.à.à.à.5) àmXo{eH$ Ag‘Vmob åhUOo H$m¶? àmXo{eH$ Ag‘VmobmgmR>r O~m~Xma KQ>H$ ñnï> H$am d àmXo{eH$
Ag‘Vmob H$‘r H$aÊ¶mMo Cnm¶ gyMdm. [14]

à.à.à.à.à.6) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) bKw Am{U Hw$Q>ra CÚmooJ

~) gmd©O{ZH$ Am{U ImOJr ~±H$m§Mr ŷ{‘H$m

H$) n¶m©daUr¶ {díbofUmMr V§Ìo

S>) ~oamoOJmarÀ¶m g‘ñ¶m





Q1) Fill in the blanks by selecting suitable choice (Any six) : [6]
i) In the field of ______ involves recommending concepts of right &

wrong behaviour.
(Ethics, Social Science, Business, Management)

ii) A written statement of policies and principles that guides the behaviour
of all the employees is called ________.
(Code of Ethics, Word of Ethics, Ethical Dilemma, None of the above)

iii) ______ is the element of Corporate Social Responsibility.
(Creditors, Suppliers, Professional Institutions, All of the above)

iv) Value based management is essential to combine subjective and
________.
(Normative Phenomena, Objective Phenomena, Power, Tangible items)

v) ______ is concerned with how marketers go about the management
process of identifying, anticipating and satisfying customer
requirements.
(Marketing Ethics, Social Services, Cause Marketing, Green Marketing)

vi) To understand problem and to formulate hypothesis is called as
_______.
(Preparation, Planning, Follow-up, Compensating employees)

vii) _______ elements are responsible for pollution of water.
(Oil Refineries, Paper Factories, Sugar Mills, All of the above)

viii) The Instrument used to measure the noise is called _______.
(Audiometer, Odometer, Clap-on-meter, Accelerometer)
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Q2) Define the term 'Ethics' and 'Business Ethics'. Explain in detail the principles
of Business Ethics. [14]

Q3) What is Corporate Governance? Explain in detail the objectives and features
of Corporate Governance. [14]

Q4) Describe the Unethical and Ethical Practices in Finance. [14]

Q5) Explain the elements responsible for environmental depletion. [14]

Q6) Write Short Notes (Any Two) : [12]

a) Ethical Decision Making

b) Value Based Management

c) Ethics at work place

d) Principles of Sustainable Development


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àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aH$må`m OmJm ^am. (H$moUË`mhr ghm) [6]

i) ............ joÌm_Ü ò Mm§Jë`m Am{U My{H$À`m dV©ZmÀ`m g§H$ënZm ̀ m§À`m {e\$magr Ho$boë`m
AgVmV.

({ZVr_wë ò, gm_m{OH$ emóo, ì`dgm`, ì`dñWmnZ)

ii) gd© H$_©Mmè`m§À`m dV©Zmbm _mJ©Xe©Z H$aUmao {bIrV YmoaUm§Mo {dYmZ Am{U VËdo åhUOo
...........

(AmMaU g§{hVm, {Z{V_wë`m§Mm eãX, Z¡{VH$ noMàg§J, darbn¡H$s H$mhrhr Zmhr)

iii) ........... hm KQ>H$ H$m°nm} aoQ> gm_m{OH$ O~m~Xmarer g§~§YrV Amho.

(G$UH$mo, nwadR>mXma, ì`mdgm`rH$ g§ñWm, darbn¡H$s gd©)

iv) _wë`mYm[aV ì`dñWmnZ ho g§̀ wº$ dñVw{Zð>Vm Am{U ........ H$aVm Amdí`H$ Amho.

(Zm°J©o{Q>ìh KQ>Zm, C{Ôð>{Zð>Vm KQ>Zm, gÎmm, _wV© dñVy)

v) ........... hr {dnUH$mÛmao {d{dY ì`dñWmn{H$` à{H«$`m Ogo H$s n[aM` A§XmO H$aUo
Am{U J«mhH$m§À`m JaOm§Mr nyV©Vm H$aUo `m§À`mer g§~§{YV Amho.

({dnUZ {Z{V_wë ò, gm_m{OH$ godm, H$maUOÝ` {dnUZ, h[aV {dnUZ)

3 P.T.O.
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vi) g_ñ`m AmoiIUo Am{U J¥{hVH$m§Mr {Z{_©Vr H$aUo åhUOo .......... hmò .

(nyd©V`mar H$aUo, {Z`moOZ, nmR>nwamdmH$aUo, H$_©Mmar ZwH$gmZ ^anmB©)

vii) ........... KQ>H$ nmÊ`mÀ`m àXÿfUmg O~m~Xma AmhoV.

(Vob ewÕrH$aU H$maImZo, nona H$maImZo, gmIa H$maImZo, darbn¡H$s gd©)

viii) AmdmOmMo à_mU _moOÊ`mgmR>r dmnaë`m OmUmè`m gmYZmbm ....... Ago åhUVmV.

(Am°{S>Amo_rQ>a, AmoS>mo_rQ>a, Šb°n-Am°Z {_Q>a, E°pŠgbamo{_Q>a)

àíZ àíZ àíZ àíZ àíZ 2) "{Z{V_wë ò' Am{U "ì`mdgm{`H$ {Z{V_wë ò' ̀ m g§H$ënZm§À`m ì`m»`m Úm. ì`mdgm{`H$ {Z{V_wë`m§Mr
VËdo g{dñVa ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) "H$m°nm} aoQ> àemgZ' åhUOo H$m`? H$m°nm} aoQ> àemgZmMr C{Ôï>o Am{U d¡{eï>o g{dñVa ñnï> H$am.[14]

àíZ àíZ àíZ àíZ àíZ 4) ì`mdgm{`H$ {dÎmmVrb AZ¡{VH$ Am{U Z¡{VH$ H$m ©̀nÕVr {deX H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) n`m©daUmÀ`m èhmgmg H$maUr ŷV R>aUmao KQ>H$ ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) WmoS>Š`mV Q>rnm {bhm. (H$moUË`mhr XmoZ) : [12]

A) Zr{V_wë`mYm[aV {ZU©̀  à{H«$`m

~) _wë`mYm[aV ì`dñWmnZ

H$) H$m_mÀ`m {R>H$mUr AgUmar Z¡{VH$Vm

S>) emídV {dH$mgmMr VËdo


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Q1) Fill in the blanks by selecting suitable choice. (any 6 out of 8) [6]

a) The knowledge acquired by the company’s Board of Directors is an

example of _________ knowledge.

(Individual, Financial, Collective)

b) ________ can be simply defined as a measure of quality that strives for

near perfection.

(CRM, TQM, Six Sigma)

c) Copyright is a type of __________ property.

(Intellectual, Movable, Non-movable)

d) _________ creates permanent knowledge sharing products.

(Lectures, Discussion Forum, Writing)

e) Knowledge has to be ______ from other factors.

(given, acquired, store)

f) ________ is an example of spoken knowledge sharing strategy.

(book, email, conference)

g) Knowledge can be used to make a good profit in the ________.

(business, society, social work)

h) Knowledge Management strategy is a plan that describes how an

organisation will manage its information and knowledge better for the

benefit of the organisation and its __________.

(Stakeholders, Competitors, Government)

P.T.O.
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Q2) What is meant by ‘Knowledge Management’? Explain the process of
Knowledge Management. [14]

Q3) What is meant by a ‘Leader’? Explain the role of a leader in knowledge
management. [14]

Q4) What is meant by ‘Total Quality Management’ (TQM)? Explain the role of
Knowledge Management in TQM. [14]

Q5) What is meant by ‘Knowledge Strategy’? Explain with examples, how
knowledge Strategies have been created. [14]

Q6) Write Short Notes (any 2 out of 4): [2×6=12]

a) Difference between information and Knowledge.

b) System of Presenting Knowledge.

c) Role of Knowledge Management in Human Resource Management.

d) Future Prospects of Knowledge Intensive Business Services.


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à.à.à.à.à.1) [aH$må¶m OmJm ^am. (8 H$moUË¶mhr 6) [6]

A) H§$nZrÀ¶m g§MmbH$ ‘§S>imZo KoVbobo kmZ ho .......... kmZmMo CXmhaU Amho.

(d¡¶{º$H$, Am{W©H$, gm‘y{hH$)

~) ........... ho JwUdÎmoMo ‘moO‘mn åhUyZ n[a^m{fV Ho$bo OmD$ eH$Vo Oo OdiÀ¶m n[anyU©VogmR>r
à¶ËZ H$aVo.

(gr.Ama.E‘., Q>r.³¶y.E‘., gr³g {g½‘m)

H$) H$m°nramBQ> hm ............... g§nÎmrMm EH$ àH$ma Amho.

(~m¡{ÕH$, AñWmda, ñWmda)

S>) .............. H$m¶‘ñdê$nr kmZ gm‘m{¶H$aU CËnmXZo V¶ma H$aVo.

(ì¶m»¶mZo, MMm© ‘§M, boIZ)

B) kmZ BVa KQ>H$m§H$Sy>Z ............ bmJVo.

(¿¶mdo, {‘idmdo, gmR>dUo)

’$) .......... ho ~mobboë¶m kmZ gm‘m{¶H$aU ì¶yhaMZm CXmhaU Amho.

(nwñVH$, B©-‘ob, n[afX)

¶) kmZmMm Cn¶moJ ............. Mm§Jbm Z’$m {‘i{dÊ¶mgmR>r Ho$bm OmD$ eH$Vmo.

(ì¶dgm¶mV, g‘mOmV, g‘mO H$m¶©aV)

a) kmZ ì¶dñWmnZ ì¶yhaMZm hr EH$ ¶moOZm Amhoo Or g§ñWm Am{U {VÀ¶m ............ ’$m¶XçmgmR>r
g§ñWm {VMr ‘m{hVr d kmZ A{YH$ Mm§Jë¶m àH$mao H$go ì¶dñWm{nV H$aob ¶mMo dU©Z H$aVo.

(^mJYmaH$, à{VñnYu, gaH$ma)
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à.à.à.à.à.2) "kmZ ì¶dñWmnZ' åhUOo H$m¶? kmZ ì¶dñWmnZmMr à{H«$¶m ñnï> H$am. [14]

à.à.à.à.à.3) "ZoVm' åhUOo H$m¶? kmZ ì¶dñWmnZmVrb ZoË¶mMr ŷ{‘H$m ñnï> H$am. [14]

à.à.à.à.à.4) "g§nyU© JwUdÎmm ì¶dñWmnZ' (TQM) åhUOo H$m¶? Q>r.³¶y.E‘. ‘Yrb kmZ ì¶dñWmnZmMr ŷ{‘H$m
ñnï> H$am. [14]

à.à.à.à.à.5) "kmZ ì¶yhaMZm' åhUOo H$m¶? "kmZ ì¶yhaMZm' H$er V¶ma Ho$br OmVo Vo gmoXmhaU ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) ‘m{hVr Am{U kmZ ¶m§Vrb ’$aH$

~) kmZ gmXarH$aU àUmbr

H$) ‘mZd g§gmYZ ì¶dñWmnZm‘Ü¶o kmZ ì¶dñWmnZmMr ŷ{‘H$m

S>) kmZ{Yð>rV/kmZmYm[aV ì¶dgm¶ godm§À¶m ^{dî¶mVrb g§̂ mdZm





Q1) Fill in the blanks by selecting suitable choice (Any six) : [6]
i) The three stages of money laundering are ______.

A) Layering, Placement Refining

B) Placement, Layering, Integration

C) Layering, Placement, Integration

D) Layering, Refining, Integration

ii) The functions of Financial Intelligence _________

A) Collection of information B) Analysis of information

C) Sharing of information D) All the above

iii) ______ is not a Current account transaction.

A) Imports payables

B) Exports receivables

C) Dividend

D) External commercial borrowings

iv) ________ are the major players in the foreign exchange market.

A) Commercial banks

B) Corporate

C) Exchange brokers

D) Central bank of the country and the central government

Total No. of Questions : 6]
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v) The Indian banking sector is facing the problem of heavy NPAs ______
industry has contributed least to the level of NPAs.

A) real estate sector B) iron and steel

C) software and BPO D) infrastructural development

vi) The ________ of financial institution can be measured through its
asset-liability management.

A) profitability B) efficiency

C) security D) liquidity

vii) ________ of Banking Regulation Act, 1949 related with amalgamation
of two banking companies?

A) Section 110 to 120 B) Section 44A

C) Section 391 to 394 D) Section 20C

viii) Banking Ombudsman is appointed by the _________.

A) Central Finance Minister

B) Reserve Bank of India

C) Security Exchange Board of India (SEBI)

D) State Bank of India

Q2) Explain the Provisions of the Prevention of Money Laundering Act, 2002
pertaining to obligations of the Banking companies, Financial Institutions
and Intermediaries. [14]

Q3) Explain the Provisions relating to contravention and penalties underthe
Foreign Exchange Management Act, 1999. [14]

Q4) Explain various risks faced by banks while managing their assets and
liabilities. [14]

Q5) Discuss the role and use of technology up-gradation in banking sector.[14]

Q6) Write Short notes (Any Two) : [12]
a) Offence of money laundering and punishment for money laundering.
b) Authorised Person
c) Sub-standard Asset and Doubtful Assets
d) Advantages of Bank Mergers.


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3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
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àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aH$må`m OmJm ^am. (H$moUË`mhr ghm) [6]

i) Ad¡Yg§nÎmr ewX²YrH$aUmÀ`m ........... VrZ nm`è`m AmhoV.

A) ñVarH$aU, ßbog_|Q>, ewX²YrH$aU

~) ßbog_|Q>, ñVarH$aU, EH$mË_H$sH$aU

H$) ñVarH$aU, ßbog_|Q>, EH$mË_H$sH$aU

S>) ñVarH$aU, ewX²YrH$aU, EH$mË_H$sH$aU

ii) \$m`ZmpÝeAb B§Q>o{bOÝg ẁ{ZQ> Mo ....... H$m }̀ AmhoV.

A) _mhrVr g§H$bZ ~) _mhrVrMo {díbofU

H$) _mhrVrMr XodmU KodmU S>) darb gd©

iii) ........... ì`dhma hm Mmby ImË`mdardarb ì`dhma Zmhr.

A) Am`mV XoUr ~) {Z`m©V àmár

H$) bm^m§e S>) ~mh²̀  dm{UÁ` {df`H$ H$O}

iv) naH$s` MbZ ~mOmamVrb _hËdnyU© A{^H$V} ......... AmhoV.

A) ì`mnmar ~±H$m

~) H$mnm} aoQ>

H$) EŠg|O ~«moH$a

S>) XoemMr _Ü`dVu ~±H$ Am{U H|$Ð emgZ

3 P.T.O.
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v) ^maVmVrb ~±H$ ì`dgm`mbm _moR>`m à_mUmV Cƒ AZwËnmXH$ _mb_Îmo Mr g_ñ`m ̂ oS>gmdV
Amho. ........... CX²̀ moJ. AZwËnmXH$ _mb_ÎmoMr {ZÀ`m§H$ nmVir Xe©{dVmo.
A) [aAb BñQ>oQ> joÌ ~) bmoh nmobmX CXçmoJ
H$) gm°ßQ>doAa Am{U ~r.nr. Amo S>) nm`m ŷV gw{dYm§Mm {dH$mg

vi) _mb_Îmm Xoæ`Vm ì`dñWmnZmÀ`m _mÜ`_mVyZ {dÎmr`r g§ñWoMr .......... _mnZ Ho$bo Omdy
eH$Vo.
A) bm^ j_Vm ~) H$m`© j_Vm
H$) gwa{jVVm S>) amoIVm

vii) ~±H$ {Z`_U H$m`Xm, 1949 Mo .......... ho XmoZ ~±qH$J H§$nÊ`m§À`m {dbrUrH$aUmÀ`m
g§~§Yr AmhoV.
A) H$b_ 110 Vo 120 ~) H$b_ 44 A
H$) H$b_ 391 Vo 394 S>) H$b_ 20 H$

viii) ~±qH$J bmoH$nmbmMr {Z ẁŠVr hr ....... Ûmao Ho$br OmVo.
A) H|$Ðr` {dÎm_§Ìr
~) ^maVr` [aPìh© ~±H$
H$) go~r (SEBI)

S>) ñQ>oQ> ~±H$ Am°\$ B§{S>`m

àíZ àíZ àíZ àíZ àíZ 2) Ad¡Y g§nÎmr ewX²YrH$aU à{V~§Y A{Y{Z`_, 2002 _Yrb ~±qH$J H§$nUr, {dÎmr` g§ñWm Am{U
_Ü`ñW g§X^m©Vrb VaVwXr ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) naH$s` {d{Z_` ì`dñWmnZ H$m`Xm, 1999 A§VJ©V C„§KZ Am{U X§S>mÀ`m g§X^m©Vrb VaVwXr
ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) _mb_Îmm Xm{`ËdmMo ì`dñWmnZ H$aVm§Zm ~±Ho$bm gm_moao OmÊ`m bmJUmè`m {d{dY Omo{I_m§Mo
ñnîQ>rH$aU H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) ~±qH$J joÌmVrb AmYw{ZH$ Am{U AmX²̀ `mdV V§ÌkmZm Mr ŷ{_H$m Am{U Cn`moJ ñnï> H$am.[14]

àíZ àíZ àíZ àíZ àíZ 6) Q>rnm {bhm. (H$moUË`mhr XmoZ) : [12]
A) Ad¡Y g§nÎmr ewX²YrH$aUmMm JwÝhm Am{U {ejm
~) A{YH¥$V ì`ŠVr
H$) Cnà_mU _mb_Îmm Am{U g§e`mñnX _mb_Îmm
S>) ~±H$ {dbrUrH$aUmMo \$m`Xo


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Q1) Fill in the blanks by selecting suitable choice. (Any 6) [6]

a) Which one among the ______ promoted the concept of self-helf groups
(SHGs) for financing the poor.

i) RBI

ii) Union Ministry of Rural Development

iii) NABARD

iv) Union Ministry of Labour

b) The Cash Reserve Ratio is an effective instrument of credit control.
Under the RBI Act, 1934 every _______ Bank has to keep certain
minimum cash reserves with RBI :

i) Public Bank ii) Commercial Bank

iii) Private Bank iv) Agricultural Bank

c) Monetary policy is regulated by __________.

i) Micro finance organizations ii) Central Bank

iii) Money Leaders iv) Private Bank

d) Marginal Standing Facility (MSF) Rate = ___________.

i) MSF Rate = Reverse Repo Rate –1

ii) MSF Rate = Reverse Repo Rate +1

iii) MSF Rate = Repo Rate +1

iv) MSF Rate = Repo Rate –1

P.T.O.
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e) The interest rate charged on overnight loans of reserves between banks
is the _________.

i) Treasury Bill Rate ii) Federal Funds Rate

iii) Discount Rate iv) Prime Rate

f) Inflation is a sustained increase in  the general level of _______.

i) Income ii) Prices

iii) Accounts iv) Profit

g) In 1999 Reserve Bank of India introduced ILAF stands for _______.

i) Interim Liquidity Adjustment Facility

ii) Internal Liquidity Adjustment Facility

iii) Interest Liquidity Adjustment Facility

iv) Investing Liquidity Adjustment Facility

h) Tarun, Kishor and Sishu are the schemes of _________.

i) RRBs ii) MUDRA

iii) SIDBI iv) IDBI

Q2) What is Monetary Policy? Explain the limitation of Monetary Policy. [14]

Q3) Explain the effectiveness of moral suasion, publicity and direct action. [14]

Q4) Explain the review of the Monetary Policy of Reserve Bank of India in the last
five years. [14]

Q5) Explain the role and functions of NABARD. [14]

Q6) Write Short Notes on (Any 2): [12]

a) Financial literacy

b) Cash Reserve Ratio

c) Types of Monetary Policy

d) Marginal standing Facility Rate


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2) àíZ H«$‘m§H$ 2 Vo àíZ H«$. 5 ¶mn¡H$s H$moUVohr 3 àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
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à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUË¶mhr ghm) [6]
A) Jar~m§Zm {dÎmnwadR>m H$aÊ¶mgmR>r Imbrbn¡H$s ............. ñd¶§ghm¶Zm g‘yhm§Zm àoaUm XoVo.

i) Ama ~r Am¶ ii) J«m‘rU {dH$mg ‘§Ìmb¶
iii) Zm~mS>© iv) l‘ ‘§Ìmb¶

~) amoI amIrd {ZYr à‘mU ho nV {Z¶§ÌUmMo EH$ n[aUm‘H$maH$ gmYZ Amho. ^maVr¶ [aPìh© ~±H$
H$m¶Xm 1934 Zwgma ............... ~±H$m§Zm ^maVr¶ [aPìh© ~±Ho$ ~amo~a H$mhr {H$‘mZ amIrd {ZYr
R>odmdm bmJVmo.
i) gmd©O{ZH$ ~±H$ ii) ì¶mnmar ~±H$
iii) ImOJr ~±H$ iv) H¥${f ~±H$

H$) MbZ{df¶H$ YmoaUm§Mo {Z¶‘Z .................. Ûmao Ho$bo OmVo.
i) gyú‘ {dÎm g§KQ>Z ii) goÝQ´>b ~±H$
iii) ‘Zr {bS>g© iv) ImOJr ~±H$

S>) ‘m{O©Zb ñQ>°pÝS>¨J ’°${g{bQ>r (E‘EgE’$) Xa = .................
i) E‘EgE’$ Xa = [aìhg© aonmo Xa - 1
ii) E‘EgE’$ Xa = [aìhg© aonmo Xa + 1
iii) E‘EgE’$ Xa = aonmo Xa + 1
iv) E‘EgE’$ Xa = aonmo Xa - 1

B) amIrd gmR>¶mdarb EH$m amÌrgmR>r Or H$O} AgVmV Ë¶m§À¶m da Omo ì¶mOXa bmdbobm AgVmo Vmo
................... Xamà‘mUo AgVmo.
i) Q´>oPar ~rb Xa ii) ’o$S>ab ’§$S>g Xa
iii) {S>ñH$mC§Q> Xa iv) àmB©‘ Xa

’$) MbZdmT> hr gmYmaUnUo gd©gm‘mÝ¶ nmVirdaVr dmT>ë¶mMo ............ ‘Ü¶o {XgyZ ¶oVo.
i) CËnÞ ii) {H$‘Vr
iii) boIm iv) Z’$m
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¶) 1999 ‘Ü¶o ^maVr¶ [aPìh© ~±Ho$Zo Am¶ Eb E E’$ Mm n[aM¶ H$ê$Z {Xbm. Am¶ Eb E Eg
åhUOo .............

i) B§Q>ar‘ {b{¹${S>Q>r A°S>OoñQ>‘oÝQ> ’°${g{bQ>r

ii) B§Q>aZb {b{¹${S>Q>r A°S>OoñQ>‘oÝQ> ’°${g{bQ>r

iii) BZQ>aoñQ> {b{¹${S>Q>r A°S>OoñQ>‘oÝQ> ’°${g{bQ>r

iv) BZìhoñQ>tJ {b{¹${S>Q>r A°S>OoñQ>‘oÝQ> ’°${g{bQ>r

a) Vê$U, {H$emoa Am{U {eew hr ¶moOZm ................... Mr Amho.

i) àmXo{eH$ J«m‘rU ~±H$m ii) ‘wÐm ~±H$

iii) ^maVr¶ bKwCÚmoJ {dH$mg ~±H$ iv) ^maVr¶ Am¡Úmo{JH$ {dH$mg ~±H$

à.à.à.à.à.2) MbZ{df¶H$ YmoaU åhUOo H$m¶? MbZ {df¶H$ YmoaUmÀ¶m ‘¶m©Xm ñnîQ> H$am. [14]

à.à.à.à.à.3) Z¡{VH$ g‘OmdUr, à{g{Õ Am{U àË¶j H$madmB© ¶m§Mr n[aUm‘ H$maH$Vm ñnï> H$am. [14]

à.à.à.à.à.4) ‘mJrb nmM dfm©Vrb [aPìh© ~±Ho$À¶m MbZ{df¶H$ YmoaUmMm AmT>mdm ¿¶m. [14]

à.à.à.à.à.5) Zm~mS>©Mr ŷ{‘H$m Am{U H$m¶} g{dñVa ñnï> H$am. [14]

à.à.à.à.à.6) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) {dÎmr¶ gmjaVm

~) amoI amIrd à‘mU

H$) MbZ{df¶H$ YmoaUmMo àH$ma

S>) ‘m{O©Zb ñQ>°pÝS>¨J ’°${g{bQ>r Xa


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Instructions to the candidates:

1) Question No. 1 and question No. 6 are compulsory.
2) Solve any three questions from question No. 2 to 5.
3) Figures to the right indicate full marks.
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Q1) Fill in the blanks by selecting suitable choice : (Any six) [6]
i) CRM technology can help in __________.

a) Designing direct marketing efforts
b) Developing new pricing models
c) Processing transactions faster
d) All of the above

ii) The marketing messages committed to customers wishes is a part of
________.
a) Permission marketing b) Activity marketing
c) Supplier marketing d) None of the above

iii) __________ is the Role of IT in CRM.
a) The internet b) Computer Telephony Integration
c) Data warehouse d) All of the above

iv) Building and sustaining long term business with customer is the aim of
_________.
a) Electronic Customer Relationship Management
b) CRM
c) Customer acquisition
d) Customer management

SEAT No. :

P.T.O.
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v) Different component of customer profitability are __________.
a) Retention, Expansion and Acquisition
b) Acquisition, Retention & Expansion
c) Retention and Acquisition
d) Expansion & Retention

vi) _________ key players and their requirements in CRM.
a) Customer Representative’s Perspective
b) System Administrator Perspective
c) Customer Perspective
d) All of the above

vii) ________ Factors are affecting Employee’s Performance.
a) Overwork b) Environment creation
c) Relationship Building d) None of the above

viii) Importance of customer perception is __________.
a) Consideration b) Branding
c) Marketing d) All of the above

Q2) What is ‘CRM’? Explain the Reasons of customer Switching and Strategies
for Retention. [14]

Q3) Explain the eCRM in Business and Important CRM softwares. [14]

Q4) What is ‘Customer Lifetime Value’? Explain the components and calculation
of CLV as well as measures to increase the CLV. [14]

Q5) What is ‘Customer Satisfaction’? Explain the factors reasons for measurement
and methods of measurement of customer satisfaction. [14]

Q6) Write short notes : (Any Two) [12]
a) Factors responsible for the growth of CRM.
b) Technologies of eCRM.
c) Profitability Management.
d) Customer Expectation and Customer perception.


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[5956]-218
M.Com. (Part - I) (Semester - II)

CUSTOMER RELATIONSHIP MANAGEMENT & RETAILING (217)
Advance Marketing (Special Paper - III)

(Group - H) (2019 Pattern) (CBCS) (Regular)
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doi : 3 Vmg]                      [EHy$U JwU : 60
gyMZm : 1) àíZ H«§$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© Amho.

2) àíZ H«§$. 2 Vo àíZ H«$. 5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-2895

àíZ 1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am : (H$moUË¶mhr ghm)¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am : (H$moUË¶mhr ghm)¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am : (H$moUË¶mhr ghm)¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am : (H$moUË¶mhr ghm)¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am : (H$moUË¶mhr ghm) [6]
i) gr. Ama. E‘. V§ÌkmZ ............... ¶mg ‘XV H$ê$ eH$Vo.

A) ôQ> {dnUZ à¶ËZm§Mr AmIUr H$aUo
~) ZdrZ qH$‘VrMo ‘m°S>ob {dH${gV H$aUo
H$) ì¶dhmamda OiX à{H«$¶m H$aUo
S>) darb gd©

ii) J«mhH$m§À¶m BÀN>oZwgma dMZ~Õ {dnUZ g§Xoe hm ............. EH$ ^mJ Amho.
A) nadmZJr {dnUZ ~) {H«$¶mH$bmn {dnUZ
H$) nwadR>mXma {dnUZ S>) darbn¡H$s H$moUVohr Zmhr

iii) gr. Ama. E‘. ‘Yrb Am¶. Q>r. Mr ŷ{‘H$m ............ Amho.
A) B§Q>aZoQ> ~) g§JUH$ XþaÜdZr EH$ÌrH$aU
H$) ‘m{hVrMo H$moR>ma S>) darb gd©

iv) J«mhH$m§er XrK©H$mbrZ ì¶dgm¶ ~Z{dUo Am{U {Q>H${dUo ho ............... Mo C{Ôï>o Amho.
A) B©. J«mhH$ g§~§Y ì¶dñWmnZ ~) J«mhH$ g§~§Y ì¶dñWmnZ
H$) J«mhH$ g§nmXZ S>) J«mhH$ ì¶dñWmnZ

v) J«mhH$m§À¶m ’$m¶ÚmMo {^Þ KQ>H$ ...................... AgVmV.
A) YmaUm, {dñVma Am{U g§nmXZ ~) g§nmXZ, YmaUm Am{U {dñVma
H$) YmaUm Am{U g§nmXZ S>) {dñVma Am{U YmaUm

P.T.O.
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vi) ............... ho H$s ßbo¶g© Am{U gr. Ama. E‘ ‘Yrb Ë¶m§Mr Amdí¶H$Vm.
A) J«mhH$ à{V{ZYrMm Ñï>rH$moZ ~) àUmbr àemgH$ Ñï>rH$moZ
H$) J«mhH$ Ñï>rH$moZ S>) darb gd©

vii) H$‘©Mmè¶m§À¶m H$m‘Jrarda n[aUm‘ ................ KQ>H$ H$aVmV.
A) OmñV H$m‘ H$aUo ~) n¶m©daU {Z{‘©Vr
H$) g§~§Y {Z‘m©U H$aUo S>) darbn¡H$s H$moUVohr Zmhr

viii) ............... ho J«mhH$m§À¶m OmUrdoMo ‘hËd Amho.
A) à{V’$b ~) ~«±qS>J
H$) {dnUZ S>) darb gd©

àíZ 2) "J«mhH$ g§~§Y ì¶dñWmnZ' åhUOo H$m¶? J«mhH$ ~XbmMr H$maUo Am{U J«mhH$ YmaUm ì¶dñWmnZmMr
YmoaUo ñnï> H$am. [14]

àíZ 3) ì¶dgm¶mVrb B©-J«mhH$ g§~§Y ì¶dñWmnZ Am{U J«mhH$ g§~§Y ì¶dñWmnZmVrb ‘hËdmMr gm°âQ>doAa
ñnï> H$am. [14]

àíZ 4) "J«mhH$ AmOrdZ ‘wë¶' åhUOo H$m¶? J«mhH$ AmOrdZ ‘wë¶mMo KQ>H$ Am{U JUZm VgoM J«mhH$
AmOrdZ ‘wë¶ dmT>{dÊ¶mMo Cnm¶ ñnï> H$am. [14]

àíZ 5) "J«mhH$ g‘mYmZ' åhUOo H$m¶? J«mhH$ g‘mYmZmMo KQ>H$, J«mhH$ g‘mYmZm§Mo ‘moO‘mn H$aÊ¶m§Mr
H$maUo d nÕVr ñnï> H$am. [14]

àíZ 6) WmoS>³¶mV {Q>nm {bhm (H$moUË¶mhr XmoZ) [12]
A) J«mhH$ g§~§Y ì¶dñWmnZ dmT>rg H$maUr ŷV R>abobo KQ>H$.
~) J«mhH$ g§~§Y ì¶dñWmnZm‘Yrb V§ÌkmZ.
H$) J«mhH$ Z’$m j‘Vm.
S>) J«mhH$ Anojm Am{U J«mhH$ AmH$bZ.


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1) Question No.1 and Question No.6 are Compulsory.
2) Solve any Three Questions from question No.2 to Question No.5.
3) Figures to the right side indicate full marks.
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SEAT No. :

Q1) Fill in the blanks by selecting suitable choice. (any 6 out of 8) [6]

a) Services marketing is important in today’s context because of it ______.

i) Generates more GDP

ii) Generates more customer

iii) Generates more jobs and GDP

iv) Generates more jobs

b) Which of the following is not an example of “tangibilizing” a service
product?

i) Employee uniforms ii) Exterior  of the property

iii) Plant presentation iv) All of the above

c) Service positioning is about _________.

i) Developing a service

ii) Developing a perception of the service

iii) Service quality decisions

iv) Perceptual mapping

d) ______ is one of the core elements in service strategy formulation.

i) Segmentation ii) Targeting

iii) Positioning iv) Competiveness

e) A service-focused firm offers a _______ range of services to a fairly
broad market.

i) Wider ii) Limited

iii) Less iv) More
P.T.O.
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f) Services that do not meet customer expectations are called _________.

i) Service failures ii) Critical incidents

iii) Function failures iv) Service recoveries

g) In the service industry charges, fees, fares or rates are all _________.

i) Service cost ii) Cost structure

iii) Cost plus iv) Price

h) Pure goods without accompanying ___________________.

i) Product ii) Goods

iii) Services iv) Nothing

Q2) What do you mean by services? Explain Characteristics of Services? [14]

Q3) Explain in detail the Designing of Services Mix with reference to Product and
Price. [14]

Q4) Explain in detail the challenges associated with the development of the services?
[14]

Q5) Define Consumer Satisfaction and Explain Measuring Consumer Satisfaction?
[14]

Q6) Write Short Notes (Any 2 out of 4): [2×6=12]

a) Types of Services.

b) The Service Delivery Process.

c) Measuring Service Quality.

d) Customer Loyalty.


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M. Com.

Group-H : (218) SERVICES MARKETING
(CBCS 2019 Pattern) (Semester - II)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H« . 6 gº$sMo AmhoV.
2) àíZ H«$‘m§H$ 2 Vo àíZ H«$. 5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-2896

à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aº$ OmJm ^am (8 n¡H$s H$moUVohr 6) [6]

A) AmOÀ¶m g§X^m©V godm {dnUZ ‘hËdmMo Amho H$maU ....................

i) A{YH$ OrS>rnr {Z‘m©U H$aVo

ii) A{YH$ J«mhH$ {Z‘m©U H$aVmV

iii) A{YH$ amoOJma Am{U OrS>rnr {Z‘m©U H$aVo

iv) A{YH$ amoOJma {Z‘m©U H$aVmV

~) Imbrb n¡H$s H$moUVr godm CËnmXZ ""Q>±Or{~bm¶qPJ'' (ñnï> d {ZpíMV) H$aÊ¶mMo CXmhaU
Zmhr?

i) H$‘©Mmar JUdoe ii) ‘mb‘Îmm ~mh²¶

iii) dZñnVr gmXarH$aU iv) darb gd©

H$) godm pñWVr åhUOo ................

i) godm {dH${gV H$aUo ii) godoMr YmaUm {dH${gV H$aUo

iii) godm JwUdÎmoMo {ZU©¶ iv) ~moYmË‘H$/g§doXZmj‘ ‘°qnJ

S>) ................ godm aUZrVr V¶ma H$aÊ¶mÀ¶m ‘w»¶ KQ>H$m§n¡H$s ho EH$ Amho.

i) {d^mOZ ii) bú¶rH$aU

iii) pñWVr iv) ñnYm©Ë‘H$Vm

B) godm H|${ÐV ’$‘© ~a²¶mM ~«m°S> ‘mH}$Q>‘Ü¶o .................... godm§Mr Am°’$a XoVo.

i) {dñVrU© ii) ‘¶m©XrV

iii) H$‘r iv) A{YH$
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’$) Á¶m godm J«mhH$m§À¶m Anojm§Mr nyV©Vm H$arV ZmhrV Ë¶m§Zm ................ åhUVmV.

i) godm An¶er ii) J§̂ ra KQ>Zm

iii) H$m¶© A¶eñdr iv) godm dgyb
¶) godm CX²¶moJ ewëH$, ’$s, ^mS>o qH$dm Xa gd© H$mhr ..............

i) godm IM© ii) IM© aMZm

iii) IM© A{YH$ iv) qH$‘V

a) ewÕ dñVy gmo~V ZgUo åhUOo ...............

i) CËnmXZ ii) dñVy

iii) godm iv) H$mhr Zmhr

à.à.à.à.à.2) godm åhUOo H$m¶? godm§Mr d¡{eîQ>ço ñnï> H$am? [14]

à.à.à.à.à.3) CËnmXZ Am{U {H$‘VrÀ¶ g§X^m©V godm {‘l aMZm g{dñVa ñnï> H$am. [14]

à.à.à.à.à.4) godm§À¶m {dH$mgmer g§~§{YV AmìhmZo g{dñVa ñnï> H$am. [14]

à.à.à.à.à.5) J«mhH$ g‘mYmZmMr ì¶m»¶m Úm Am{U J«mhH$ g‘mYmZmMo ‘moO‘mn ñnï> H$am? [14]

à.à.à.à.à.6) {Q>nm {bhm. (Mman¡H$s H$moUË¶mhr XmoZ) [2×6=12]

A) godm§Mo àH$ma

~) godm {dVaU à{H«$¶m

H$) godoMr JwUdÎmm ‘moOUo

S>) J«mhH$ {Zð>m





Total No. of Questions : 6]

[Total No. of Pages : 4

[5956]-301
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BUSINESS ECONOMICS 
Business Finance

(2019 Pattern) (CBCS) (301)
Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No. 1 and question No. 6 are compulsory.
2) Solve any Three questions from question No.2 to question No.5.
3) Figures to the right indicate full marks.

PA-2897

Q1) Fill in the blanks (any 6) : [6]
i) Interest paid on only the original principal borrowed is often referred to

as____________
a) Compound interest b) Future value
c) Present value d) Simple interest

ii) The value of the same amount of money in hand today is _______ the
value of money to be received in the future.
a) Higher than b) Lower than
c) Same as d) May be Higher or Lower

iii) Under capitalisation arises due to _________
a) Excess of assets over the liabilities
b) Excess of liabilities over the assets
c) Actual capitalisation is higher than the proper capitalisation
d) Actual capitalisation is lower than the proper capitalisation

iv) Rate of return on capital is exceptionally low in ___________
a) Under capitalisation b) Over capitalisation
c) Working capital d) Fixed capital

v) _________ are the real owners of a company.
a) Government b) Board of Directors
c) Equity shareholders d) Debenture holders

SEAT No. :

P.T.O.
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vi) Shareholders _________ received from the company.
a) Interest b) Commission
c) Profit d) Dividend

vii) Net working capital refers to ___________
a) Total assets minus fixed assets.
b) Current assets minus current liabilities
c) Current assets minus inventories
d) Current assets

viii) ___________ is not an example of fixed asset.
a) Land b) Machineries
c) Raw Material d) Building

Q2) What is time value of money? Explain the importance of time value of money.
[14]

Q3) What is under capitalisation? Explain causes of under capitalisation. [14]

Q4) Define the term 'preference share' Explain the advantages and disadvantages
of preference share. [14]

Q5) What is working capital? Explain the advantages and disadvantages of working
capital. [14]

Q6) Write a short note (any 2) [12]
a) Present value of money.
b) Over capitalisation.
c) Characteristics of debentures.
d)  Need of short term finance.


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M.Com.II (Semester - III)
BUSINESS ECONOMICS

Business Finance
(2019 Pattern) (CBCS) (301)

(_amR>r ê$nm§Va)
doi : 3 Vmg]                      [EHy$U JwU : 60
gyMZm :- 1) àíZ H«$‘m§H$ 1Am{U àíZ H«$‘m§H$ 6 A{Zdm¶© AmhoV.

2) àíZ H«$‘m§H$ 2 nmgyZ àíZ H«$‘m§H$ 5 n¶ªV H$moUVohr VrZ àíZ gmoS>dm.
3) COì¶m ~mOyMo A§H$ nyU© JwU Xe©dVmV.

PA-2897

àíZ 1) [aH$må`m OmJm ^am. (H$moUVohr ghm) [6]
i) H$Om©D$ KoVboë¶m Ho$di ‘yi ‘wX²Xbrda {Xë¶m OmUmè¶m ì¶mOmbm .............. åhUVmV.

A) MH«$dmT> ì¶mO ~) ^{dî¶H$mbrZ ‘yë¶
H$) dV©‘mZ ‘yë¶ S>) gai ì¶mO

ii) ^{dî¶mV {‘iUmè¶m n¡emÀ¶m ‘yë¶mnojm AmO hmVmV Agboë¶m VodT>¶mM n¡emMo ‘yë¶
...............
A) OmñV AgVo ~) H$‘r AgVo
H$) gmaIoM AgVo S>) OmñV qH$dm H$‘r Agy eH$Vo

iii) H$‘r ^m§S>dbrH$aU ............ ¶m‘wio CX²^dVo.
A) Xm{¶Ëdmnojm OmñV ‘mb‘Îmm
~) ‘mb‘Îmm§nojm OmñV Xm{¶Ëdo
H$) dmñV{dH$ ^m§S>db ¶mo½¶ ^m§S>dbmnojm OmñV AgVo.
S>) dmñV{dH$ ^m§S>db ¶mo½¶ ^m§S>dbmnojm H$‘r AgVo.

iv) ................. ‘Ü¶o ^m§S>dbmdarb naVmdm Xa AndmXmË‘H$nUo H$‘r AgVmo.
A) H$‘r ^m§S>dbrH$aU ~) A{Y^m§S>dbrH$aU
H$) IoiVo ̂ m§S>db S>) pñWa ^m§S>db

v) H§$nZrMo dmñV{dH$ ‘mbH$ ............. AgVmV.
A) gaH$ma ~) g§MmbH$ ‘§S>i
H$) gm‘mÝ¶ ^mJ YmaH$ S>) H$O©amoIo YmaH$

P.T.O.
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vi) ^mJYmaH$m§Zm H§$nZrH$Sy>Z .............. àmá hmoVo.
A) ì¶mO ~) H${‘eZ

H$) Z’$m S>) bm^m§e
vii) {Zìdi IoiVo ^m§S>db .............. er g§~§YrV Amho.

A) EHw$U ‘mb‘Îmm dOm pñWa ‘mb‘Îmm ~) Mmby ‘mb‘Îmm dOm Mmby Xm{¶Ëdo

H$) Mmby ‘mb‘Îmm dOm gyMr S>) Mmby ‘mb‘Îmm
viii) .............. ho pñWa ‘mb‘ÎmoMo CXmhaU Zmhr.

A) O‘rZ ~) ¶§Ìgm‘J«r

H$) H$ƒm ‘mb S>) B‘maV

àíZ 2) n¡emMo g‘¶‘yë¶ åhUOo H$m¶? n¡emÀ¶m g‘¶ ‘yë¶mMo ‘hËd ñnï> H$am. [14]

àíZ 3) H$‘r ^m§S>dbrH$aU åhUOo H$m¶? H$‘r ^m§S>dbrH$aUmMr H$maUo ñnï> H$am. [14]

àíZ 4) AJ«h¸$ ^mJmMr ì¶m»¶m Úm. AJ«h¸$ ^mJmMo ’$m¶Xo d VmoQ>o ñnï> H$am. [14]

àíZ 5) IoiVo ^m§S>db åhUOo H$m¶? IoiË¶m ^m§S>dbmMo ’$m¶Xo d VmoQ>o ñnï> H$am. [14]

àíZ 6) {Q>nm {bhm. (H$moUVohr XmoZ) [12]
A) n¡emMo Mmby ‘yë¶
~) A{Y^m§S>dbrH$aU
H$) H$O©amo»¶m§Mr d¡{eï>¶o

S>) AënH$mbrZ {dÎmnwadR>¶mMr JaO





Total No. of Questions : 6]

[5956]-302
M. Com. -II

302 : RESEARCH METHODOLOGY FOR BUSINESS
 (CBCS 2019 Pattern) (Semester - III)

Time : 3 Hours ]  [Max. Marks : 60
Instructions to the candidates:

1) Question No. 01 and Question No. 06 are Compulsory.
2) Solve any three Questions from question No. 02 to Question No. 05.
3) Figures to the right side indicate full marks.

PA-2898 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks by selecting suitable choice (any 6 out of 8) [6]
i) Business Research is a Process of acquiring detailed Information

of all the _________.
a) Areas of Business b) Areas of Production
c) Areas of Competitors d) Areas of Market

ii) ________ is a comprehensive summary of Previous research on a
topic.
a) Research problem b) Objective
c) Hypothesis d) Literature review

iii) _______ helps companies determine which Product/Service is most
profitable or in Demand.
a) Business Research b) Production Research
c) Workers Research d) Partners Research

iv) The ________ involves Identifying, Locating, Assessing and
Analyzing the information.
a) Production process b) Research process
c) Accounting process d) Costing process

v) _______ in Business Research can be done with accuracy and
Speed with the help of computer.
a) Production b) Advertisement
c) Large calculations d) Productivity

P.T.O.
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vi) A _______ is a Specific Issue, Difficulty, contradiction, or Gap in
Knowledge.

a) Research problem b) Research process

c) Research objective d) Research hypothesis

vii) A ________ is a document prepared by an Analyst.

a) Research hypothesis b) Research design

c) Research problem d) Research report

viii) A developmental research design that examines age differences at
only one point in time is called the ______ method.

a) Cross - sectional b) Longitudinal

c) Single - case d) Sequential

Q2) Define the term Research. Explain the Features and Objectives of Research.[14]

Q3) Define the term Research Design. Explain the Classification and steps of
Research Design. [14]

Q4) Define the term of Questionnaire. Explain the types of questionnaire along
with various steps to design questionnaire. [14]

Q5) What is Research Report? Explain in details the importance and types of
Research Report. [14]

Q6) Write Short Notes (Any 2 out of 4) [2×6=12]

a) Role of Computer in Research.

b) Sampling

c) Primary Source of Data Collection

d) Layout of Research Report


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Total No. of Questions : 6]

[5956]-302
M. Com. - II

302 : RESEARCH METHODOLOGY FOR BUSINESS
 (CBCS 2019 Pattern) (Semester - III)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$‘m§H$ 1 d 6 gmoS>{dUo A{Zdm¶© Amho.
2) à.H«$‘m§H$ 2 Vo 5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xem©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>>Z [aº$ OmJm ^am (8 n¡H$s H$moUVohr 6>) [6]

i) ì¶dgm¶ g§emoYZ hr gd© ............... Vnerbdma ‘m{hVr KoÊ¶mMr à{H«$¶m Amho.

A) ì¶dgm¶ joÌmMr ~) CËnmXZ joÌmMr

H$) à{VñnYu joÌmMr S>) ~mOmamMo joÌmMr

ii) ............... åhUOo EImÚm {df¶mdarb ‘mJrb g§emoYZmMm gd©g‘mdoeH$ gmam§e Amho.

A) g§emoYZ g‘ñ¶m ~) CÔoe

H$) J¥hrVH$ S>) gm{hË¶ nwZamdbmoH$Z

iii) ................ ho H§$nÝ¶m§Zm H$moUVo CËnmXZ/godm gdm©V ’$m¶Xoera Amho qH$dm OmñV ‘mJUr Amho
ho R>a{dÊ¶mV ‘XV H$aVo.

A) ì¶dgm¶ g§emoYZ ~) CËnmXZ g§emoYZ

H$) H$m‘Jma g§emoYZ S>) ^mJrXma g§emoYZ

iv) ................ ‘Ü¶o ‘m{hVr AmoiIUo, emoYUo, ‘yë¶m§H$Z H$aUo Am{U {dûcofU H$aUo g‘m{dï> Amho.

A) CËnmXZ à{H«$¶m ~) g§emoYZ à{H«$¶m

H$) boIm à{H«$¶m S>) IM© à{H«$¶m

v) g§JUH$mÀ¶m ‘XVrZo ì¶dgm¶ g§emoYZm‘Ü¶o ................. AMyH$Vogh Am{U doJmZo Ho$bo OmD$
eH$Vo.

A) CËnmXZ ~) Om{hamV

H$) ‘moR>r JUZm S>) CËnmXH$Vm

PA-2898
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vi) ............... hr EH$ {d{eï> g‘ñ¶m, AS>MU, {damoYm^mg qH$dm kmZmVrb A§Va Amho.

A) g§emoYZ g‘ñ¶m ~) g§emoYZ à{H«$¶m

H$) g§emoYZ CÔoe S>) g§emoYZ J¥hrVH$

vii) ................ hm EH$ XñVEodO AgVmo Omo {dûcofH$ V¶ma H$aVmo.

A) g§gmoYZ J¥hrVH$ ~) g§emoYZ {S>PmBZ

H$) g§emoYZ g‘ñ¶m S>) g§emoYZ Ahdmb

viii) {dH$mgmË‘H$ g§emoYZ aMZm Or d¶mVrb ’$aH$ EH$mM doir VnmgVo Ë¶mbm ............... nÕV
åhUVmV.

A) H«$m°g-go³eZb ({déÕ {d^mJr¶) ~) aoIm§e

H$) EH$b-Ho$g S>) AZwH«${‘H$

à.à.à.à.à.2) g§emoYZ hr g§H$ënZm {dfX H$ê$Z g§emoYZmMr d¡{eîQ>ço Am{U C{Ôï>o ñnï> H$am. [14]

à.à.à.à.à.3) g§emoYZ AmamIS>m hr g§H$ënZm ñnï> H$am Am{U g§emoYZ AmamIS²>¶mMo dJuH$aU Am{U nm¶è¶m ñnï>
H$am. [14]

à.à.à.à.à.4) àíZmdbrMr g§km ñnï> H$ê$Z, àíZmdbrMo àH$ma Am{U àíZmdbr ~Z{dÊ¶mMo nm¶è¶m ñnï> H$am. [14]

à.à.à.à.à.5) g§emoYZ Ahdmb åhUOo H$m¶? g§emoYZ AhdmbmMoo ‘hÎd Am{U àH$ma Vnerbdma ñnï> H$am. [14]

à.à.à.à.à.6) Q>rnm {bhm (H$moUVohr Xmo) [2×6=12]

A) g§emoYZmV g§JUH$mMr ŷ{‘H$m

~) Z‘wZm {ZdS>

H$) ‘m{hVr g§H$bZmMo àmW{‘H$ òmoV

S>) g§emoYZ AhdmbmMr ‘m§S>Ur





Total No. of Questions : 6]

[5956]-303

M.Com.  (Part - II)
303 : ADVANCED ACCOUNTING AND TAXATION

Advanced Auditing
(2019 Pattern) (CBCS) (Semester - III) (Special Paper - V)

Time : 3 Hours] [Max. Marks : 60

Instructions to the candidates:

1) Question No. 1 and Question No. 6 are compulsory.

2) Solve any three questions from question no. 2 to question no. 5.

3) Figures to the right side indicate full marks.

PA-4187 [Total No. of Pages : 2

SEAT No. :

Q1) Fill in the blanks (Any 6 out of 8): [6]

a) The term ‘Audit’ is derived from the Latin word ____________.

i) Audire ii) Audit

iii) Accounting iv) Accountancy

b) ______ errors arise because of mistakes committed by the clerical staff.

i) Clerical ii) Principle

iii) Mistake iv) Fraud

c) The Central Govt. has issued CARO 2003 _______ of Companies Act.

i) U/S 225 (4A) ii) U/S 226 (4A)

iii) U/S 227 (4A) iv) U/S 228 (4A)

d) The term _______ implies an examination of records for some special
purpose.

i) Audit ii) Investigation

iii) Accounting iv) Book keeping

e) _______ is a mechanism for monitoring the actions, policies and decisions
of corporations.

i) Corporate Governance ii) Audit Committee

iii) Customer Relationship iv) Cadbury Committee

P.T.O.
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f) Provision for Audit Committee has been made in __________.

i) Section 291A ii) Section 292A

iii) Section 293A iv) Section 294A

g) _______ are exercised to verify the identify of the individuals or process
involved in a system.

i) Authenticity control ii) Accuracy control

iii) Completeness control iv) Redundancy control

h) _______  ensure that data is protected from unauthorised disclosure.

i) Authenticity control ii) Accuracy control

iii) Completeness control iv) Privacy control

Q2) Explain the essential features and objectives of auditing. [14]

Q3) Define Audit Report. What are its contents? [14]

Q4) What do you mean by Corporate Governance? Explain the elements of
Corporate Governance. [14]

Q5) Explain uses of Computers for Auditing purposes. [14]

Q6) Write short notes (Any 2 out of 4): [12]

a) Vouching.

b) Audit of Dividend.

c) CEO Certification.

d) Computerised Auditing Programme.





Q1) Fill in the blanks. (Any Six) [6]

i) Section 44AD is not applicable for assesses with professions listed
under Section ______.

a) 44AC b) 44AD

c) 44AE d) 44AA

ii) Under Section 44AB, the gross turnover for the current financial year
for the profession is _________.

a) 1 Crore b) 5 Crore

c) 50 Lakhs d) 25 Lakhs

iii) Maharashtra Co-operative Societies Act 1960 has been amended with
effect from _________.

a) 16 Feb 2014 b) 16 June 2014

c) 16 Feb 2013 d) 16 June 2015

iv) The compulsory audit of accounts of the certain person carrying on
business or profession is u/s _________.

a) U/S 44AD b) U/S 44AB

c) U/S 44AC d) U/S 44CC

v) __________ Is an independent appraisal activity within an organization
for the review of operations as a service to management.

a) Compulsory Audit b) Statutory Audit

c) Internal Audit d) Cost Audit

Total No. of Questions : 6]

[Total No. of Pages : 2

[5956]-304
M.Com. (Part - II)

304 : SPECIALIZED AUDITING
(2019 Pattern) (CBCS) (Semester - III)

Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Q1 & Q6 are Compulsory.
2) Solve any three questions from Q2 to Q5.
3) Figures to the right side indicate full marks.

PA-4195

SEAT No. :
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vi) Internal Auditor is appointed by ________.

a) Management b) Shareholder

c) Government d) Members

vii) Accounting and administrative control also called as ________.

a) Internal Check b) Internal Control

c) Internal Layout d) Internal Audit

viii) Bank Audit involves expression of opinion on the _________.

a) Financial Policy b) Financial Budget

c) Financial interest d) Financial Statement

Q2) State the need for Audit under GST. Explain the types of Audits under
GST. [14]

Q3) What is Internal Audit. State difference between Internal Check and Internal
Audit. [14]

Q4) Define the term Bank Audit. Explain the Salient features of enactments
affecting Banks. [14]

Q5) Explain the rights and duties of the Auditor as per Maharashtra State
Co-operative Societies Act, 2013. [14]

Q6) Write Short Notes. (Any Two) [12]

a) Penalty for Not Filling The Audit Report

b) Scrutiny of Profit and Loss items

c) Internal Control

d) Objectives of Urban Credit Societies





Total No. of Questions : 6]
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M.Com. - II

BUSINESS LAW (COMMERCIAL  LAWS)
305 : Law Relating to International Business

(2019 Credit Pattern) (Semester - III) (Group - B)

Time :3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No.1 & questions No.6 are compulsory.
2) Solve any three questions from questions No.2 to question No.5
3) Figure to the right side indicate full marks.

PA-2901 [Total No. of Pages : 4

SEAT No. :

Q1) Fill in the blanks by selecting a suitable choice (any 6) [6]

a) Public law includes_______ law.

i) Administrative

ii) Constitution

iii) All of these

b) ____ means selling the products at a price less than on going price in the
market.

i) Quota

ii) Tariff

iii) Dumping

c) International trade and domestic trade differ because of ______

i) Different government policies

ii) Immobility of factors

iii) All of the above

d) The term euro currency market refers to______

i) The market where the borrowing and lending of currencies takes
place out side the country of issue

ii) The international foreign exchange market

iii) The countries which have adopted Euro as their currency.

P.T.O.
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e) transportation cost of trade affects:_______

i) Pattern of trade

ii) Global supply chain

iii) All of the above

f) What’s an arbitrator’s role?

i) Sit and talk

ii) Act like a judge

iii) Acts like a jury.

g) The Eight round of GATT is called as_______

i) Uruguay Round

ii) Genera Round

iii) Toky Round

h) The wildlife protection act was enacted in the year______

i) 1972

ii) 1977

iii)  1981

Q2) What is the international business? Explain the objectives and nature of
International business. [14]

Q3) What is mean by international trade? Explain the origine and nature of
international trade. [14]

Q4) Write notes on clean development mechanism and carbon credit. [14]

Q5) What is the international commercial Dispute resolution mechanism? explain
the international court of justice and it’s juris diction. [14]

Q6) Write short notes (any two). [12]
a) Codification of international law.

b) Foreign direct investment.

c) International payments.

d) International court of Justice and it’s jurisdiction.


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Total No. of Questions : 6]

[5956]-305
M.Com. - II

BUSINESS LAW (COMMERCIAL  LAWS)
305 : Law Relating to International Business

(2019 Credit Pattern) (Semester - III) (Group - B)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 bm Am{U àíZ H«$. 6 dm A{Zdm¶© Amho.
2) àíZ H«$. 2 Vo àíZ H«$. 5 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dmdo.
3) àíZnÌrHo$Vrb COì¶m ~mOyMo A§H$ ‘mH©$ Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-2901

à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aº$ OmJm ^am. (H$moUVohr ghm) [6]

A) gmd©O{ZH$ H$m¶Xm .................... H$m¶Xm g‘m{dï> H$aVmo.
i) àemgZ
ii) g§{dYmZ
iii) darb gd©

~) ................. åhUOo ~mOmamVrb qH$‘Vrnojm H$‘r {H$‘VrV CËnmXZo {dH$Uo.
i) H$moQ>m
ii) Am¶mV ‘mbmdarb OH$mV
iii) S>§qnJ

H$) Am§Vaamï´>r¶ ì¶mnma Am{U Xoem§VJ©V ì¶mnma ..................... ‘wio {^Þ AmhoV.
i) {d{dY gaH$mar YmoaUo
ii) KQ>H$m§Mr pñWaVm
iii) darb gd©

S>) ¶wamo MbZ ~mOma ¶m eãXmMm g§X ©̂ .................... Amho.
i) ~mOma OoWo MbZm§Mo H$O© KoUo Am{U XoUo Omar Ho$boë¶m Xoem~mhoa hmoVo
ii) Am§Vaamï´>r¶ naH$s¶ MbZ ~mOma
iii) Á¶m Xoem§Zr ¶wamo ho MbZ pñdH$mabo Amho

B) ì¶mnmamÀ¶m dmhVyH$ IMm©da n[aUm‘ hmoVmo..................
i) ì¶mnmamMm Z‘wZm
ii) OmJ{VH$ nwadR>m gmIir
iii) darb gd©
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’$) bdmXmMr ŷ{‘H$m H$m¶ Amho?

i) ~gm Am{U ~mobm

ii) Ý¶m¶mYremgmaIo H$m‘ H$aVo

iii) Á¶wargmaIo H$m‘ H$aVo

¶) GATT À¶m AmR> ’o$arbm ....................... Ago åhUVmV.

i) Cê$½do ’o$ar

ii) {O{Zìhm ’o$ar

iii)  Q>mo{H$¶mo ’o$ar

a) dÝ¶Ord g§ajU H$m¶Xm ........................... gmbr bmJy H$aÊ¶mV Ambm.

i) 1972

ii) 1977

iii) 1981

à.à.à.à.à.2) Am§Vaamï´>r¶ ì¶dgm¶ åhUOo H$m¶? Am§Vaamï´>r¶ ì¶dgm¶mMo C{Ôï>ço Am{U ñdê$n ñnï> H$am. [14]

à.à.à.à.à.3) Am§Vaamï´>r¶ ì¶mnmamMm AW© H$m¶ Amho? Am§Vaamï´>r¶ ì¶mnmamMr CËnÎmr Am{U ñdê$n ñnï> H$am. [14]

à.à.à.à.à.4) ñdÀN> {dH$mg ¶§ÌUm Am{U H$m~©Z Ho«$S>rQ> ¶mda {Q>n {bhm. [14]

à.à.à.à.à.5) Am§Vaamï´>r¶ ì¶mdgm{¶H$ {ddmX {ZamH$aU ¶§ÌUm H$m¶ Amho? Am§Vaamï´>r¶ Ý¶m¶mb¶ Am{U Ë¶mMo A{YH$ma
joÌ ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) Am§Vaamï´>r¶ H$m¶XçmMo g§{hVrH$aU

~) WoQ> naH$s¶ J§wVdUyH$

H$) Am§Vaamï´>r¶ Xo¶Ho$

S>) Am§Vaamï´>r¶ Ý¶m¶mb¶ Am{U Ë¶mMo A{YH$ma joÌ





Q1) Fill in the blanks by selecting a suitable choice (Any 6) : [6]

a) Which one of the following is the Global Internation Organisation deal-
ing with the rules of trade between nations?

i) International Monetary fund

ii) World Trade Organisation

iii) World Bank

b) The World Trade Organisation was established under __________
rounds.

i) Doha Round

ii) Uruguay Round

iii) Geneva Round

c) India got the membership of WTO in __________.

i) 1950

ii) 1995

iii) 2000

Total No. of Questions : 6]

[Total No. of Pages : 6
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2) Solve any three questions from Q.No. 2 to Q.No. 5.
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d) Functions of the World Trade Organisation includes ___________.

i) Handling trade disputes

ii) Monitoring national trade policies

iii) Both the statements are correct

e) The Nairobi Package was adopted by the WTO that delivered benefi-
cial commitments to _________.

i) WTO's poorest members

ii) All developing countries

iii) All developed countries

f) Which of the following statements is correct?

i) WTO is not a UN specialized agency

ii) WTO is a UN specialized agency

iii) Headquarters of the WTO is located in India

g) The Top most decision - making body of the WTO is _________.

i) The Ministerial conference

ii) The Executive council

iii) Trade Policy Review Body

h) __________ agreements deals with WTO.

i) Agreement on Agriculture

ii) Agreement on Terrorism

iii) Agreement on Tourism

Q2) Explain the objectives and Relevance of GATT at Present. [14]

Q3) Explain the objectives and basic principles of the WTO Trading System.
[14]
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Q4) Write a note on WTO General Agreement on Trade in Service (GATS) and
Antidumping Agreement. [14]

Q5) Explain the WTO Disputes Settlement Mechanism. [14]

Q6) Write short notes (Any Two) : [12]
a) GATT Tariff Negotiations

b) WTO and Global Economic Policy making

c) Ministerial conference and General council of WTO

d) Elements of disputes settlement


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[5956]-306
M.Com. (Part - II)

306 : WORLD TRADE ORGANISATION-NORMS
& PRACTICES

(Commercial Laws & Practices) Group B
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(_amR>r ê$nm§Va)
doi : 3 Vmg     ] [ EHy$U JwU : 60
gyMZm:

1) à. H«$. 1 Am{U 6 A{Zdm ©̀ AmhoV.
2) à. H«$. 2 Vo à. H«$. 5 n ©̀V H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

PA-2902

àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aH$må`m OmJm ^am. (H$moUVohr 6) … [6]
A) Imbrbn¡H$s H$moUVr OmJ{VH$ Am§Vaamḯ>r` g§ñWm amḯ>m-amḯ>m§_Yrb ì`mnmamMo {Z`_Z hmVmiVo?

i) Am§Vaamï´>r` ZmUo{ZYr

ii) OmJ{VH$ ì`mnma g§KQ>Zm

iii) OmJ{VH$ ~±H$

~) OmJ{VH$ ì`mnma g§KQ>ZoMr ñWmnZm ................. `m \o$ar_Ü ò Pmbr.

i) Xmohm \o$ar

ii) Cê$½do \o$ar

iii) {O{Zìhm \o$ar

H$) ^maVmbm OmJ{VH$ ì`mnma g§KQ>ZoMo gXñ`Ëd .................. _Ü ò {_imbo.

i) 1950

ii) 1995

iii) 2000

S>) OmJ{VH$ ì`mnma g§KQ>ZoÀ`m H$m`m©_Ü ò ................. `m§Mm g_mdoe hmoVmo.

i) ì`mnma {ddmh hmVmiUr

ii) amï´>r` ì`mnma YmoaUm§Mo {ZarjU H$aUo

iii) XmoÝhr {dYmZo ~amo~a Amho

4 P.T.O.
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`) Z¡amo~r n°Ho$O OmJ{VH$ ì`mnma g§KQ>ZoZo pñdH$mabo,  Á`mZo ............... `m§Zm \$m`Xoera
dMZ~ÕVm {Xbr.

i) OmJ{VH$ ì`mnma g§KQ>ZoMo gdm©V Jar~ gXñ`

ii) gd© {dH$gZerb Xoe

iii) gd© {dH${gV Xoe

a) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?

i) OmJ{VH$ ì`mnma g§KQ>Zm hr g§̀ wº$ amï´>m§Mr {deof g§ñWm Zmhr

ii) OmJ{VH$ ì`mnma g§KQ>Zm hr g§̀ wº$ amï´>m§Mr {deof g§ñWm Amho

iii) OmJ{VH$ ì`mnma g§KQ>ZoMo _w»`mb` ^maVmV Amho

b) ................. hr OmJ{VH$ ì`mnma g§KQ>ZoMr gdm©oƒ {ZU©̀  KoUmar g§ñWm Amho.

i) _§Ìr n[afX

ii) H$m ©̀H$mar n[afX

iii) ì`mnma YmoaU nwZamdbmoH$Z g§ñWm

d) ................ hm H$ama OmJ{VH$ ì`mnma g§KQ>Zoer g§~§{YV Amho.

i) H¥$fr H$ama

ii) XheVdmXmda H$ama

iii) n ©̀Q>ZmgmR>r H$ama

àíZ àíZ àíZ àíZ àíZ 2) J°Q>Mr C{Ôï> ò Am{U àg§{JH$Vm ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) OmJ{VH$ ì`mnma g§KQ>ZoÀ`m ì`mnma àUmbrMr C{Ôï> ò Am{U _yb ŷV VËdo ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) OmJ{VH$ ì`mnma g§KQ>ZoÀ`m godoVrb ì`mnmamdarb gm_mÝ` H$ama Am{U A±Q>r-S>§qnJ H$ama `mda
{Q>n {bhm. [14]

àíZ àíZ àíZ àíZ àíZ 5) OmJ{VH$ ì`mnma g§KQ>Zm {ddmX {ZnQ>mam §̀ÌUm ñnï> H$am. [14]
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àíZ àíZ àíZ àíZ àíZ 6) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr XmoZ) [12]

A) J°Q> OH$mV{df`H$ dmQ>mKmQ>r

~) OmJ{VH$ ì`mnma g§KQ>Zm Am{U OmJ{VH$ Am{W©H$ YmoaUm§Mr {Z{_©Vr

H$) OmJ{VH$ ì`mnma g§KQ>ZoMr _§Ìr n[afX Am{U gm_mÝ` n[afX

S>) {ddmX {ZdmaU VËdo


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[5956]-307
S.Y. M.Com. (Semester - III)

ADVANCED COST AUDITING AND COST SYSTEM
Cost Audit

(2019 Pattern) (Special Paper - V)
Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No. 1 and Question No. 6 are compulsory.
2) Solve any Three questions from Question No. 2 to Question No. 5.
3) Figures to the right side indicate full marks.

PA-4188

Q1) Fill in the blanks by selecting suitable choice (any 6 out of 8) : [6]
i) Cost Audit Presupposes of ________ Accounts.

a) Cost b) Management
c) Tax d) Cash

ii) Cost Audit provides reliable cost for __________.
a) Management b) Financial
c) Managerial d) Flexible

iii) Social Audit is the examination of _________ accounting.
a) Financial responsibility b) Managerial responsibility
c) Management responsibility d) Social responsibility

iv) The Efficiency Audit and Propriety Audit are parts of ________ audit.
a) Cost b) Accounting
c) Social d) Management

v) The __________ Auditor does not comment on the performance
efficiency of the company.
a) Cost b) Tax
c) Management d) Financial

vi) _______ audit is a necessity and a luxury.
a) Cost b) Management
c) Financial d) Statutory

SEAT No. :

P.T.O.
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vii) A Cost Auditor normally relies on _________ evidence.
a) Confidential b) Persuasive
c) Financial d) Tax

viii) Qualification to report are given by _________ in his audit report.
a) Management Auditor b) Cost Auditor
c) Tax Auditor d) Financial Auditor

Q2) Define the term Cost Audit. State the scope and objectives of Cost Audit.[14]

Q3) Define Cost Auditor. State the Qualification and Disqualifications of Cost
Auditor. [14]

Q4) What is Cost Audit Plan? State the important items to be included in the list of
records and reports. [14]

Q5) Explain the term Cost Audit Notes. State the Contents of Cost Audit Working
Papers. [14]

Q6) Write short notes (Any 2 out of 4) : [12]
a) Types of Cost Audit
b) Remuneration of the Cost Auditor
c) Verification of Records and Material
d) Cost Audit Report





Q1) Fill in the Blanks (Attempt any six) : [6]

1) Management audit is useful for __________.

a) Suggestions for targets

b) Assistance to management

c) Good staff relationship

d) All of the above

2) Management Audit is the Auditing of Management

a) Performance b) Practice

c) Policies d) Planning

3) The term Management Audit and ________ Audit is considered to be
the same thing.

a) Internal Audit b) External Audit

c) Statutory Audit d) Balance sheet Audit

4) Which is not a Content of Management Audit Reports.

a) Title b) Findings

c) Conclusion d) Operations

Total No. of Questions : 6]

[Total No. of Pages : 3

[5956]-308
S.Y. M.Com. (Part - II)

ADVANCED COST ACCOUNTING AND COST SYSTEM
308 : MANAGEMENT AUDIT

(2019 Pattern) (CBCS) (Semester - III)

Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No. 1 and question No. 6 are compulsory.
2) Solve any three questions from Q.No. 2 to Q.No. 5.
3) Figures to the right indicate full marks.

PA-4196
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5) Which is the first step in the process of Management Audit

a) Review of Production Process

b) Review of Management System and Processes

c) Review of General Management

d) Review of Selling and Distribution

6) Corporate Services are the___________ of a company

a) support infrastructure

b) infrastructural development

c) support system

d) support programme

7) An Audit of Public Responsibility is a part of _______ Audit.

a) Government b) Management

c) Social d) Public

8) Operational Audit focuses on ___________

a) Financial Reporting objectives such as GAAP.

b) Corporate standards of business conduct, internal policies; specific
laws and regulations.

c) Mission, Vision, and Objectives of the Organization and its
management.

d) Formulation of plan and policies.

Q2) What is Management Audit? State its objectives and Importance. [14]

Q3) What is Management Audit Programme? Explain in detail outlines of
Management Audit Programme. [14]

Q4) What is Corporate Development Audit? Explain its scope & characteristics.
[14]

Q5) What is an Operational Audit? Explain in detail Reporting under Operational
Audit. [14]
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Q6) Write Short Notes (Any Two) : [12]

a) Benefits of Management Audit

b) Contents of Management Audit Report

c) Evaluation of Human Resource Development

d) Corporate Image


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309 - Co-operative Credit System

(CBCS) (2019 Pattern) (Semester - III)

Time :3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No-1 & questions no-6 are compulsory.
2) Solve any three questions from questions No.2 to question No.5
3) Figure to the right side indicate full marks.

PA-2905 [Total No. of Pages : 4

SEAT No. :

Q1) Fill in the blanks by selecting suitable choice (any 6 out of 8). [6]

a) Primary co-operative credit societies working at_______ level.

i) State ii) District
iii) Village iv) Tahsil

b) _______ Regulates the activities of district central co-operative Bank.

i) RBI ii) SCB

iii) SEBI iv) SIDBI

c) An agreement in which lender supplies the borrower money or Goods in
return for promise of future payment refers to________

i) Deposit ii) Credit

iii) Collateral iv) Mortgage

d) _______ source of rural credit has low interest rate

i) Bank ii) Co-operative society.

iii) Money lender iv)  Finance company

e) Co-operative banks in India have a ________

i) Two tier system ii) Three tier system

iii) Four tier system iv) Five tier system

P.T.O.
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f) The District central bank was established at _______in 1910

i) Mumbai ii) Ahmedabad

iii) Chennai iv) Ajmer

g) NABARD has developed_______ for rural banking

i) ATM ii) Core banking

iii) Roads iv) Infrastructure

h) _________ is the full form of DCCB

i) District co-operative credit Bank

ii) District central co-operative Bank

iii)  District central collateral Bank

iv) District co-operative central Bank

Q2) What is mean by rural credit? Explain the need of institutional credit. [14]

Q3) Explain the advantages and disadvantages short term and medium term loans
[14]

Q4) Explain the structure of Co-operative credit system. [14]

Q5) Explain the need and objectives of rural Co-operative banks. [14]

Q6) Write short notes (any 2 out of 4) [12]

a) Short term credit.

b) Federal co-operative credit.

c) State Co-operative bank.

d) Sources of rural credit.


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Total No. of Questions : 6]

[5956]-309
M.Com. (Part - II)

CO-OPERATION AND RURAL DEVELOPMENT
309 - Co-operative Credit System

(CBCS) (2019 Pattern) (Semester - III)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 bm Am{U àíZ H«$. 6 dm A{Zdm¶© Amho.
2) àíZ H«$. 2 Vo àíZ H«$. 5 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dmdo.
3) àíZnÌrHo$Vrb COì¶m ~mOyMo A§H$ ‘mH©$ Xe©{dVmV.

PA-2905

à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUVohr ghm) [6]

A) àmW{‘H$ ghH$mar nVg§ñWm ................... nmVirda H$m‘ H$aVmV.

i) amÁ¶ ii) {Oëhm

iii) Jmd iv) VmbwH$m

~) {Oëhm ‘Ü¶dVu ghH$mar ~±H$m§Mr H$m¶©dmhr .............. {Z¶§{ÌV H$aVo.

i) Ama~rAm¶ ii) Eggr~r

iii) go~r iv) grS>~r

H$) YZH$mo G UH$mobm ^{dî¶mV naV’o$S>rÀ¶m dMZmda n¡go qH$dm dñVy XoÊ¶mMm H$ama åhUOo
................ hmo¶.

i) R>od ii) nV

iii) g§b¾ iv) VmaU

S>) .............. ¶m J«m‘rU {dÎm nwadR>çmÀ¶m ñÌmoVmg H$‘r ì¶mOXa Amho.

i) ~±H$ ii) ghH$mar g§ñWm

iii) gmdH$ma iv) {dÎmr¶ H§$nZr

B) ^maVmVrb ghH$mar ~±H$m§Mr ¶§ÌUm .................. Amho.

i) {ÛñVar¶ ii) {ÌñVar¶

iii) Mma ñVar¶ iv) nmM ñVar¶
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’$) 1910 ‘Ü¶o nhrbr {Oëhm ‘Ü¶dVu ghH$mar ~±H$m ................. ¶oWo ñWmnZ Pmbr.

i) ‘w§~B© ii) Ah‘Xm~mX

iii) MoÞB© iv) AO‘oa

¶) J«m‘rU ~±qH$JgmR>r Zm~mS>©Zo ........................ {dH$grV Ho$bo.

i) EQ>rE‘ ii) H$moAa ~±H$s¨J

iii) añVo iv) nm¶m ŷV gw{dYm

a) DCCB Mo nwU© ê$n ................. Amho.

i) District Co-operative Credit Bank

ii) District Central Co-operative Bank

iii)  District Central Collateral Bank

iv) District Co-operative Central Bank

à.à.à.à.à.2) J«m‘rU {dÎm åhUOo H$m¶? g§ñWmË‘H$ {dÎmmMr JaO ñnï> H$am. [14]

à.à.à.à.à.3) AënH$mbrZ Am{U ‘Ü¶‘H$mbrZ H$Om©Mo ’$m¶Xo-VmoQ>o gm§Jm. [14]

à.à.à.à.à.4) ghH$mar {dÎm g§§ñWm§Mr aMZm ñnï> H$am. [14]

à.à.à.à.à.5) J«m‘rU ghH$mar ~±H$m§Mr JaO Am{U d¡{eï>²¶o ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) AënH$mbrZ H$O©

~) ’o$S>ab ghH$mar {dÎm

H$) amÁ¶ ghH$mar ~±H$

S>) J«m‘rU nVnwadR>çmMo ñÌmoV


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310 : Co-operative & Rural Banking System
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1) Question No.1 and question No. 6 are compulsory.
2) Solve any three questions from Question No.2 to Question No.5.
3) Figures to the right  indicate full marks.
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SEAT No. :

Q1) Fill in the Blanks by selecting suitable choice (Any 6 out of 8) [6]

a) The crop loan cannot be utilised to buy:-

i) Manure ii) Fertilizers

iii) Seeds iv) Farmhouse

b) The banks can provide secured loans under KCC scheme above the
amount of:-

i) 2 lakhs ii) 1.6 lakhs

iii) 1 lakh iv) 5 lakhs

c) MSC Bank was established in the year:-

i) 1931 ii) 1921

iii) 1911 iv) 1991

d) MSC  Bank povides services to DCCBS for investing their funds in
Government securities by opening:-

i) Constituent Subsidiery General Ledger Account

ii) Demat Account

iii) Current Account

iv) Recurring Accont

e) NABARD was established by the recommendations of  which committee?

i) Shivoraman committee ii) Narsimhan committee

iii) Rangarajan committee iv) K. P. committee

P.T.O.
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f) How many representatives from RBI are included in the Board of
NABARD?

i) 2 ii) 3

iii) 5 iv) 8

g) Which of the following is not the function of RBI?

i) Bank of the Banks

ii) Credit controller

iii) Custodian of foreign currency

iv) Allocation of funds directly to farmers for agriculture

h) Who was the first Governer of RBI from Indian Origin?

i) Osborne Smith ii) L. K. Jha

iii) C. Rajagopalachari iv) C. D. Deshmukh

Q2) Explain the types and disbursement of crop loan system of Co-Operative
Banks. [14]

Q3) Explain the progress and problems of Maharashtra state Co-Operative Bank
in agricultural credit. [14]

Q4) Evaluate the performance of NABARD in Agricultural finance. [14]

Q5) Describe the  role of National federation of state Co-Operative Banks in
Co-operative credit. [14]

Q6) Write short notes on (Any two out of 4) [12]

a) Priority Sector Lending

b) Functions of MSC Bank

c) RBI funding to Co-Operative credit

d) Historical background of NABARD


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[5956]-310
M. Com. (Part - II)

CO-OPERATION & RURAL DEVELOPMENT
310 : Co-operative & Rural Banking System

(2019 Pattern) (CBCS) (Semester - III) (Group - D)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$‘m§H$ 1 d àíZ H«$‘m§H$ 6 A{Zdm¶© Amho.
2) àíZ H«$‘m§H$ 2 Vo àíZ H«$‘m§H$ 5 ‘Yrb H$moUVohr 3 àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-2906

à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z Jmiboë¶m OmJm ^am. (H$moUVohr 6) [6]

A) nrH$ H$O© ................ IaoXr H$aÊ¶mgmR>r dmnaVm ¶oV Zmhr.

i) IV ii) H$sQ>H$ZmeH$

iii) {~¶mUo iv) ’$m‘©hmD$g

~) {H$gmZ Ho«${S>Q> H$mS>© ¶moOZoA§VJ©V ~±H$m ..................... nojm Am{YH$ gwa{jV H$O© XoD$ eH$VmV.

i) 2 bmI ii) 1.6 bmI

iii) 1 bmI iv) 5 bmI

H$) E‘ Eg gr ~±Ho$Mr ñWmnZm Ho$ìhm Pmbr?

i) 1931 ii) 1921

iii) 1911 iv) 1991

S>) E‘.Eg.gr. ~±H$ S>r.gr.gr.~r. bm H$moUVo ImVo CKSy>Z Ë¶m§Mo n¡go gaH$mar {gH²$¶y[a{Q>O ‘Ü¶o
Jw§VdUyH$sgmR>r gw{dYm CnbãY H$ê$Z XoVmV.

i) ‘VXma g§KmVrb g~{gS>r OZab boOa ImVo

ii) {S>‘°Q> ImVo

iii) Mmby ImVo

iv) AdVu R>od ImVo

B) Zm~mS>©Mr ñWmnZm H$moUË¶m g{‘VrÀ¶m {e’$maerZo Ho$br Jobr hmoVr?

i) {edam‘Z g{‘Vr ii) Za{gåhZ g{‘Vr

iii) a§JamOZ g{‘Vr iv) Ho$. nr. g{‘Vr
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’$) Zm~mS>©À¶m ‘§S>im‘Ü¶o Ama.~r.Am¶. À¶m {H$Vr à{V{ZYtMm g‘mdoe AgVmo?

i) 2 ii) 3

iii) 5 iv) 8

¶) Imbrbn¡H$s H$moUVo Ama.~r.Am¶. Mo H$m¶© Zmhr?

i) ~±H$mMr ~±H$ ii) nV{Z¶§ÌU

iii) {dXoer MbZmMo g§ajU iv) eoVrgmR>r WoQ> eoVH$è¶m§Zm {ZYr dmQ>n

a) ^maVr¶ d§emMo [aPìh© ~±Ho$M n{hbo JìhZ©a H$moU hmoVo?
i) Amog~mooZ© pñ‘W ii) Eb.Ho$.Pm.

iii) gr. amOJmonmbmMmar iv) gr.S>r.Xoe‘wI

à.à.à.à.à.2) ghH$mar ~±H$m§À¶m {nH$ H$O©nÕVrMo àH$ma Am{U {dVaU ñnï> H$am. [14]

à.à.à.à.à.3) eoVr H$O©nwadR>²¶mVrb ‘hmamï´> amÁ¶ ghH$mar ~±H$mMr àJVr Am{U g‘ñ¶m ñnï> H$am. [14]

à.à.à.à.à.4) eoVr nwZ{d©Îm nwadR>²¶mVrb Zm~mS>©À¶m H$m‘{JarMo ‘wë¶‘mnZ H$am. [14]

à.à.à.à.à.5) amÁ¶ ghH$mar ~±H$m§À¶m amï´>r¶ g§KmMr ghH$mar nVnwadR>¶mVrb ŷ{‘Ho$Mo dU©Z H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) àmYmÝ¶ joÌ H$O©nwadR>m

~) ‘hmamï´> amÁ¶ ghH$mar ~±Ho$Mr H$m¶}

H$) [aPìh© ~±Ho$Mm ghH$mar {Z{Y nwadR>m

S>) Zm~mS>©Mr Eo{Vhm{gH$ nmíd©̂ y‘r


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311 : ENTREPRENEURIAL BEHAVIOUR
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Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No. 1 & question No. 6 are compulsory.
2) Solve any three questions from question No. 2 to question No. 5
3) Figure to the right side indicate full marks.

PA-2907 [Total No. of Pages : 4

SEAT No. :

Q1) Fill in the blanks by selecting suitable choice (Any 6 out of 8) : [6]
a) ______ can be defined as a set of behaviors that an individual exhibits

which allows them to innovate and/or improve upon existing ideas to
market a product or service effectively in a competitive market.
i) Personal behavior
ii) Group behavior
iii) Entrepreneurial behavior

b) An individual who starts, creates and manages a new business can be
called __________
i) A leader
ii) An entrepreneur
iii) A manager

c) The use of informal networks by entrepreneurs to gather information is
known as ________
i) Secondary research
ii) Marketing
iii) Entrepreneurial networking

d) Many entrepreneurs choose to start businesses by themselves
because_________
i) Coordination is less complicated
ii) Profits will go only to the founder
iii) All of the above

e) ________ is not a personal characteristics often found in entrepreneurs.
i) Self-Confident
ii) Follower
iii) Perceptive

P.T.O.
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f) Entrepreneurship__________ provides individuals with the aptitude to
identify business opportunities, self-esteem, knowledge and skills to act
on them.

i) Training

ii) Organizing

iii) Controlling

g) _______ problems faced by entrepreneurs  in india while starting their
their business.

i) Financing

ii) Coordinating

iii) Controlling

h) Training aimed at developing entrepreneurial competence in potential
individuals is called________

i) an entrepreneurial training

ii) Online training

iii) Offline training

Q2) What is entrepreneurship? Explain the qualities of an entrepreneur. [14]

Q3) Explain in details the problems in entrepreneurship. [14]

Q4) Explain in details the importance of trainer in entrepreneurship. [14]

Q5) Explain the market survey tools and techniques. [14]

Q6) Write short notes (any 2 out of 4) [12]

a) Training methodologies.

b) Skill required for entrepreneurship.

c) Qualification of trainer.

d) Selection of business opportunity.


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Total No. of Questions : 6]

[5956]-311
M.Com. - II

311 : ENTREPRENEURIAL BEHAVIOUR
(Credit 2019 Pattern)  (Semester - III)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 bm Am{U àíZ H«$. 6 dm A{Zdm¶© Amho.
2) àíZ H«$. 2 Vo àíZ H«$. 5 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dmdo.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

PA-2907

à.à.à.à.à.1) [aH$må¶m OmJm ^am. (H$moUVohr ghm) [6]

A) .................. EImÚm ì¶º$sMo àXe©Z H$aUmè¶m dV©Zm§Mm g§M åhUyZ n[a^m{fV Ho$bo OmD$
eH$Vo Oo Ë¶m§Zm CËnmXZ qH$dm godoMr ñnYm©Ë‘H$ ~mOmanoR>oV à^mdrnUo {dH«$s H$aÊ¶mgmR>r {dÚ‘mZ
H$ënZm§‘Ü¶o ZdZdrZ Am{U/qH$dm gwYmaUm H$aÊ¶mg AZw‘Vr XoVo.
i) d¡¶{º$H$ dV©Z
ii) g‘yh dV©Z
iii) CÚmoOH$s¶ dV©Z

~) ZdrZ ì¶dgm¶ gwê$ H$aUmar, {Z‘m©U H$aUmar Am{U ì¶dñWm{nV H$aUmar ì¶º$s ...........
åhUyZ AmoiIbr OmVo.
i) EH$ ZoVm
ii) EH$ CÚmoOH$
iii) EH$ ì¶dñWmnH$

H$) ‘m{hVr g§H${bV H$aÊ¶mgmR>r CÚmoOH$m§Ûmao AZm¡nMm[aH$ ZoQ>dH©$Mm dmna ................... åhUyZ
AmoiIbm OmVmo.
i) Xþæ¶‘ g§emoYZ
ii) {dnUZ
iii) CÚmoOH$ ZoQ>d{Hª$J

S>) AZoH$ CÚmoOH$ ñdV: ì¶dgm¶ gwê$ H$aUo {ZdS>VmV H$maU ................
i) g‘Ýd¶ H$‘r p³bï> Amho
ii) Z’$m ’$º$ g§ñWmnH$mg OmB©b
iii) darb gd©
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B) ................. ho CÚmoOH$m§‘Ü¶o AmT>iUmao d¡¶{º$H$ d¡{eï>ç Zmhr.
i) AmË‘{dídmg
ii) AZw¶m¶r
iii) kmZ|{Ð¶

’$) CÚmoOH$Vm ............... ì¶º$s̈Zm ì¶dgm¶mÀ¶m g§Yr, ñdm{^‘mZ, kmZ Am{U H$m¡eë¶o AmoiIÊ¶mMr
j‘Vm àXmZ H$aVo.
i) à{ejU
ii) Am¶moOZ
iii) {Z¶§ÌU

¶) ............... hm ^maVmVrb CÚmoOH$m§Zm Ë¶m§Mm ì¶dgm¶ gwê$ H$aVmZm ¶oUmar g‘ñ¶m Amho.
i) {dÎmnwadR>m
ii) g‘Ýd¶H$
iii) {Z¶§ÌU

a) g§̂ mì¶ ì¶º$s¨‘Ü¶o CÚmoOH$s¶ j‘Vm {dH${gV H$aÊ¶mÀ¶m CX²XoemZo à{ejUmbm ................
åhUVmV.
i) EH$ CÚmoOH$ à{ejU
ii) Am°ZbmBZ à{ejU
iii) Am°’$bmBZ à{ejU

à.à.à.à.à.2) CÚmoOH$Vm åhUOo H$m¶? CÚmoOH$mMo JwU g‘OmdyZ gm§Jm. [14]

à.à.à.à.à.3) CÚmoOH$VoVrb g‘ñ¶m Vnerbdma g‘OmdyZ gm§Jm. [14]

à.à.à.à.à.4) CÚmoOH$Vo‘Ü¶o à{ejH$mMo ‘hÎd Vnerbdma gm§Jm. [14]

à.à.à.à.à.5) ~mOma gd}jU gmYZo Am{U V§Ìo ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (4 n¡H$s H$moUË¶mhr 2) [12]

A) à{ejU nÕVr
~) CÚmoOH$VogmR>r Amdí¶H$ H$m¡eë¶o
H$) à{ejH$mMr nmÌVm
S>) ì¶dgm¶ g§YrMr {ZdS>





Total No. of Questions : 6]

[5956]-312
M. Com. (Part- II)

BUSINESS PRACTICES & ENVIRONMENT
312 : Entrepreneurship

(2019 Pattern) (CBCS) (Semester - III) (GROUP- E)

Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Q. 1 & Q. 6 are compulsory.
2) Solve any 3 questions from Q. No. 2 to Q. No. 5.

PA-2908 [Total No. of Pages : 4

SEAT No. :

Q1) Fill in the Blanks . (Any 6 out of 8) [6]

i) In______industries labour fource consists of family members

a) Small scale

b) Large scale

c) Cottage

d) Medium scale

ii) The period  between setting up of an industry and its actual production
is called_________

a) Registration

b) Starting

c) Dissolution

d) Gestation

iii) In india______is the apex body for the promotion of small scale
industries.

a) SIDCO

b) MIDC

c) SEBI

d) IDBI

iv) What is the element for indentification of entrepreneurial opportunities?

a) Assets

b) Expenditure

c) Profit

d) Market

P.T.O.
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v) Any business dealing with consumables product must obtain _____
perimet
a) Transport
b) Health
c) Construction
d) Vehicle

vi) Examination of project and associated operations is known as ______
a) Project analysis
b) Ratio analysis
c) Project audit
d) Testing of product

vii) ______provides SWOT analysis
a) Project report
b) Project sheet
c) Business pland
d) Bills of exchange

viii) Which organisation is established for weakeer section of the society
a) Bank
b) Co- operative society
c) Pathpedi
d) Companies

Q2) What is entrepreneurship development? Explain challenges in entrepreneurship
development. [14]

Q3) Explain District Industrial centre and SIDBI. Explain in detail role of SIDBI in
development of small industries. [14]

Q4) Explain the concept of creativity & innovation how creativity helps in problem
solving. [14]

Q5) What is business plan? How do you prepare business plan. [14]

Q6) Write short notes on (Any 2 out of 4) [12]
a) Contents of business plan
b) Role of innovation in developing new business markets
c) Explain IDBI and MCED
d) Dot com entrepreneurship


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Total No. of Questions : 6]

[5956]-312
M. Com. (Part- II)

BUSINESS PRACTICES & ENVIRONMENT
312 : Entrepreneurship

(2019 Pattern) (CBCS) (Semester - III)  (GROUP- E)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$.1 d àíZ H«$.6 gmoS>{dUo A{Zdm¶© Amho.
2) àíZ H«$. 2 Vo 5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.

à.à.à.à.à.1) [aH$må¶m OmJm ^am. (8 n¡H$s H$moUVohr 6) [6]

i) ................. CÚmoJm§‘Ü¶o ‘Zwî¶~im‘Ü¶o Hw$Qw>§~mVrb gXñ¶m§Mm g‘mdoe hmoVmo.

A) bKw CÚmoJ ~) ‘moR>o CÚmoJ

H$) Hw$Q>ramoÚmoJ S>) ‘Ü¶‘ CÚmoJ

ii) ì¶dgm¶mMr ñWmnZm Am{U Ë¶mMo àË¶mj CËnmXZ ¶m XmoÝht‘Yrb H$mbmdYrbm .............. Ago
åhUVmV.

A) Zm|XUr ~) gwê$dmV

H$) g‘márS>) {Z{‘©Vr nyd© H$mbmdYr

iii) bKw CÚmoJm§Zm àmoËgmhZ XoÊ¶mgmR>r ................. hr gdm}ƒ qH$dm {eIa g§ñWm ^maVm‘Ü¶o
H$m¶aV Amho.

A) Eg.Am¶.S>r.gr.Amo. ({gS>>H$mo) ~) E‘.Am¶.S>r.gr.

H$) go~r S>) Am¶.S>r.~r.Am¶.

iv) CÚmoOH$Vm g§Yr gmoYÊ¶mMm KQ>H$ H$moUVm?

A) ‘mb‘Îmm ~) IM©

H$) Z’$m S>) ~mOmanoR>

v) Cn^mo½¶ dñVy§À¶m g§~§YrV H$moUË¶mhr ì¶dgm¶mZo .................. nadmZm {‘i{dUo Amdí¶H$
Amho.

A) dmhVyH$ ~) Amamo½¶

H$) ~m§YH$m‘ S>) dmhZ

PA-2908
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vi) àH$ën Am{U g§~§{YV {H«$¶m§Mr VnmgUr ............... åhUyZ AmoiIbr OmVo.

A) àH$ën {díbofU ~) JwUmoÎma {díbofU

H$) àH$ën A§Ho$jU S>) CËnmXZmMr MmMUr
vii) .................. ‘wio SWOT A°Zm{b{gg H$aUo e³¶ hmoVo.

A) àH$ën Ahdmb ~) àH$ën nÌH$

H$) àH$ën AmamIS>m S>) {d{Z‘¶ nmdVr
viii) g‘mOmÀ¶m Xþ~©b KQ>H$m§gmR>r ............... g§KQ>Zm ñWmnZm Ho$bobr Amho.

A) ~¢H$ ~) ghH$mar g§KQ>Zm

H$) nVnoT>r S>) H§$nZr

à.à.à.à.à.2) "CÚmoOH$Vm {dH$mg' åhUOo H$m¶? CÚmoOH$Vm {dH$mgmVrb AmìhmZo ñnï> H$am. [14]

à.à.à.à.à.3) "{Oëhm Am¡Úmo{JH$ H|$Ð Am{U Eg.Am¶.S>r.~r. Am¶' ¶km§ ñnï> H$am. Eg.Am¶. S>r.~r.Am¶. Mr bKw
CÚmoJm§À¶m {dH$mgmVrb ŷ{‘H$m g{dñVa ñnï> H$am. [14]

à.à.à.à.à.4) gO©ZerbVm Am{U ZdH$ënZm ¶m g§H$ënZm ñnï> H$am. g‘ñ¶m gmoS>{dÊ¶mgmR>r gO©ZerbVm H$er ‘XV
H$aVo? [14]

à.à.à.à.à.5) "ì¶dgm¶ ¶moOZm' åhUOo H$m¶? Vwåhr ì¶dgm¶ ¶moOZm H$er V¶ma H$amb? [14]

à.à.à.à.à.6) {Q>nm {bhm. (Mma n¡H$s H$moUË¶mhr XmoZ) [12]

A) ì¶dgm¶ ¶moOZoMo KQ>H$

~) Z{dZ ì¶dgm¶ ~mOmanoR> {dH$mgmVrb ZdH$ënZoMr ŷ{‘H$m

H$) "Am¶.S>r.~r.Am¶. Am{U E‘.gr.B©.S>r.' ñnï> H$am.

S>) S>m°Q> H$m°‘ CÚ‘erbVm





Total No. of Questions :6]

[5956]-313
M.Com. - II

313 : HUMAN RESOURCE MANAGEMENT
(CBCS 2019 Pattern) (Semester - III)

Time :3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No.1 & question No.6 are compulsory.
2) Solve any three questions from questions No.2 to question No.5
3) Figure to the right side indicate full marks.

PA-2909 [Total No. of Pages : 4

SEAT No. :

Q1) Fill in the blanks with the most appropriate alternative (any 6) [6]

a) Human Resource Management is ________

i) Employee focused

ii) Owner focused

iii) Laws focused

b) The classification of objectives of HRM is done like______

i) Individual objectives

ii) Functional objectives

iii) All of these

c) Selection process includes all elements, except________

i) Job analysis

ii) Supervision

iii) Human Resource Planning

d) The selection of candidate for specific post is done through________

i) Target population

ii) Internal source

iii) External Source

e) ________ Function is not done through Human Resource Department.

i) Employee relation

ii) Training & Development

iii) Accounting
P.T.O.
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f) ______ is needed for performance appraisal.

i) Job Rotation

ii) Development

iii) Job Analysis

g) The benefit of virtual organization is ________ during covid-19 pandemic.

i) Priority for security

ii) Simplicity in management

iii) All of these

h) The purpose of E--Selection is _______

i) Reduction in cost

ii) Eternity

iii) All of these

Q2) What is Human Resource Management? Explain the functions of Human
Resource Management. [14]

Q3) Define selection. State process of selection in detail. [14]

Q4) What is training? Explain the importance and methods of training. [14]

Q5) Explain the recent trends in Human Resource Management after Covid-19[14]

Q6) Write short notes (any 2) [12]

a) Workforce diversity

b) Recruitment.

c) Job description

d) E-HR


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Total No. of Questions : 6]

[5956]-313
M.Com. - II

313 : HUMAN RESOURCE MANAGEMENT
(CBCS 2019 Pattern) (Semester - III)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 bm Am{U àíZ H«$. 6 dm A{Zdm¶© Amho.
2) àíZ H«$. 2 Vo àíZ H«$. 5 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dmdo.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-2909

à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aº$ OmJm ^am. (H$moUVohr ghm) [6]

A) ‘mZd g§gmYZ ì¶dñWmnZ ho .................... Amho.
i) H$‘©Mmar H§o${ÐV
ii) ‘mbH$ H§o${ÐV
iii) H$m¶Xo H|${ÐV

~) ‘mZd g§gmYZ ì¶dñWmnZmÀ¶m C{Ôï>m§Mo dJuH$aU ho ................... à‘mUo Ho$bo OmVo.
i) ì¶{º$JV C{Ôï>²ço
ii) H$m¶m©Ë‘H$ C{Ôï>ço
iii) darbn¡H$s gd©

H$) {ZdS> à{H«$¶o‘Ü¶o gd© ~m~tMm g‘mdoe hmoVmo, na§Vw ................ ¶m KQ>H$mMm g‘mdoe hmoV Zmhr.
i) H$m¶© {díbofU
ii) n¶©dojU
iii) ‘mZd g§gmYZ {Z¶moOZ

S>) EImÚm {d{eï> nXmgmR>r EImÚm AO©XmamMr {ZdS> hr ................... À¶m Ûmao Ho$br OmVo.
i) bú¶ OZg§»¶m
ii) A§VJ©V ñÌmoV
iii) ~mhç ñÌmoV

B) ‘mZd g§gmYZ {d^mJmV’}$ ............... H$m¶© nma nmS>bo OmV Zmhr.
i) H$‘©Mmar g§~§Y
ii) à{ejU Am{U {dH$mg
iii) boIm§H$Z
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’$) H$m¶©j‘Vm ‘yë¶m§H$ZmgmR>r ................ Mr Amdí¶H$Vm Amho.

i) H$m¶© AmdV©Z

ii) {dH$mg

iii) H$m¶© {díbofU

¶) H$mo{dS>-19 ¶m ‘hm‘marÀ¶m H$mim‘Ü¶o Am^mgr g‘yhm§Mm ’$m¶Xm .................. Agm Amho.

i) gwa{jVVobm àmYmÝ¶

ii) ì¶dñWmnZmVrb ghOVm

iii)  darbn¡H$s gd©

a) B©-{ZdS>rMm hoVy ................... Amho.

i) ì¶¶ H$nmV H$aUo

ii) emœVVm

iii) darbn¡H$s gd©

à.à.à.à.à.2) ‘mZd g§gmYZ ì¶dñWmnZ åhUOo H$m¶? ‘mZd g§gmYZ ì¶dñWmnZmMr H$m¶} ñnï> H$am. [14]

à.à.à.à.à.3) H$‘©Mmar {ZdS>rMr ì¶m»¶m Úm. H$‘©Mmar {ZdS>rMr à{H«$¶m g{dñVa ñnï> H$am. [14]

à.à.à.à.à.4) à{ejU åhUOo H$m¶? à{ejUmMo ‘hÎd d nÕVr ñnï> H$am. [14]

à.à.à.à.à.5) H$mo{dS>-19 Z§Va ‘mZd g§gmYZ ì¶dñWmnZmVrb gÚH$mbrZ pñWVr ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) ‘Zwî¶~imVrb d¡{dÜ¶

~) H$‘©Mmar ^aVr

H$) H$m¶© dU©Z

S>) B©-EM Ama





Total No. of Questions : 6]

[5956]-314
M.Com-II

314 : ORGANIZATIONAL BEHAVIOUR
(2019 CBCS Pattern) (Semester - III)

Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Queston No. 1 and Question No. 6 are compulsory.
2) Solve any 3 questions from Question No. 2 to Question No. 5.
3) Figures to the right side indicate full Marks.

PA-2910 [Total No. of Pages : 4
SEAT No. :

Q1) Fill in the blanks by selecting suitable choice (any 6) [6]

a) Fundamental concepts of Organizational Behaviour revolve around _____

(The nature of human beings, The working of human beings, All of the
above)

b) Basis of “Autocratic Model” of OB is _____

(Economic resouces, Power Leadership)

c) Job Satisfaction have _____Related to Absenteeism and Turnover.

(Positively, Negatively, Directly)

d) The job satisfaction of an employee depends on the ______

(Behaviour, Attitude, Personality)

e) Motivation can be understood as an interaction between _____

(Arousal and Effort, Vactor and Valence, Life Space and Approach
gradient)

f) The first stage of motivational process is ______

(Drive state, Instrumental behaviour, Goal)

g) ______are the basic sources of stress.

(Environment, Psychological Factors, All of the above)

h) Belivers, attitudes, traditions and expectations which are shared by group
members is called _____

(Group norms, Group communication, Group cohesiveness)
P.T.O.
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Q2) Explain the five models of Organizational Behaviour. [14]

Q3) What is meant by ‘Attitude’? Explain the dimensions of attitude and attitude
change in detail. [14]

Q4) What is ‘Emotional Intelligence’? Explain the characteristics and Importance
of Emotional Intelligence in the workplae. [14]

Q5) What is meant by ‘Stress’? Explain the causes and effects of Stress. [14]

Q6) Write Short Notes (Any 2) [12]
a) Role of Information Technology in Organzation
b) Horizontal Network
c) Types of Motivation
d) Types of Groups


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Total No. of Questions : 6]

[5956]-314
M.Com-II

314 : ORGANIZATIONAL BEHAVIOUR
(2019 CBCS Pattern) (Semester - III)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60
gyMZm …- 1) àíZ H«$. 1 d àíZ H«$. 6 ho A{Zdm¶© AmhoV.

2) àíZ H«$. 2 Vo 5 ‘Yrb H$moUVohr 3 (VrZ) àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-2910

à.à.à.à.à.1) ¶mo½¶ n¶m©¶mMr {ZdS> H$ê$Z [aH$må¶m OmJm ^am. (H$moUË¶mhr ghm) [6]

i) g§KQ>ZmË‘H$ dV©ZmÀ¶m ‘yb ŷV g§H$ënZm ¶m .............. g^modVr {’$aVmV.

(‘mZdr ñd^mdmMo ñdê$n, ‘mZdr dV©ZmMr H$m¶©nÕVr, darb gd©)

ii) g§KQ>ZmË‘H$ dV©ZmÀ¶m hþHy$‘emhr àmê$nmMm ‘ybmYma ................ Amho.

(Am{W©H$ g§gmYZo, gÎmm, ZoV¥Ëd)

iii) H$m¶© g‘mYmZmMm AZwnpñWVr Am{U CbmT>mb ¶m§À¶mer ................... ñdê$nmMm g§~§Y AgVmo.

(gH$mamË‘H$, ZH$mamË‘H$, àË¶j)

iv) H$‘©Mm-¶mMo H$m¶© g‘mYmZ ho ............. KQ>H$mda Adb§~yZ AgVo.

(dV©Z, àd¥Îmr, ì¶{º$‘Ëd)

v) àoaUm åhUOo .............. ‘Ü¶o hmoUm-¶m Am§Va{H«$¶m Ago g§~moYbo OmVo.

(CÎmo{OVVm Am{U à¶ËZ, do³Q>a Am{U ìh°boÝg, bmB©’$ ñnog Am{U Ñ{ï>H$moZ KQ>H$)

vi) àoaUmË‘H$ à{H«$¶oMr n{hbr nm¶ar hr .................. Amho.

(MmbZm pñWVr, gmYZr ŷV dV©Z, Ü¶o¶)

vii) ............... ho VmUmMo ‘wb ŷV ñÌmoV AmhoV.

(n¶m©daU, ‘mZ{gH$ KQ>H$, darb gd©)

viii) g‘yhmVrb gXñ¶m§Ûmao {dídmg, àd¥Îmr, na§nam Am{U Anojm ¶m§Mr XodmU-KodmU Ho$br OmVo,
Ë¶mbm ................... Ago åhUVmV.

(g‘yh AQ>r, g‘yh g§XoedhZ, g‘yh ghH$m¶©)
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à.à.à.à.à.2) g§KQ>ZmË‘H$ dV©ZmMr nmM à{V‘mZo ñnï> H$am. [14]

à.à.à.à.à.3) ‘àd¥Îmr’ åhUOo H$m¶? àd¥ÎmrMo n¡by d àd¥Îmr ~Xb g{dñVa ñnï> H$am. [14]

à.à.à.à.à.4) ‘^md{ZH$ ~¥{Õ‘Îmm’ åhUOo H$m¶? ̂ md{ZH$ ~w{Õ‘ÎmoMr d¡{eï>²¶o d H$m‘mÀ¶m {R>H$mUr ̂ md{ZH$ ~w{Õ‘ÎmoMo
‘hËd ñnï> H$am. [14]

à.à.à.à.à.5) ‘VmU - VUmd’ åhUOo H$m¶? VmU - VUmdmMr H$maUo d n[aUm‘ ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr 2) [12]

A) g§KQ>Zo‘Ü¶o ‘m{hVr V§ÌkmZmMr ŷ{‘H$m

~) {j{VO g‘m§Va g§KQ>Zm

H$) àoaUoMo àH$ma

S>) g‘yhmMo àH$ma





Total No. of Questions : 6]

[5956]-315
M.Com. - II

315 : FOREIGN EXCHANGE
Advanced Banking & Finance

(2019 Credit Pattern) (Semester - III)

Time :3 Hours] [Max. Marks : 60
Instructions to the candidates :

1) Question No.1 & questions No.6 are compulsory.
2) Solve any three questions from questions No.2 to question No.5
3) Figure to the right side indicate full marks.

PA-2911 [Total No. of Pages : 4

SEAT No. :

Q1) Fill in the blanks by selecting suitable choice (any 6 out of 8) [6]

a) The foreign exchange market is _________

i) An over the counter market ii) Very competitive

iii) A centralized market iv) All of the above

b) The exchange rate is__________

i) The price of one currency relative to gold

ii) The value of currency relative to inflation

iii) The change in the value of money over time

iv) The price of one currency relative to another

c) ________ maintains the foreign exchange reserves in India.

i) Reserve Bank of India. ii) State Bank of India

iii) Ministry of Finance iv) EXIM Bank

d) Foreign exchange management Act was passed in the year________

i) 1997 ii) 1998

iii) 1999 iv) 2000

e) A bill of lading is a document______ to the goods

i) Expenditure ii) Asset

iii) Title iv) None of these

P.T.O.
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f) ________ is not a part of export document.

i) commercial invoice ii) Certification of origin

iii) Bill of entry iv) Mate’s receipt

g) EXIM Bank lending to foreign government is ________

i) Soft loan ii) Commercial loan

iii) Line of credit iv) Deferred loan

h) Extention period of credit for export is __________

i) 180 days ii) 220 days

iii)  90 days iv) 270 days

Q2) Explain in detail the structure of foreign Exchange market in India. [14]

Q3) Discuss the functions of foreign exchange market. [14]

Q4) Explain the objectives of Foreign Trade Policy of India. [14]

Q5) Describe the role of export import Bank of India. [14]

Q6) Write short notes (any 2) [12]

a) Call and put option.

b) NRE account

c) Bill of Exchange

d) Financing of Agri-Exports.


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Total No. of Questions : 6]

[5956]-315
M.Com. - II

315 : FOREIGN EXCHANGE
Advanced Banking & Finance

(2019 Credit Pattern) (Semester - III)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 bm Am{U àíZ H«$. 6 dm A{Zdm¶© Amho.
2) àíZ H«$. 2 Vo àíZ H«$. 5 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dmdo.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-2911

à.à.à.à.à.1) Jmiboë¶m OmJm ^am. (AmR>n¡H$s H$moUË¶mhr ghm) [6]

A) naH$s¶ MbZ ~mOmanoR>r hr ................... AgVo.

i) Ëd[aV {d{Z‘¶ H|$Ð ii) Iyn ñnYm©Ë‘H$

iii) H|$ÐrH¥$V ~mOmanoR> iv) darb gJio

~) {d{Z‘¶ Xa åhUOo ..............

i) gmoÝ¶mÀ¶m VwbZoV EH$m MbZmMr qH$‘V

ii) MbZdmT>rÀ¶m VwbZoV MbZ ‘yë¶

iii) H$mimÀ¶m AmoKmV n¡emÀ¶m ‘yë¶mV hmoUmam ~Xb

iv) EH$m MbZmÀ¶m VwbZoV Xþgè¶m MbZmMr qH$‘V

H$) ................... ^maVmVrb naH$s¶ MbZmMm gmR>m amIVmo.

i) ^maVr¶ [aPìh© ~±H$ ii) ñQ>oQ> ~±H$ Am°’$ B§{S>¶m

iii) {dÎm ‘§Ìmb¶ iv) Ep³P‘ ~±H$

S>) naH$s¶ MbZ ì¶dñWmnZ H$m¶Xm (FEMA) ............ gmbr g§‘V Pmbm.

i) 1997 ii) 1998

iii) 1999 iv) 2000

B) Zm¡^aUnÌ {~b åhUOo ‘mbmMo .............. XñVEodO AgVo.

i) IM© ii) ‘mb‘Îmm

iii) erf©H$ iv) darb H$mhr Zmhr
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’$) ............... hm {Z¶m©V XñVEodOmMm ^mJ Zmhr.

i) dm{UÁ¶H$ Xo¶H$ ii) CËnÎmr XmIbm

iii) àdoemMo nÌ iv) CnH$ámZmMr nmdVr

¶) Ep³P‘ ~±Ho$Z naXoer gaH$mabm {Xbobo H$O© ................. åhUyZ AmoiIbo OmVo.

i) gm°âQ> bmoZ ii) ì¶mdgm{¶H$ H$O©

iii) Ho«$S>rQ> bmBZ iv) ñW{JV H$O©

a) {Z¶m©VmgmR>r {Xboë¶m H$Om©Mm {dñVma H$mbmdYr ............... Amho.

i) 180 {Xdg ii) 220 {Xdg

iii) 90 {Xdg iv) 270 {Xdg

à.à.à.à.à.2) ^maVmVrb naH$s¶ MbZ ~mOmamMr aMZm Vnerbdma gm§Jm. [14]

à.à.à.à.à.3) naH$s¶ MbZ ~mOmamÀ¶m H$m¶mªda {dñV¥V MMm© H$am. [14]

à.à.à.à.à.4) ^maVmÀ¶m naH$s¶ ì¶mnma YmoaUmMr C{Ôï>o Vnerbdma gm§Jm. [14]

à.à.à.à.à.5) ^maVmÀ¶m {Z¶m©V Am¶mV ~±Ho$À¶m ŷ{‘Ho$Mo {dñV¥V dU©Z H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) H$m°b Am{U nwQ> n¶m©¶

~) NRE ImVo

H$) {d{Z‘¶mMr nmdVr

S>) H¥$fr {Z¶m©VrgmR>r {dÎmnwadR>m





Total No. of Questions : 6]

[5956]-316
M.Com. -II

ADVANCED BANKING AND FINANCE
316 : International Finance

(CBCS 2019 Pattern) (Semester - III) (Group - G)

Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No. 1 and Question No. 6 are compulsory.
2) Solve any Three Questions from Question No. 2 to Question No.5.
3) Figures to the right side indicate full marks.

PA-2912 [Total No. of Pages : 4
SEAT No. :

Q1) Fill in the Blanks by Selecting suitable choice. (Any Six) [6]
i) Maximum period for a commercial paper can be issued is _____

a) 3 months b) 6 months
c) 1 year d) 2 years

ii) The benefits of offshore banking is _____
a) Exemption from minimum Reserve Requirement
b) Freedom from control on interest rate
c) Low taxes and levies
d) All of above

iii) GDR stands for _____
a) Global Domestic Reports
b) Global Depository Receipts
c) General Depository Receipts
d) General Deposite Report

iv) Maturity period of Eurobonds are generally ______
a) Short period b) Medium and long period
c) Very few periods d) Too long period

v) ______facilitates the conversion of one country’s currency into another.
a) Commerical Bank b) Foreign Exchange
c) Forex Market d) NABARD

P.T.O.
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vi) S.D.R. Stands for ______
a) Specific Draft Rights
b) Special Deposits Rights
c) Special Drawing Rights
c) Safe Deposits Rights

vii) International Finance Corporation was established by World Bank Group
in ____
a) 1954 b) 1955
c) 1956 d) 1960

viii) The role of IMF does not include ______
a) Monitoring the proper conduct of the international monetary system
b) Lending to socially oriented projects
c) Financing temporary balance of payments deficits of member

countries
d) Providing source of liquidity to member countries

Q2) Explain International Money Transfer Mechanism. [14]

Q3) What is International Debit Market? Explain different types of Bonds in
International Debit Market. [14]

Q4) What is the Exchange Rate? Explain the Fixed Exchange Rate system. [14]

Q5) Explain Objectives and Functions of International Monetary Fund. [14]

Q6) Write Short Notes. (Any Two) [12]
a) Euro Notes
b) GDR
c) Floating exchanger rate
d) International Finance Corporation


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Total No. of Questions : 6]

[5956]-316
M.Com. -II

ADVANCED BANKING AND FINANCE
316 : International Finance

(CBCS 2019 Pattern) (Semester - III) (Group - G)
(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60
gyMZm …- 1) àý 1 H«$‘m§H$ Am{U àý H«$‘m§H$ 6 A{Zdm¶© AmhoV.

2) àý H«$. 2 nmgyZ àý H«$. 5 n¶ªV H$moUVohr VrZ àý gmoS>dm.
3) COì¶m ~mOyMo A§H$ nyU© JwU Xe©dVmV.

PA-2912

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr ghm) [6]
i) H$‘{e©¶b nona OmñVrV OmñV .............. H$mbmdYrgmR>r Omar Ho$bm OmVmo.

A) 3 ‘{hZo ~) 6 ‘{hZo
H$) 1 df© S>) 2 df©

ii) ................ Am°’$emoAa ~±qH$JMo ’$m¶Xo AmhoV.
A) Ý¶yZV‘ amIrd {ZYr nmgyZ gyQ>
~) ì¶mOXamdarb {Z¶§ÌUmVyZ gyQ>
H$) H$a Am{U ewëH$ ¶m§Mo AË¶ën à‘mU
S>) darbn¡H$s gd©

iii) Or.S>r.Ama.Mo nyU© ê$n ................. Amho.
A) ½bmo~b S>mo‘opñQ>H$ [anmoQ>© ~) ½bmo~b {S>nm°{PQ>ar [agrQ>
H$) OZab {S>nm°{PQ>ar [agrQ> S>) OZab {S>nm°{PQ> [anmoQ>©

iv) gd©gm‘mÝ¶nUo ¶wamo~m°ÝS> ho .................. ‘wXVrMo AgVmV.
A) Aën ~) ‘Ü¶‘ d XrK©
H$) A{V Aën S>) A{V XrK©

v) ................. EH$m XoemMo MbZ Xþgè¶m XoemÀ¶m MbZm‘Ü¶o ê$nm§V[aV H$aUo gwb^
H$aVo.
A) ì¶mdgm{¶H$ ~±H$ ~) naH$s¶ MbZ
H$) naH$s¶ MbZ ~mOma S>) Zm~mS>©

vi) Eg.S>r.Ama. Mo nyU© ê$n ................ Amho.
A) {d{eï> YZmH$f© A{YH$ma ~) {deof R>odr A{YH$ma
H$) {deof AmhaU A{YH$ma S>) gwajm R>odr A{YH$ma
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vii) OmJ{VH$ ~±H$ g‘yhmÛmao Am§Vaamï´>r¶ {dÎm ‘hm‘§S>imMr ñWmnZm .............. gmbr H$aÊ¶mV
Ambr.
A) 1954 ~) 1955

H$) 1956 S>) 1960
viii) Am§Vaamï´>r¶ ZmUo{ZYrÀ¶m ̂ y{‘Ho$V g‘m{dï> Zmhr; ..............

A) Am§Vaamï>r¶ ‘m¡{ÐH$ ¶§ÌUoda XoIaoI R>odUo

~) gm‘m{OH$Ñï²>¶m ‘hËdmÀ¶m àH$ënm§Zm H$O© XoUo

H$) gXñ¶ Xoem§À¶m ì¶dhmaVmobmVrb VyQ> ^ê$Z H$mT>Ê¶mgmR>r {dÎmnwadR>m H$aUo
S>) gXñ¶ Xoem§Zm VabVoMm ñÌmoV àXmZ H$aUo

à.à.à.à.à.2) Am§Vaamï´>r¶ n¡go hñVm§VaU ¶§ÌUm ñnï> H$am. [14]

à.à.à.à.à.3) Am§Vaamï´>r¶ H$O© ~mOma åhUOo H$m¶? Am§Vaamï´>r¶ H$O© ~mOmamVrb ~§YnÌm§Mo {d{dY àH$ma ñnï> H$am.
[14]

à.à.à.à.à.4) {d{Z‘¶ Xa åhUOo H$m¶? pñWa {d{Z‘¶ Xa àUmbr ñnï> H$am. [14]

à.à.à.à.à.5) Am§Vaamï´>r¶ ZmUo{ZYrMr C{Ôï>o Am{U H$m¶} ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) ¶wamo ZmoQ²>g

~) GDR

H$) âbmoqQ>J {d{Z‘¶ Xa

S>) Am§Vaamï´>r¶ {dÎm {ZJ‘





Total No. of Questions :6]

[5956]-317
M.Com. - II

INTERNATIONAL MARKETING
317 : Advanced Marketing

(2019 CBCS Pattern) (Semester - II) (Special Paper - V)

Time :3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No.1 & questions No.6 are compulsory.
2) Solve any three questions from question No.2 to question No.5
3) Figure to the right side indicate full marks.

PA-2913 [Total No. of Pages : 4

SEAT No. :

Q1) Fill in the blanks by selecting suitable choice (any 6). [6]

a) Which of the following is not an important document in foreign trade.

i) A check for the value of goods

ii) A Draft

iii) Bills of leading

iv) A letter of credit.

b) The study of international marketing should focus primarily on

i) Product ii) Place

iii) Promotion iv) All of the above

c) Establishment of exim Bank

i) 1982 ii) 1983

iii) 1984 iv) 1985

d) How do the vast majority of services enter a foreign market?

i) Exporting ii) Importing

iii) Brokers iv)  Licensing or franchising

e) Market segmentation means_______

i) Dividing the selling staff in small size

ii) Dividing the territory in small size

iii) To divide the target group in small size

iv) All of the above

P.T.O.
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f) Internal marketing means______

i) Marketing outside the country

ii) Marketing inside the company

iii) Marketing with family members.

iv) Marketing inside the country.

g) A document that contains a precise description of the goods is known
as a ________

i) Weight list ii) Packing list

iii) Commercial invoice iv) Certificate of origin

h) _______ is not a part of External international marketing enviornment.

i) Political ii) Legal

iii)  Product development iv) Social

Q2) What do you mean by international marketing? Explain the challenges of
international marketing and opportunities of international marketing? [14]

Q3) Explain the various factors affecting to the international marketing environment?
[14]

Q4) Explain in detail concepts international pricing policy, International paricing
planing and international pricing mix. [14]

Q5) Describe the financial and social incentives provided by the Government?[14]

Q6) short notes (any 2) [12]

a) Exim bank

b) Economic Environment.

c) International product planning.

d) Objectives of International marketing.


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Total No. of Questions : 5]

[5956]-317
M.Com. - II

INTERNATIONAL MARKETING
317 : Advanced Marketing

(2019 CBCS Pattern) (Semester - II) (Special Paper - V)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60

gyMZm …- 1) àíZ H«$. 1 bm Am{U àíZ H«$. 6 dm A{Zdm¶© Amho.
2) àíZ H«$. 2 Vo àíZ H«$. 5 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dmdo.
3) àíZnÌrHo$Vrb COì¶m ~mOyMo A§H$ ‘mH©$ Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-2913

à.à.à.à.à.1) Imbrb n¶m©¶mn¡H$s EH$ n¶m©¶ {ZdS>m. (H$moUVohr ghm) [6]

A) Imbrbn¡H$s H$moUVm {dXoer/naH$s¶ ì¶mnmamVrb ‘hÎdmMm XñVEodO Zmhr.

i) dñV§wÀ¶m qH$‘VrMr VnmgZr ii) ‘gwXm

iii) {~b Am°’$ b°qS>J iv) Ho«${S>Q> Mo nÌ

~) Am§Vamï´>r¶ {dnZZmMm Aä¶mg àm‘w»¶mZo ................ da bj H|${ÐV H$aVmo.

i) CËnmXZ ii) OmJm/{R>H$mU

iii) Om{hamV iv) darb gd©

H$) Am¶mV-{Z¶m©V ~±Ho$Mr ñWmnZm ...................... gmbr Pmbr.

i) 1982 ii) 1983

iii) 1984 iv) 1985

S>) ~hþg§»¶ godm naXoer ~mOmanoR>oV H$em àdoe H$aVmV?

i) {Z¶m©V H$aUo ii) Am¶mV H$aUo

iii) Xbmb iv) nadmZm qH$dm ’o«§$Mm¶qPJ

B) ~mOma {d^mOZ åhUOo .......................

i) {dH«$s H$‘©Mmè¶m§Mo {d^mOZ bhmZ AmH$mamV {d^mJUo

ii) àXoem§Mo {d^mOZ bhmZ AmH$mamV {d^mJUo

iii) bú¶ JQ> bhmZ AmH$mamV {d^mJUo

iv) darb gd©
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’$) A§VJ©V {dnZZ åhUOo ................

i) Xoem~mhoarb {dnZZ ii) H§$nZrÀ¶m Am{Vb {dnZZ

iii) Hw$Qw>§~mÀ¶m gXñ¶mgh {dnZZ iv) Xoem§VJ©V {dnZZ

¶) ‘mbmMo AMwH$ dU©Z Agbobo XñVEodO .............. åhUwZ AmoiIbo OmVo.

i) dOZ ¶mXr ii) n°qH$J ¶mXr

iii) ì¶mdgm{¶H$ MbZ iv) ‘wi à‘mUnÌ

a) ....................... ~mø Am§Vaamï´>r¶ {dnUZ n¶m©daUmMm ̂ mJ Zmhr.

i) amOH$s¶ ii) H$m¶Xoera

iii) CËnmXZ {dH$mg iv) gm‘m{OH$

à.à.à.à.à.2) Am§Vaamï´>r¶ {dnUZ åhUOo H$m¶? Am§Vaamï´>r¶ {dnUZmVrb AmìhmZo Am{U g§Yr ñnï> H$am. [14]

à.à.à.à.à.3) Am§Vaamï´>r¶ {dnUZmMo n¶m©daUmda n[aUm‘ H$aUmao {d{dY KQ>H$ ñnï> H$am. [14]

à.à.à.à.à.4) Am§Vaamï´>r¶ {dnUZmMo qH$‘V YmoaU, qH$‘V {Z¶moOZ Am{U qH$‘V {‘l ¶m g§H$ënZm g{dñVa ñnï> H$am.
[14]

à.à.à.à.à.5) gaH$maH$Sy>Z {Xë¶m OmUmè¶m Am{W©H$ Am{U {dÎmr¶ àmoËgmhZm§Mo dU©Z H$am? [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) Am¶mV-{Z¶m©V ~±H$

~) Am{W©H$ n¶m©daU

H$) Am§Vaamï´>r¶ CËnmXZ {Z¶moOZ

S>) Am§Vaamï´>r¶ {dnUZmMr C{Ôï>o





Total No. of Questions : 6]

[5956]-318
M. Com. (Part- II)

ADVANCED MARKETING
318 : Marketing Research (Special Paper- VI)

(2019 CBCS Pattern) (Semester - III)

Time : 3 Hours] [Max. Marks : 60
Instructions to the candidates:

1) Question No.1 and question No. 6 are compulsory.
2) Solve any three questions from Question No.2 to Question No.5.
3) Figures to the right  indicate full marks.

PA-2914 [Total No. of Pages : 4
SEAT No. :

Q1) Fill in the Blanks by selecting suitable choice (Any 6) [6]
i) A common problem in international marketing research is the availability

of ______.
a) Primary Data
b) Research Speciality
c) Secondary Data
d) Consumers willing to answer survey

ii) Marketing Research is related to______.
a) Finance Process
b) Marketing Process
c) Business Process
d) None of the these

iii) Which ONE of the following is not used in advertising research?
a) Copy testing
b) Pretesting
c) Post Testing
d) Voting Intention

iv) People who gather information especially for marketing research
departments are called.
a) Marketing Research Executive
b) Researcher
c) Above both (a) and (b)
d) None of the above

P.T.O.
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v) The Marketing Information System begins and ends with________
a) Marketing Managers
b) Marketing Intelligence
c) Information Technology
d) Consumers

vi) Marketing Information is supplied by________.
a) Management Information System
b) Marketing Research
c) Both (a) and (b)
d) None of the above

vii) Information collected from online databases is an example of_____data.
a) Primary
b) Secondary
c) Observational
d) Experimental

viii) Interview is an example of_______data.
a) Primary
b) Secondary
c) Both (a) and (b)
d) None of the above

Q2) Define the term “Market Research”? Explain in detail different types of
Marketing Survey? [14]

Q3) What is “Marketing Decision Support System? Explain in detail the Significance,
Characteristics and Components of Marketing Decision Support System?[14]

Q4) Explain in detail Primary data sources and Secondary data sources of collecting
Marketing Information? [14]

Q5) What is Web Based Marketing Research? Explain the importance as well as
merits and demerits of Web Based Marketing Research? [14]

Q6) Write short notes on (any two) [12]
a) Implications of Marketing Research on Marketing Mix (7Ps)
b) Application of Marketing Research
c) Standardized Sources of Collecting Data
d) Marketing Research in Social Media


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Total No. of Questions : 6]

[5956]-318
M. Com. (Part- II)

ADVANCED MARKETING
318 : Marketing Research (Special Paper- VI)

(2019 CBCS Pattern) (Semester - III)
(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 60
gyMZm …- 1) àíZ H«$. 1 d àíZ H«$. 6 A{Zdm¶© AmhoV.

2) àíZ H«$. 2 nmgyZ àíZ H«$. 5 n¶ªVMo H$moUVohr 3 (VrZ) àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-2914

à.à.à.à.à.1) A) ¶mo½¶ n¶m©¶mMr {ZdS> H$ê$Z [aH$må¶m OmJm ^am. (H$moUVohr 6) [6×1=6]
i) Am§Vaamï´>r¶ {dnUZ g§emoYZm‘Yrb gd©M {R>H$mUr AmT>iUmar gm‘m{¶H$ g‘ñ¶m åhUOo

............. hr hmo¶.
A) àmW{‘H$ ‘m{hVr
~) g§emoYZ {d{eï>Vm
H$) Xþæ¶‘ ‘m{hVr
S>) J«mhH$m§Mr gd}jUmbm CÎma X²¶md¶mMr BÀN>m

ii) {dnUZ g§emoYZmMm g§~§Y hm nwT>rbn¡H$s ............... g§~§{YV Amho.
A) {dÎmr¶ à{H«$¶m ~) {dnUZ à{H«$¶m
H$) ì¶mdgm{¶H$ à{H«$¶m S>) darbn¡H$s H$mhrhr Zmhr

iii) nwT>rbn¡H$s H$moUË¶m ~m~tMm g‘mdoe hm Om{hamV g§emoYZm‘Ü¶o Ho$bm OmV Zmhr.
A) ‘OHy$a MmMUr ~) nyd©MmMUr
H$) Z§VaMr MmMUr S>) ‘V hoVy

iv) {dnUZ g§emoYZ {d^mJmgmR>r ‘m{hVr g§J«{hV H$aUmè¶m ì¶º$sbm ............. Ago åhQ>bo
OmVo.
A) {dnUZ g§emoYZ Ep³g³¶wQ>rìh ~) g§emoYH$
H$) darbn¡H$s H$mhrhr Zmhr S>) darb XmoÝhrhr (A) d (~)

v) ~mOmanoR> ‘m{hVr àUmbrMr gwédmV Am{U eodQ> hm ................... er hmoVmo.
A) {dnUZ ì¶dñWmnH$ ~) {dnUZ ~m¡{ÕH$Vm
H$) ‘m{hVr V§ÌkmZ S>) J«mhH$
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vi) {dnUZ ‘m{hVr {h ................... ìXmao nwadbr OmVo.

A) ì¶dñWmnZ ‘m{hVr àUmbr ~) {dnUZ g§emoYZ

H$) XmoÝhrhr (A) Am{U (~) S>) darbn¡H$s H$mhrhr Zmhr
vii) Am°ZbmB©Z S>oQ>m~ogÀ¶m ‘mÜ¶‘mVyZ ‘m{hVrMo Oo g§H$bZ Ho$bo OmVo Vo ............. ¶mMo

CXmhaU Amho.
A) àmW{‘H$ ~) Xþæ¶‘

H$) {ZarjUmË‘H$ S>) àm¶mo{JH$
viii) ‘wbmIV ho H$moUË¶m àH$maÀ¶m ‘m{hVrMo CXmhaU Amho?

A) àmW{‘H$ ~) Xþæ¶‘

H$) XmoÝhrhr (A) Am{U (~) S>) darbn¡H$s H$mhrhr Zmhr

à.à.à.à.à.2) ‘{dnUZ g§emoYZ’ ¶m g§H$ënZoMr ì¶m»¶m Úm. {dnUZ gdo©jUmMo {d{dY àH$ma g{dñVa ñnï> H$am.[14]

à.à.à.à.à.3) ‘{dnUZ {ZU©¶ nmqR>~m ì¶dñWm’ åhUOo H$m¶? {dnUZ {ZU©¶ nmqR>~m ì¶dñWoMo ‘hÎd, d¡{eï>²¶o Am{U
KQ>H$ g{dñVa ñnï> H$am. [14]

à.à.à.à.à.4) {dnUZ ‘m{hVr g§H$bZmMo àmW{‘H$ ‘m{hVr ómoV Am{U Xþæ¶‘ ‘m{hVr ñÌmoV g{dñVa ñnï> H$am. [14]

à.à.à.à.à.5) ‘do~ AmYm[aV {dnUZ g§emoYZ’ åhUOo H$m¶? do~ AmYm[aV (B§Q>aZoQ>) {dnUZ g§emoYZmMo ‘hÎd VgoM
’$m¶Xo, VmoQ>o ñnï> H$am. [14]

à.à.à.à.à.6) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr 2) [2×6=12]

A) {dnUZ {‘lVrb 7Ps Mo {dnUZ g§emoYZmVrb Cn¶moOZ

~) {dnUZ g§emoYZmMo Cn¶moOZ

H$) ‘m{hVr g§H$bZmMo à‘m{UV ñÌmoV

S>) gmoeb ‘r{S>¶mVrb {dnUZ g§emoYZ


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Q1) Fill in the blanks by selecting suitable choice (any 6) : [6]
i) ______ and ________ are the two components of capital market.

(SEBI and NSE, BSE and NSE, Primary Market and Secondary Market)
ii) Primary Market is a market where _______.

(New shares are traded, Second hand securities are traded, Only short
term securities are traded)

iii) The capital raised by issue of shares is known as _______.
(Finance, Share Capital, Bank Deposits)

iv) The person who hold the shares of the company is the _______ of the
company.
(Owner, Debtor, Creditor)

v) Treasury Bills Market is a market for treasury bills which have _____
maturity.
(Short term, Long term, Medium term)

vi) ________ is the actual capital received by the company on call on shares.
(Subscribed Capital, Paid up Capital, Called up Capital)

vii) Cash Credit is given for a period of _____ year.
(One, Two, Three)

viii) Overdraft is given for a __________.
(Short Period, Long Period. Medium Period)

SEAT No. :

P.T.O.



[5956]-401 2

Q2) What is Capital Market? Explain the Characteristics and Functions of Capital
Market. [14]

Q3) State the meaning of Secondary Market and explain the Objectives and
Functions of Secondary Market. [14]

Q4) What do you mean by Mutual Fund? Explain the Functions & Types of Mutual
Fund. [14]

Q5) State the Background of SEBI and explain the Powers of SEBI. [14]

Q6) Write short notes (Any 2) : [12]
a) Preference Shares
b) Over the Counter Exchange of India (OTCEI)
c) Credit Rating
d) SEBI approved Financial Adviser


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àíZ 1) `mo½` n`m©̀ mMr {ZdS> H$ê$Z [aH$må`m OmJm ^am. (H$moUË`mhr 6) [6]
i) .............. Am{U ............... ho ^m§S>db ~mOmamMo XmoZ KQ>H$ AmhoV.

(go~r Am{U EZEgB©, ~rEgB© Am{U EZEgB©, àmW{_H$ ~mOma Am{U Xþæ`_ ~mOma)
ii) àmW{_H$ ~mOmanoR> Aer ~mOmanoR> Amho OoWo .............

(ZdrZ ̂ mJm§Mr {dH«$s Ho$br OmVo, ̂ mJm§Mr Xþgè`m§Xm {dH«$s Ho$br OmVo, \$ŠV Aën _wXVrÀ`m
{gŠ ẁ[aQ>rOMm ì`dhma hmoVmo)

iii) ^mJmMr {dH«$s H$ê$Z C^mabobo ^m§S>db åhUOo ................. hmò .
({dÎmnwadR>m, ^mJ ^m§S>db, ~±H$ R>odr)

iv) Omo ì`ŠVr H§$nZrMo eoAa IaoXr H$aVmo Vmo H§$nZrMm .............. AgVmo.
(_mbH$, H$O©Xma, gmdH$ma)

v) Q´>oPar {~ëg _mH}$Q> hr Q´>oPar {~bm§gmR>r EH$ ~mOmanoR> Amho Á`m_Ü`o ............ n[anŠdVm
Amho.
(AënH$mbrZ, XrK©H$mbrZ, _Ü`_ H$mbrZ>)

vi) H§$nZrbm eoAg©À`m H$m°bda {_imbobo ............... ho àË`j ^m§S>db AgVo.
({dH$bobo ^m§S>db, dgyb Pmbobo ^m§S>db, _mJUr Ho$bobo ^m§S>db)

vii) ............. dfm©À`m H$mbmdYrgmR>r H°$e H«o${S>Q> {Xbo OmVo.
(EH$, XmoZ, VrZ)

viii) ................. gmR>r A{YH$f© gdbV {Xbr OmVo.
(Aën H$mbmdYr, XrK© H$mbmdYr, _Ü`_ H$mbmdYr)

P.T.O.
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àíZ 2) ^m§S>db ~mOma åhUOo H$m`? ^m§S>db ~mOmamMr d¡{eï>o d H$m }̀ gnï>  H$am. [14]

àíZ 3) Xþæ`_ ~mOmanoR>oMm AW© gm§JyZ Xþæ`_ ~mOmanoR>oMr C{Ôï>o d H$m }̀ ñnï> H$am. [14]

àíZ 4) nañna {ZYrMm H$m` AW©~moY hmoVmo? nañna {ZYrMo H$m }̀ d àH$ma ñnï> H$am. [14]

àíZ 5) go~rMr nmíd©̂ y_r gm§JyZ go~rMo A{YH$ma ñnï> H$am. [14]

àíZ 6) {Q>nm {bhm. (H$moUVohr {Q>nm {bhm. (H$moUVohr {Q>nm {bhm. (H$moUVohr {Q>nm {bhm. (H$moUVohr {Q>nm {bhm. (H$moUVohr 2))))) [12]

A) AJ«hŠH$ ^mJ

~) Ëd[aV {d{Z_` H|$Ð (Amo Q>r gr B© Am`)

H$) H«o$S>rQ> aoqQ>J

S>) go~r _mÝ` Am{W©H$ gëbmJma


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Q1) Fill in the Blanks by selecting a suitable choice (Any 6): [6]

a) Enterprises in ________ are given more tax concessions.

i) Service sector ii) Automobile

iii) SEZ iv) IT

b) The effort to unite the nations of the world comes from __________.

i) Privatization ii) Liberalization

iii) Globalization iv) Modernization

c) _______ is a political factor affecting the economic environment.

i) Type of Economy ii) Infrastructure

iii) The role of Bureaucracy iv) Banking Facility

d) _______ is a situation in which a large number of business firms sell the
homogeneous products.

i) Monopolistic Competition ii) Duopoly

iii) Perfect competition iv) Monopoly

e) _______ is the major problem of small and cottage industry.

i) More skill labor ii) More selling

iii) Raw material iv) More finance

P.T.O.
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f) Multinational companies have their headquarters in __________.

i) America ii) Every country

iii) Their own country iv) Other country

g) Cement production in India started in _________.

i) 1935 ii) 1921

iii) 1904 iv) 1947

h) _____ industry laid the foundation of India’s industrial economy.

i) The Automobile ii) Process

iii) The textile iv) Cement

Q2) What is an economic environment? Explain the role of economic environment
in economic development. [14]

Q3) State causes of industrial imbalance in India and write measures to remove
industrial imbalance. [14]

Q4) What is Privatization? Explaini arguments for and against of privatization.[14]

Q5) Write definition of Information Technology industry. Explain problems of IT
industry in India. [14]

Q6) Write short notes (Any Two): [12]

a) Technological factors affecting economic environment.

b) Present Situation of public sectors.

c) Problems of special economic zone.

d) Problems of tourism industries in India.


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à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUË¶mhr ghm) [6]

A) ........... ‘Yrb CÚmoJm§Zm A{YH$ H$a gdbVr {Xë¶m OmVmV.

i) godm joÌ ii) dmhZ CÚmoJ

iii) goP iv) Am¶ Q>r

~) OJmVrb amï´>m§Zm EH$Ì AmUÊ¶mMm à¶ËZ ................ ‘YyZ hmoVmo.

i) ImgJrH$aU ii) CXmarH$aU

iii) OmJ{VH$sH$aU iv) AmYw{ZH$sH$aU

H$) ............ hm Am{W©H$ n¶m©daUmda n[aUm‘ H$aUmam amOH$s¶ KQ>H$ Amho.

i) AW©ì¶dñWoMm àH$ma ii) nm¶m ŷV gw{dYm

iii) ZmoH$aemhrMr ^y{‘H$m iv) ~±H$ gw{dYm

S>) .............. åhUOo Aer pñWVr H$s Á¶m‘Ü¶o ‘moR>¶m g§»¶oZo ì¶dgm¶ g§ñWm EH${OZer dñVy§Mr
{dH«$s H$aVmV.

i) ‘ºo$Xmar¶wº$ ñnYm© ii) {Û{dHo«$Vm{YH$ma

iii) nyU© ñnYm© iv) ‘ºo$Xmar

B) ............... hr bKw d Hw$Q>ra CÚmoJmMr à‘wI g‘ñ¶m AgVo.

i) A{YH$ Hw$eb H$m‘Jma ii) OmñV {dH«$s

iii) H$ÀÀmm ‘mb iv) A{YH$ H$O© nwadR>m
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’$) ~hþamï´>r¶ H§$nÝ¶m§Mo ‘w»¶mb¶ ............... AgVo.

i) A‘o[aHo$‘Ü¶o ii) àË¶oH$ XoemV

iii) ñdV:À¶m XoemV iv) Xþgè¶m XoemV

¶) ^maVmV ............. ‘Ü¶o {g‘§oQ>Mo CËnmXZ gwê$ Pmbo.

i) 1935 ii) 1921

iii) 1904 iv) 1947

a) .............. CÚmoJmZo ^maVmVrb Am¡Úmo{JH$ AW©ì¶dñWoMm nm¶m KmVbm.

i) Am°Q>mo‘mo~mB©b ii) à{H«$¶m

iii) H$mnS> iv) {g‘§oQ>

à.à.à.à.à.2) Am{W©H$ n¶m©daU åhUOo H$m¶? Am{W©H$ {dH$mgmVrb Am{W©H$ n¶m©daUmMr ŷ{‘H$m ñnï> H$am. [14]

à.à.à.à.à.3) ^maVmVrb Am¡Úmo{JH$ Ag‘VmobmMr H$maUo gm§JyZ Am¡Úmo{JH$ Ag‘Vmob Xÿa H$aÊ¶mgmR>r Cnm¶¶moOZm
{bhm. [14]

à.à.à.à.à.4) ImgJrH$aU åhUOo H$m¶? ImgJrH$aUmÀ¶m ~mOyZo Am{U {damoYr ~mOyZo ¶w{º$dmX ñnï> H$am. [14]

à.à.à.à.à.5) ‘m{hVr V§ÌkmZ CÚmoJmMr ì¶m»¶m {bhm. ^maVmVrb ‘m{hVr V§ÌkmZ CÚmoJmÀ¶m g‘ñ¶m ñnï> H$am.[14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) Am{W©H$ n¶m©daUmda n[aUm‘ H$aUmao V§ÌkmZ {df¶H$ KQ>H$

~) gmd©O{ZH$ joÌmVrb CÚmoJm§Mr gÜ¶pñWVr

H$) {deof Am{W©H$ joÌmÀ¶m g‘ñ¶m

S>) ^maVmVrb n¶©Q>Z CÚmoJm§À¶m g‘ñ¶m


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Q1) Fill in the blanks by selecting suitable choice (any 6 out of 8). [6]

a) In game theory, the outcome or consequence of a strategy is referred as
the _______

i) Penalty ii) Pay off

iii) Reward iv) end-game strategy

b) A mixed strategy game can be solved by______

i) Simplex method ii) Hungarian method

iii) Graphical method iv) Degeneracy

c) For a maximization problem, objective function coefficient for an artificial
variable is ______

i) +M ii) 0

iii) –1 iv) –M

d) A set of feasible solution to a linear programming problem is ______

i) Polygon ii) triangle

iii) bold iv) convex

e) To find initial basic feasible solution of a T.P. the method which starts
allocations from the lowest cost is called______ method.

i) north west corner ii) South east corner

iii) least cost iv) Vogel’s approximation

f) In a T.P the method of penalties is called______

i) least cost ii) vogel’s approximation

iii) north east corner rule iv) Hungarian method

P.T.O.
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g) _____ is an event oriented network diagram.

i) PERT ii) Histogram

iii) CPM iv) Ogive

h) An activity which doesnot consume either resource or time is called_____

i) Predecessor activity ii) Successor activity

iii) Terminal activity iv) Dummy activity

Q2) Attempt any two of the following. [14]

a) Find IBFS of the following transportation problem using North west
corner method Also find the transportation cost.

Destination
→ A B C D E Supply

Origin ↓
P 2 11 10 3 7 4

Q 1 4 7 2 1 8

R 3 9 4 8 12 9

Demand 3 3 4 5 6

b) Solve the following L.P.P. by graphical method

Minimize Z = 40x
1 
+ 36x

2

Subject to x
1 
≤ 8

x
2 
≤ 10

5x
1 
+ 3x

2 
≥ 45

x
1
, x

2
 ≥ 0

c) Explain rules of dominance in game theory.

Q3) Attempt any two of the following. [14]

a) Write the dual of the following L.P.P.

Maximize (Z) = 5x
1 
+ 7x

2

Subject to x
1
+x

2 
≤ 4

3x
1
+ 8x

2 
≤ 24

10x
1 
+ 7x

2 
≤ 35

x
1
, x

2
 ≥ 0
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b) Obtain IBFS of the following T.P. using matrix minima method. Also find
the transportation cost.

Destination
D

1
D

2
D

3
D

4
Supply

Origin
O

1
5 3 6 2 18

O2 4 7 9 1 37
O

3
3 4 7 5 35

Demand 15 16 34 25

c) Find minimum cost spanning tree for the following network.

Q4) Attempt any two of the following. [14]
a) Solve the following assignment problem to minimize the total cost.

a b c d e
I 160 130 175 190 200

II 135 120 130 160 175

III 140 110 155 170 185

IV 50 50 80 80 110

V 55 35 70 80 105

 
 
 
 
 
 
  

b) Define network. Explain what do you mean by directed and undirected
network? Also explain the terms Node and Arc.

c) Determine the saddle point and optimal strategies for each player’. Also
find value of the game.

Player B

Player A   

I II III
I 4 3 0

II 3 0 3

III 6 3 4

− − 
 
 
 − 
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Q5) Attempt any two of the following. [14]
a) Discuss the various steps involved in the application of PERT and

CPM.

b) Solve the following L.P.P. by simplex method
Minimize (Z)=x

1
–3x

2
+2x

3

Subject to  3x
1 
– x

2 
+ 3x

3 
≤ 7

–2x1 + 4x2 ≤ 12
4x

1 
+ 3x

2 
+ 8x

3 
≤ 10

x
1
, x

2
, x

3
 ≥ 0

c) Solve the following assignment problem for maximization.

A B C D
P 42 35 28 21

Q 30 25 20 15

R 30 25 20 15

S 24 20 16 12

 
 
 
 
 
 

Q6) Attempt any two of the following [12]
a) Draw the graph and highlight the feasible region for the given constraints

x
1 
+ x

2  
≤ 2 and 2x

1 
+ x

2 
≥ 3

b) Write canonical form of the following LPP.
 Maximize (Z) =15x

1
+x

2

 Subject to x1 + 2x2 ≤ 10
2x1 + 3x2 = 12
x

1 
+ x

2 
≥ 3

x
1
, x

2
 ≥ 0

c) Explain the following terms with reference to transportation problem
i) Balanced T.P.
ii) I.B.F.S.
iii) Optimal Solution

d) i) Explain Minimum cost capacitated network
ii) Give model difinition of Max-min networks.


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Q1) Fill in the Blanks by Selecting suitable choice (any  6 out of 8) [6]
a) Which of the following is the working models for cloud computing?

i) Deployment Models ii) Configuring Model
iii) Collaborative Model iv) All of the above

b) The ______allows systems and services to be accessible by a group of
organizations.
i) Private cloud ii) Public cloud
iii) Community cloud iv) Hybrid colud

c) A blockchain, originally block chain, is a growing list of records, called
blocks, that are linked using?
i) Timestamp ii) hash
iii) Merkle tree iv) Cryptography

d) Block chains store data in the form of?
i) line ii) circle
iii) block iv) rhombus

e) What is Artificial Intelligence?
i) Programming with your own intelligence
ii) Putting your intelligence into Computer
iii) Making a Machine intelligent
iv) Playing a Game

P.T.O
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f) Taxes that are levied on any Intra-State purchase are?
i) IGST ii) CGST and SGST
iii) SGST iv) SGST

g) The ____cost of human resources is the sacrifice that was made to
acquire and develop the resource.
i) Historical ii) Opportunity
iii) Replacement iv) Future

h) ____accounting seeks to move from traditional cost accounting to a
system that measures and motivates good business practices in the lean
organizations.
i) Creative ii) Forensic
iii) Lean iv) Advanced

Q2) What is mean by Block Chain Accounting? Explain the Merits and Demerits
of Block Chain Accounting. [14]

Q3) Explain the term Environmental Accounting. Discuss in detail Advantages and
limitations of Environmental Accounting. [14]

Q4) What do you mean by Inflation Accounting? Explain the Methods/Techniques
of Inflation Accounting. [14]

Q5) What is the need of Lean Accounting. Explain the advantages of Lean
Accounting. [14]

Q6) Write short note (Any 2) [12]
a) Nature of Intellectual Property
b) Personal Tax Reforms
c) Advantages of GST
d) Skills Required for Forensic Accountant





Q1) Fill in the blanks by selecting suitable choice (any 6 out of 8) : [6]

1) As per The Competition Act, 2002 “acquisition” means, directly or
indirectly, acquiring or agreeing to acquire i) __________ of any
enterprise; or ii)control over management or control over assets of any
enterprise.

a) Shares only

b) Voting Rights only

c) assets only

d) shares, voting rights or assets

2) As per The Competition Act, 2002 “goods’ means goods as defined
in the ___________.

a) Sale of Goods Act, 1930

b) Indian Contract Act, 1872

c) Consumer Protection Act, 1986

d) GST Act, 2017

Total No. of Questions : 6]
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3) As per the provisions under The Special Economic Zones Act, 2005
the Board of Approval has to be constituted by __________.

a) Central Government

b) State Government

c) Jointly by Central and State Government

d) Supreme Court of India

4) As per the provisions of The Special Economic Zones Act, 2005, the
notification regarding Constitution of Authority has to be published
in the _________.

a) National Newspaper

b) Official Gazette

c) Official website of the Govt. of India

d) Regional Newspaper

5) As per the provisions of The Securitization and Reconstruction of
Financial Assets and Enforcement of Security Interest Act, 2002
“__________” means acquisition by any asset reconstruction company
of any right or interest of any bank or financial institution in any
financial assistance for the purpose of realisation of such financial
assistance.

a) asset reconstruction

b) asset reconstruction company

c) central Registry

d) debt securities

6) Security interest created in favour of any secured creditor may be
enforced without the intervention of the ___________, by such creditor
in accordance with the provisions of The Securitization and
Reconstruction of Financial Assets and Enforcement of Security Interest
Act, 2002.

a) court only b) tribunal only

c) court or tribunal d) RBI
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7) “__________” means a Recovery Officer appointed by the Central
Government for each Tribunal under sub-section (1) of section 7 of
The Recovery of Debts Due to Banks and Financial Institutions Act,
1993.

a) Recovery Officer b) Tribunal

c) Appellate Tribunal d) Financial Institution

8) As per the provisions of ___________ the Recovery Officer shall, on
receipt of the copy of the certificate under sub-section (7) of section
20, proceed to recover the amount of debt specified in the certificate.

a) The Securitization and Reconstruction of Financial Assets and
Enforcement of Security Interest Act, 2002

b) The Special Economic Zones Act, 2005

c) The Recovery of Debts Due to Banks and Financial Institutions
Act, 1993

d) The Competition Act, 2002

Q2) State the provisions of The Competition Act, 2002 relating to abuse of
dominant position by any enterprise and regulation of combinations. [14]

Q3) Explain in detail the provisions under The Special Economic Zones Act,
2005 regarding the establishment of Special Economic Zones (SEZs).[14]

Q4) State the provisions regarding registration of Asset Reconstruction
Companies and Cancellation of Certificate of Registration under The
Securitization and Reconstruction of Financial Assets and Enforcement of
Security Interest Act, 2002. [14]

Q5) Explain the Jurisdiction, Powers and Authority of Tribunals under The
Recovery of Debts Due to Banks and Financial Institutions Act, 1993.[14]
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Q6) Write Short Notes (Any 2 out of 4) : [2 × 6 = 12]

a) The Provisions of The Competition Act, 2002 relating to establishment
and composition of Competition Commission of India and its
chairperson.

b) The provisions for setting up of a unit under The Special Economic
Zones Act, 2005.

c) Provisions relating to Central Registry under The Securitization and
Reconstruction of Financial Assets and Enforcement of Security Interest
Act, 2002.

d) Different Modes of Recovery under The Recovery of Debts Due to
Banks and Financial Institutions Act, 1993.


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Q1) Fill in the blanks by selecting suitable choice (Any 6 out of 8): [6]

a) Cost Accounting standard issued by ___________.

i) ICAI ii) ICA iii) ICMA

b) The objective of this standard is to determination of capacity with
accuracy __________.

i) CAS-1 ii) CAS-2 iii) CAS-3

c) GST was implemented in India from __________.

i) 1st January, 2017 ii) 1st April, 2017 iii) 1st July, 2017

d) Registration certificate granted to non-resident taxable person is valid
for _________ days.

i) 30 days ii) 60 days iii) 90 days

e) What is at the heart of any ERP system?

i) Integrated information

ii) Employees

iii) Customer

P.T.O.
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f) What must a system do to qualify as a true ERP solution?

i) Beflexible

ii) Bemodular & open-closed

iii) Beyond the company

g) The process mapping is a __________ diagram.

i) Data flow ii) Work flow iii) Circular

h) Total Quality Management (TQM) focuses on ___________.

i) Employee ii) Customer iii) Both (i) & (ii)

Q2) Explain in brief the nature & scope of CAS of “Administrative overheads”
(11), “Repair & maintenance of cost” (12) and cost of service cost center”
(CAS-13). [14]

Q3) What are the problems of Productivity Audit? Explain How to overcome
these problems? [14]

Q4) Define the term “Enterprise Resources Planning”? Explain the features and
Benefits of Enterprise Resource Planning. [14]

Q5) What is mean by Six Sigma? Explain in details the advantages and disadvantages
of six sigma? [14]

Q6) Write a short notes (Any 2 out of 4): [12]

a) CAS - 5 : Cost of Transportation.

b) Qualification & Disqualification of Cost Auditor.

c) Features of E-Costing.

d) Principles of Total Quality Management.


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Q1) Fill in the blanks by selecting suitable choice (any 6) : [6]
i) _______ state in India has maximum farmers suicide.

a) Kerala b) Maharashtra
c) Karnataka d) Bihar

ii) _______ is stated the principles of Co-operation.
a) D.R. Gadgil b) R.D. Gorwala
c) Co-operative act d) International Co-operative Union

iii) ______ member from a family can be the member of self help group.
a) 1 b) 2
c) 5 d) 7

iv) _________ is known as the founder of Micro Finance.
 a) Mahatma Gandhi b) Mahammad Yunus
c) Amartya Sen d) V.K. Mehta

v) ________ is more important in Co-operative Society.
a) People b) Capital
c) Government d) Worker

vi) Due to Globalization Production Cost of Co-operative institutes _______.
a) Increased b) Decreased
c) Constant d) Not changed

SEAT No. :

P.T.O.
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vii) Self Help Group Bank linkage programme was first launched by ______.
a) RRB's b) NABARD
c) RBI d) SBI

viii) _______ is not a social responsibility of Co-operative Institutes.
a) Profit Maximisation b) Social Welfare
c) Social Development d) Community Development

Q2) Explain the Theory and Practice of Co-operative Principles. [14]

Q3) Explain the challanges of Global competition and measures to meeting global
challanges by Co-operatives. [14]

Q4) Explain the types of Micro Finance and role of self help groups in Developing
Micro Finance. [14]

Q5) Explain the causes of farmers suicide. [14]

Q6) Write short notes (Any 2) : [12]
a) Corporate social responsibility
b) Six sigma
c) Micro Finance
d) Sustainable Rural Development


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àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aH$må`m OmJm ^am. (H$moUVohr 6) [6]
i) ^maVmVrb ............. amÁ`m_Ü ò gdm©V OmñV eoVH$ar AmË_hË`m Pmboë`m AmhoV.

A) Ho$ai ~) _hmamï´>
H$) H$Zm©Q>H$ S>) {~hma

ii) ........... `m§Zr ghH$mamMr VËdo gm§JrVbr Amho.
A) S>r. Ama. JmS>Jri ~) Ama. S>r. Jmoadmbm
H$) ghH$mar H$m`Xm S>) Am§Vaamï´>r` ghH$mar g§K

iii) EH$m Hw$Qy>§~mVrb .............. gXñ` ñd`§ ghm`Vm JQ>mMo gXñ` hmoD$ eH$VmV.
A) 1 ~) 2
H$) 5 S>) 7

iv) ............ `m§Zm gyú_ {dÎmmMo OZH$ åhUyZ AmoiIbo OmVo.
A) _hmË_m Jm§Yr ~) _hå_X `wZyg
H$) A_Ë ©̀ goZ S>) ìhr. Ho$. _ohVm

v) ghH$mar g§ñWo_Ü ò ........... OmñV _hËdmMo AgVmV.
A) bmoH$ ~) ^m§S>db
H$) gaH$ma S>) H$m_Jma

vi) OmJVrH$sH$aUm_wio ghH$mar g§ñWm§Mm CËnmXZ IM© ...........
A) dmT>bm ~) KQ>bm
H$) pñWa Amho S>) ~Xbbm Zmhr

P.T.O.
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vii) ñd §̀ ghm`Vm JQ> ~±H$ OmoS>Ur H$m ©̀H«$_ àW_Vm ........... Zo gwê$ Ho$bm.
A) Ama Ama ~r ~) Zm~mS>©
H$) Ama ~r Am` S>) Eg ~r Am`

viii) ................. hr ghH$mar g§ñWm§Mr gm_m{OH$ O~m~Xmar Zmhr.
A) Z\$m _hÎm_rH$aU ~) gm_m{OH$ H$ë`mU
H$) gm_m{OH$ {dH$mg S>) g_wXm` {dH$mg

àíZ 2) ghH$mar VËdm§Mo {gÕm§V d A§_b~OmdUr ñnï> H$am. [14]

àíZ 3) OmJ{VH$s H$aUm_wio ghH$mar g§ñWm§g_moa {Z_m©U Pmbobr AmìhmZo gm§JyZ Vr gmoS>{dÊ`mgmR>rMo
Cnm` ñnï> H$am. [14]

àíZ 4) gyú_ {dÎmmMo àH$ma gm§JyZ gyú_ {dÎmmÀ`m {dH$mgmVrb ñd §̀ ghm`Vm JQ>m§Mr ̂ y_rH$m ñnï> H$am.[14]

àíZ 5) eoVH$ar AmË_hË òMr H$maUo gm§Jm. [14]

àíZ 6) {Q>nm {bhm. (H$moUË`mhr XmoZ) [12]

A) ì`mdgm`rH$ gm_m{OH$ O~m~Xmar

~) {gŠg {g½_m

H$) gyú_ {dÎm

S>) emñdV J«m_rU {dH$mg


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Q1) Fill in the blanks (Any 6) : [6]
i) The Indian Economy is an ________ Economy.

a) Agrarian b) Capital
c) Mixed d) None of the above

ii) Indian Agriculture depends mainly upon ________.
a) Mansoon b) Capital
c) Machinary d) Technology

iii) Shareholder is _________ of a company.
a) Partner b) Employee
c) Owner d) Creditors

iv) In ___________ year Govt. of India adopt New Economic Policy.
 a) 1991 b) 1988
c) 1974 d) 1980

v) Tourists are a major component of _______.
a) Tourism b) Environment
c) Economy d) None of above

vi) Corporate governance is a ______ approach.
a) Bottom-UP b) Hybrid
c) Scientific d) Top-down

SEAT No. :
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vii) Cadbery committee is related to _________.
a) Corporate Governance b) Corporate Audit
c) Governments d) Administration

viii) Agriculture is the major Occupation in _______ areas.
a) Rural b) Remote
c) Urban d) None of the above

Q2) Explain the Agro processing policy of Maharashtra. [14]

Q3) Explain the Recent Schemes of Micro, Small and Medium Enterprises. [14]

Q4) Explain the Bank Credit Facilitation in National Small Industries Corporation
Schemes. [14]

Q5) Explain the Recent Development in Corporate Governance in India. [14]

Q6) Write short notes (Any 2) : [12]
a) Agro-Tourism
b) Marketing Assistance
c) Bank Credit Faciliatice
d) Environment Audit


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àíZ 1) [aH$må`m OmJm ^am. (H$moUVohr 6) [6]
i) ^maVr` AW©ì`dñWm hr .............. AW©ì`dñWm Amho.

A) eoVr àYmZ ~) ^m§S>db àYmZ
H$) _rl S>) darb n¡H$s Zmhr

ii) ^maVmVrb eoVr _w»`V: ............... da Adb§~yZ Amho.
A) _mÝgyZ ~) ^m§S>db
H$) §̀Ì S>) V§ÌkmZ

iii) ^mJYmaH$ ho H§$nZrMo ........... AgVmV.
A) ^m{JXma ~) H$_©Mmar
H$) _mbH$ S>) gmdH$ma

iv) ^maV gaH$maZo ............. gmbr ZdrZ Am{W©H$ YmoaUmMm pñdH$ma Ho$bm.
A) 1991 ~) 1988
H$) 1974 S>) 1980

v) n`©Q>H$ hm .............. Vrb à_wI KQ>H$ Amho.
A) n`©Q>Z ~) n`m©daU
H$) AW©ì`dñWm S>) darb n¡H$s Zmhr

vi) H$m°nm}aoQ> JìhZ©Ýg hm ............. Ñï>rH$moU Amho.
A) D$Üd©Jm_r ~) g§H$arV
H$) d¡km{ZH$ S>) AYmoJm_r

P.T.O.
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vii) H°$S>~ar g{_Vr ............ er g§~§YrV Amho.
A) gaH$ma ~) àemgZ
H$) H$m°nm }a oQ> JìhZ©Ýg S>) H$m°nm }a oQ Am°{S>Q>

viii) ............ ^mJmV eoVr hm à_wI ì`dgm` AgVmo.
A) J«m_rU ~) XÿJ©_
H$) ehar S>) darb n¡H$s Zmhr

àíZ 2) _hmamï´>mMo H¥$fr à{H«$`m YmoaU ñnï> H$am. [14]

àíZ 3) gyú_, bKw d _Ü`_ CÚmoJmÀ`m AmYw{ZH$ `moOZm ñnï> H$am. [14]

àíZ 4) amï´>r` bKwCÚmoJ _hm_§S>i `moOZoVrb ~±H$ H«o${S>Q> gwb^Vm ñnï> H$am. [14]

àíZ 5) ^maVr` H$m°nm }a oQ JìhZ©Ýg g§~§YrMm AmYw{ZH$ {dH$mg ñnï> H$am. [14]

àíZ 6) {Q>nm {bhm. (H$moUË`mhr XmoZ) [12]

A) H¥$fr n`©Q>Z

~) {dnUZ gYæ`

H$) ~±H$ nV gwb^Vm

S>) n`m©daUr` A§Ho$jU


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Q1) Fill in the blanks (Attempt any six) : [6]
i) Organizational change management involves______ and the human

resource managers who sponsor the change in organization.
a) Low Level Managers
b) Middle Level Managers
c) Top Level Managers
d) Top Level and Middle Level Managers

ii) ________management sets as its goal the development of innovations,
without imaging what, there will be improvement after implementation.
a) Customer Oriented b) Process Oriented
c) Product Oriented d) Employee Oriented

iii) Global Business Management also includes knowing your different markets
as well as the
a) differences b) similarities
c) differences and similarities d) different customers

iv) _________ is the first step in Innovation Management.
a) Development Solutions b) Idea Management
c) Implementation Management d) Support for the future

v) ________ approach provides for a fundamental change in processes,
calling into question the established methods and foundations, thereby
achieving the optimum state of affairs.
a) Evolutionary b) Revolutionary
c) Theory O d) Theory E

SEAT No. :
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vi) Applying great change management on an effort becomes the______,
not the ________
a) Positive change; Negative change
b) Negative Change; Positive Change
c) expectation; exception
d) exception; expectation

vii) ___________ is the organized and rapid implementation of a range of
measures to correct a seriously unsuccessful situation.
a) Turn Around Management b) Change Management
c) Innovation Management d) Globalization Management

viii) When a company moves into a new market, business models should be
modified to reflect __________
a) local preferences b) customs
c) habits d) All of the above

Q2) State the meaning of Change Management. Explain in detail the significance of
Change Management. [14]

Q3) What is the meaning of Customer-Centric Approach? Explain in detail the
challenges of becoming a Customer-Centric Company. [14]

Q4) Define Cross Cultural Management. What are the issues in Cross Cultural
Management? [14]

Q5) What is the meaning of Turn Around Management? Explain in detail the
techniques in Turn Around Management. [14]

Q6) Write short notes on: (Any two) [12]
a) Principles of Change Management
b) Full 360 Degree View of the Customer
c) Current Trends in Acquisition and Mergers
d) Innovation Management


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àíZ 1) [aH$må`m OmJm ^am. (H$moUVohr ghm) [6]
i) g§ñWmË‘H$ ~Xb ì¶dñWmnZm ‘Ü¶o .............. Am{U ‘mZdr g§gmYZ ì¶dñWmnH$ Oo

g§ñWoVrb ~Xb àm¶mo{OV H$aVmV.
A) {ZåZ ñVa ì¶dñWmnH$ ~) ‘Ü¶‘ ñVamMo ì¶dñWmnH$
H$) erf© ñVar¶ ì¶dñWmnH$ S>) erf© ñVar¶ Am{U ‘Ü¶‘ ñVamMo ì¶dñWmnH$

ii) ............... ì¶dñWmnZmZo A§‘b~OmdUr Z§Va gwYmaUm hmoB©b ¶mMr H$ënZm Z H$aVm
ZdH$ënZm§Mm {dH$mg ho Ë¶mMo C{Ôï> R>adbo Amho.
A) J«mhH$m{^‘wI ~) à{H«$¶m{^‘wI
H$) CËnmXZm{^‘wI S>) H$‘©Mmar{^‘wI

iii) ½bmo~b {~PZog ‘°ZoO‘|Q> ‘Ü¶o Vw‘À¶m {d{dY ~mOmanoR>m VgoM .......... OmUyZ KoUo
XoIrb g‘m{dï> Amho.
A) ’$aH$ ~) g‘mZVm
H$) ’$aH$ Am{U g‘mZVm S>) {^Þ J«mhH$

iv) Zm{dÝ¶nyU© ì¶dñWmnZmVrb ................. {h n{hbr nm¶ar Amho.
A) {dH$mg Cnm¶ ~) H$ënZm ì¶dñWmnZ
H$) A§‘b~OmdUr ì¶dñWmnZ S>) ^{dî¶mgmR>r g‘W©Z

v) ............. Ñ{ï>H$moZ à{H«$¶m§‘Ü¶o ‘yb ŷV ~Xb àXmZ H$aVo, ñWm{nV nÕVr Am{U nm¶m
¶mda àíZ{MÝh {Z‘m©U H$aVo, Á¶m‘wio Bï>V‘ pñWVr àmá hmoVo.
A) CËH«$m§VrdmXr ~) H«$m§{VH$maH$
H$) {gÕm§V Amo S>) {gÕm§V B©

P.T.O.
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vi) à¶ËZm§da CÎm‘ ~Xb ì¶dñWmnZ bmJy H$aUo hr .............. ~ZVo, ........... Zmhr.
A) gH$mamË‘H$ ~Xb; ZH$mamË‘H$ ~Xb ~) ZH$mamË‘H$ ~Xb; gH$mamË‘H$ ~Xb

H$) Anojm; AndmX S>) AndmX; Anojm
vii) .............. J§̂ ranUo A¶eñdr n[apñWVr gwYmaÊ¶mgmR>r Cn¶m§À¶m loUrMr g§K{Q>V Am{U ObX

A§‘b~OmdUr Amho.
A) nwZOudZ ì¶dñWmnZ ~) ~Xb ì¶dñWmnZ
H$) Zm{dÝ¶nyU© ì¶dñWmnZ S>) OmJ{VH$maU ì¶dñWmnZ

viii) Ooìhm EImXr H§$nZr ZdrZ ~mOmanoR>oV OmVo, Voìhm {~PZog ‘m°S>oëg‘Ü¶o ............. ho ~Xb Ho$bo
nm{hOoV.

A) ñWm{ZH$ àmYmÝ¶o ~) àWm
H$) gd¶r S>) darb gd©

àíZ 2) ~Xb ì¶dñWmnZmMm AW© gm§Jm. ~Xb ì¶dñWmnZMo ‘hÎd Vnerbdma gm§Jm. [14]

àíZ 3) J«mhH$-H|${ÐV Ñ{ï>H$moZmMm AW© H$m¶ Amho? J«mhH$ - Ho§${ÐV H§$nZr ~ZÊ¶mMm AmìhmZm§Mo Vnerbdma
dU©Z H$am. [14]

àíZ 4) A§Va-gm§ñH¥${VH$ ì¶dñWmnZmMr ì¶m»¶m {bhm. A§Va - gm§ñH¥${VH$ ì¶dñWmnZm‘Ü¶o H$m¶ g‘ñ¶m
AmhoV. [14]

àíZ 5) nwZOr©dZ ì¶dñWmnZ åhUOo H$m¶? nwZOr©dZ ì¶dñWmnZm‘Yrb V§Ìo Vnerbdma gm§Jm. [14]

àíZ 6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]
A) ~Xb ì¶dñWmnZmMr VÎdo

~) J«mhH$mMo nyU© 360 A§eÑí¶
H$) g§nmXZ Am{U {dbrZrH$aUmVrb dV©‘mZ Q´>|S>
S>) Zm{dÝ¶nyU© ì¶dñWmnZ


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Q1) Fill in the blanks by selecting suitable choice. (Any six) : [6]
i) The maximum term of appointment of Banking ombudsman is ______.

a) 3 years b) 3 months
c) 6 years d) 1 year

ii) Basel norms are ________ for banks in India.
a) Not required b) Mandatory
c) Optional d) Flexible

iii) The risk which occurs from the failure of another porty to perform in a
contract is called _______risk.
a) Currency b) Credit
c) Market d) Exchange

iv) CBLOs are operated by _________
a) SEBI b) BSE
c) CCIL d) RBI

v) A green shoe option provides _______ to the issue.
a) Marketability b) Price Stability
c) Finance d) Visibility

vi) _________ can be exercised only on the expiration data by holder of the
option.
a) American option b) European option
c) Futures d) Derivatives

SEAT No. :
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vii) A _________ system is back - end system that processes daily banking
transactions and posts updates to accounts and other financial records.
a) Core banking b) Branch banking
c) Internet banking d) Unit banking

viii) ___________ is a messaging network that financial institutions use to
securely transmit information and instructions through a standardized
system of codes.
a) RTGS b) NEFT
c) SWIFT d) E-banking

Q2) What is meant by NPAs? Discuss the legal and non-legal Recovery measures
for NPAs. [14]

Q3) Discuss the concepts of Internet Banking. Describe the advantages and
limitations of Internet Banking. [14]

Q4) Explain the Recent Developments in The Indian money Market. [14]

Q5) Distinguish between BSE and NSE. Explain the functions and services by
recognized stock exchanges. [14]

Q6) Write short notes on: (Any 2) [12]
a) CAMELS rating in Banks.
b) Electronic funds transfer.
c) Money Market derivatives.
d) Book Building.


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3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
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àíZ 1) ¶mo½¶ n¶m©¶ {ZdSw>Z [aH$må`m OmJm ^am. (H$moUVohr ghm) [6]
i) ~°qH$J bmoH$nmb {Z¶wº$sMr H$‘mb ‘wXV .............. Amho.

A) 3 df} ~) 3 ‘{hZo
H$) 6 df} S>) 1 df©

ii) ^maVmVrb ~±H$m§gmR>r ~ogb {ZH$f ............... AmhoV.
A) Amdí¶H$ ZmhrV ~) A{Zdm¶©
H$) EopÀN>H$ S>) bd{MH$

iii) H$amam‘Ü¶o Xþgam nj A¶eñdr Pmë¶m‘wio Omo YmoH$m CÕ^dVmo Ë¶mbm ............. OmoIr‘
åhUVmV.
A) MbZ ~) nV
H$) ~mOma S>) {d{Z‘¶

iv) gr ~r Eb Amo ................. Ûmao Mmbdbo OmVmV.
A) go~r ~) ~r Eg B©
H$) gr gr Am¶ Eb S>) Ama ~r Am¶

v) J«rZ ey Am°ßeZ ¶m g‘ñ¶obm ................. àXmZ H$aVmo.
A) ~mOma j‘Vm ~) qH$‘V pñWaVm
H$) {dÎm S>) Ñí¶‘mZVm

vi) .............. Mm dmna Ho$di n¶m©¶ YmaH$mÛmao H$mb~møZm VmaIobm Ho$bm OmD$ eH$Vmo.
A) A‘o[aH$Z n¶m©¶ ~) ¶wamo{n¶Z n¶m©¶
H$) â¶wMg© S>) S>oarìho{Q>ìh

P.T.O.
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vii) ........... àUmbr hr ~±H$ ES> àUmbr Amho Or X¡Z§{XZ ~±qH$J ì¶dhmam§da à{H«$¶m H$aVo Am{U
ImVr d BVa Am{W©H$ Zm|X AÜ¶mdV H$aVo.

A) H$moAa ~±qH$J ~) emIm ~±qH$J

H$) B§Q>aZoQ> ~±qH$J S>) ¶y{ZQ> ~±qH$J

viii) ............. ho EH$ ‘ogoqOJ ZoQ>dH©$ Amho Á¶mMm dmna {dÎmr¶ g§ñWm ‘mZH$sH¥$V H$moS> àUmbrÛmao
gwa{jVnUo ‘m{hVr Am{U gwMZm àgm[aV H$aÊ¶mgmR>r H$aVmV.

A) Ama Q>r Or Eg ~) EZ B© E’$ Q>r

H$) ñdrßQ> S>) B©-~±qH$J

àíZ 2) EZ nr E åhUOo H$m¶? EZ nr E gmR>r H$m¶Xoera Am{U J¡a - H$m¶Xoera Cnm¶m§Mr MMm© H$am.
[14]

àíZ 3) B§Q>aZoQ> ~±qH$J g§H$ënZoMr MMm© H$am. B§Q>aZoQ> ~±qH$JMo ’$m¶Xo Am{U ‘¶m©Xm gm§Jm. [14]

àíZ 4) ^maVr¶ ZmUo~mOmamMm A{bH$S>rb H$mimVrb {dH$mg ñnï> H$am. [14]

àíZ 5) ‘§w~B© eoAa ~mOma Am{U amï´>r¶ eoAa ~mOma ¶m‘Yrb ’$aH$ gm§Jm. ‘mÝ¶Vmàmá ñQ>m°H$ E³gM|O
Ûmao XoD$ Ho$bobr H$m¶©o Am{U godm ñnï> H$am. [14]

àíZ 6) WmoS>³¶mV Q>rnm {bhm. (H$moUË¶mhr XmoZ) [12]

A) ~±H$m§‘Ü¶o H°$‘ëg aoqQ>J

~) Bbo³Q´>m°{ZH$ {Z{Y hñVm§VaU

H$) ‘Zr ‘mH©o$Q> S>o[aìho{Q>ìhO

S>) ~wH$ {~ëS>tJ


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Q1) Fill in the blanks by selecting suitable choice : (any 6) [6]
i) The term digital marketing was first used in which.

a) 1910 b) 1920
c) 1990 d) 1991

ii) Poverty has an ________ effect on the environment and sustainable
development.
a) Adverse b) Directionless
c) Variable d) Friendly

iii) WWW. Flipkart. Com is example of ___________.
a) C2C E - Commerce, E - Business model
b) B2C E - Commerce, E - Business model
c) C2B E - Commerce, E - Business model
d) B2G E - Commerce, E - Business model

iv) Marketing is a process which aims at _________
a) Production
b) Profit Marking
c) The satisfication of customer needs
d) Selling products

SEAT No. :

P.T.O.
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v) _______ is not a type of marketing concept.
a) The production concept b) The selling concept
c) The Social Marketing d) The supplier concept

vi) ________ strategy has the goal of increasing sales.
a) Marketing b) Purchasing
c) Pramoting d) Advertising

vii) The ________ approach focus on competitive advantage, customer needs
and expectation, creativity and flexibility.
a) Competitive b) Institutional
c) Organisational d) Strategic

viii) ________ is a sustainable business approach adopted to create business,
better interests and a better world.
a) Sustainable marketing b) Marketing Mix
c) Sustainable development d) Sustainable procedure

Q2) What do you mean by sustainable marketing? Explain in detail problems and
prospects of sustainable marketing? [14]

Q3) What do you mean by marketing strategy? Explain the various types of
marketing. [14]

Q4) What are the marketing strategies for enhancing customer involment and
engagement. [14]

Q5) Define the term digital marketing? Explain the problems and prospects of digital
marketing? [14]

Q6) Write short notes : (Any 2) [12]
a) Importance of sustainable development.
b) Types of marketing strategy.
c) Problems of Digital marketing.
d) Factors necessary for appropriate service standard.


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3) CO{dH$S>rb A§H$ àíZm§Mo EHw$U JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌHo$Mm dmna H$amdm.
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àíZ 1) Imbrb n¶m©¶mn¡H$s EH$ n¶m©¶ {ZdS>m (H$moUVohr Imbrb n¶m©¶mn¡H$s EH$ n¶m©¶ {ZdS>m (H$moUVohr Imbrb n¶m©¶mn¡H$s EH$ n¶m©¶ {ZdS>m (H$moUVohr Imbrb n¶m©¶mn¡H$s EH$ n¶m©¶ {ZdS>m (H$moUVohr Imbrb n¶m©¶mn¡H$s EH$ n¶m©¶ {ZdS>m (H$moUVohr 6))))) [6]
i) {S>OrQ>b ‘mH}$qQ>J {h g§km gd©àW‘ H$moUË¶m dfu dmnaÊ¶mV Ambr.

A) 1910 ~) 1920
H$) 1990 S>) 1991

ii) J[a~rMm n¶m©daUmda Am{U emídV {dH$mgmda ................ n[aUm‘ hmoVmo.
A) à{VHw$b ~) {XemhrZ
H$) n[adV©Z{eb S>) ‘¡{ÌnyU©

iii) WWW. Flipkart. Com ho H$emMo CXmhaU Amho.
A) gr Qy> gr B© - H$m°‘g©, B© - {~PZog ‘m°S>ob
~) ~r Qy> gr B© - H$m°‘g©, B© - {~PZog ‘m°S>ob
H$) gr Qy> ~r B© - H$m°‘g©, B© - {~PZog ‘m°S>ob
S>) ~r Qy> Or B© - H$m°‘g©, B© - {~PZog ‘m°S>ob

iv) {dnUZ {h EH$ à{H«$¶m Amho Á¶mMo C[Õï> ............. Amho.
A) CËnmXZ ~) Z’$m {‘i{dZo
H$) J«mhH$m§À¶m JaOm§Mo g‘mYmZ S>) CËnmXZ {dH«$s

v) ............. hm {dnUZ g§H$ënZoMm àH$ma Zmhr.
A) CËnmXZ g§H$ënZm ~) {dH«$s g§H$ënZm
H$) gm‘m{OH$ {dnUZ S>) nwadR>mXma g§H$ënZm

P.T.O.
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vi) ............ YmoaUmV {dH«$s dmT>{dÝ¶mMo C[Õï> Amho.
A) {dnUZ ~) IaoXr
H$) àMma S>) Om{hamV

vii) .............. Ñï>rH$moUmÛmao ñnYm©Ë‘H$ bm^, J«mhH$m§À¶m JaOm Am{U Anojm gO}Z{ebVm
Am{U bd{MH$Vm ¶mda bj H§o${ÐV H$aÊ¶mV Ambo.
A) ñnYm©Ë‘H$ ~) g§ñWmË‘H$
H$) g§KQ>mË‘H$ S>) ì¶whaMZmË‘H$

viii) .............. åhUOo ì¶dgm¶ CÎm‘ {hVg§~§Y Am{U EH$ Mm§Jbo OJ {Z‘m©U H$aÊ¶mgmR>r
ñdrH$mabobr emídV ì¶dgm¶ H$m¶©nÕVr hmo¶.
A) emídV {dnUZ ~) {dnUZ {‘l
H$) emídV {dH$mg S>) emídV H$m¶©nÕVr

àíZ 2) emídV {dnUZ åhUOo H$m¶? emídV {dnUZmÀ¶m g‘ñ¶m Am{U g§Yr g{dñVa ñnï> H$am? [14]

àíZ 3) {dnUZ YmoaU/ì¶whaMZm åhUOo H$m¶? {dnUZ YmoaUmMo/ì¶whaMZoMo {d{dY àH$ma ñnï> H$am?
[14]

àíZ 4) godm {dVaUm‘Ü¶o J«mhH$m§Mm gh^mJ Am{U à{V~ÕVm dmT>{dÊ¶mgmR>r H$moUË¶m {dnUZ ì¶whaMZm
Amgë¶m OmVmV? [14]

àíZ 5) {S>OrQ>b {dnUZmMr ì¶m»¶m XoD$Z, {S>OrQ>b {dnUZmÀ¶m g‘ñ¶m Am{U àJVr/g§̂ mì¶Vm ñnï>
H$am? [14]

àíZ 6) {Q>nm {bhm (H$moUË¶mhr 2) [12]
A) emídV {dH$mgmMo ‘hÎd
~) {dnUZ YmoaUmMo àH$ma
H$) {S>OrQ>b {dnUZmÀ¶m g‘ñ¶m
S>) ¶mo½¶ godm ‘mZH$m§gmR>r Amdí¶H$ KQ>H$


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Q1) Fill in the Blanks by Selecting suitable choice. (Any Six) [6]
i) Maximum period for a commercial paper can be issued is _____

a) 3 months b) 6 months
c) 1 year d) 2 years

ii) The benefits of offshore banking is _____
a) Exemption from minimum Reserve Requirement
b) Freedom from control on interest rate
c) Low taxes and levies
d) All of above

iii) GDR stands for _____
a) Global Domestic Reports
b) Global Depository Receipts
c) General Depository Receipts
d) General Deposite Report

iv) Maturity period of Eurobonds are generally ______
a) Short period b) Medium and long period
c) Very few periods d) Too long period

v) ______facilitates the conversion of one country’s currency into another.
a) Commerical Bank b) Foreign Exchange
c) Forex Market d) NABARD

P.T.O.
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vi) S.D.R. Stands for ______
a) Specific Draft Rights
b) Special Deposits Rights
c) Special Drawing Rights
c) Safe Deposits Rights

vii) International Finance Corporation was established by World Bank Group
in ____
a) 1954 b) 1955
c) 1956 d) 1960

viii) The role of IMF does not include ______
a) Monitoring the proper conduct of the international monetary system
b) Lending to socially oriented projects
c) Financing temporary balance of payments deficits of member

countries
d) Providing source of liquidity to member countries

Q2) Explain International Money Transfer Mechanism. [14]

Q3) What is International Debit Market? Explain different types of Bonds in
International Debit Market. [14]

Q4) What is the Exchange Rate? Explain the Fixed Exchange Rate system. [14]

Q5) Explain Objectives and Functions of International Monetary Fund. [14]

Q6) Write Short Notes. (Any Two) [12]
a) Euro Notes
b) GDR
c) Floating exchanger rate
d) International Finance Corporation


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3) COì¶m ~mOyMo A§H$ nyU© JwU Xe©dVmV.
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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr ghm) [6]
i) H$‘{e©¶b nona OmñVrV OmñV .............. H$mbmdYrgmR>r Omar Ho$bm OmVmo.

A) 3 ‘{hZo ~) 6 ‘{hZo
H$) 1 df© S>) 2 df©

ii) ................ Am°’$emoAa ~±qH$JMo ’$m¶Xo AmhoV.
A) Ý¶yZV‘ amIrd {ZYr nmgyZ gyQ>
~) ì¶mOXamdarb {Z¶§ÌUmVyZ gyQ>
H$) H$a Am{U ewëH$ ¶m§Mo AË¶ën à‘mU
S>) darbn¡H$s gd©

iii) Or.S>r.Ama.Mo nyU© ê$n ................. Amho.
A) ½bmo~b S>mo‘opñQ>H$ [anmoQ>© ~) ½bmo~b {S>nm°{PQ>ar [agrQ>
H$) OZab {S>nm°{PQ>ar [agrQ> S>) OZab {S>nm°{PQ> [anmoQ>©

iv) gd©gm‘mÝ¶nUo ¶wamo~m°ÝS> ho .................. ‘wXVrMo AgVmV.
A) Aën ~) ‘Ü¶‘ d XrK©
H$) A{V Aën S>) A{V XrK©

v) ................. EH$m XoemMo MbZ Xþgè¶m XoemÀ¶m MbZm‘Ü¶o ê$nm§V[aV H$aUo gwb^
H$aVo.
A) ì¶mdgm{¶H$ ~±H$ ~) naH$s¶ MbZ
H$) naH$s¶ MbZ ~mOma S>) Zm~mS>©

vi) Eg.S>r.Ama. Mo nyU© ê$n ................ Amho.
A) {d{eï> YZmH$f© A{YH$ma ~) {deof R>odr A{YH$ma
H$) {deof AmhaU A{YH$ma S>) gwajm R>odr A{YH$ma
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vii) OmJ{VH$ ~±H$ g‘yhmÛmao Am§Vaamï´>r¶ {dÎm ‘hm‘§S>imMr ñWmnZm .............. gmbr H$aÊ¶mV
Ambr.
A) 1954 ~) 1955

H$) 1956 S>) 1960
viii) Am§Vaamï´>r¶ ZmUo{ZYrÀ¶m ̂ y{‘Ho$V g‘m{dï> Zmhr; ..............

A) Am§Vaamï>r¶ ‘m¡{ÐH$ ¶§ÌUoda XoIaoI R>odUo

~) gm‘m{OH$Ñï²>¶m ‘hËdmÀ¶m àH$ënm§Zm H$O© XoUo

H$) gXñ¶ Xoem§À¶m ì¶dhmaVmobmVrb VyQ> ^ê$Z H$mT>Ê¶mgmR>r {dÎmnwadR>m H$aUo
S>) gXñ¶ Xoem§Zm VabVoMm ñÌmoV àXmZ H$aUo

à.à.à.à.à.2) Am§Vaamï´>r¶ n¡go hñVm§VaU ¶§ÌUm ñnï> H$am. [14]

à.à.à.à.à.3) Am§Vaamï´>r¶ H$O© ~mOma åhUOo H$m¶? Am§Vaamï´>r¶ H$O© ~mOmamVrb ~§YnÌm§Mo {d{dY àH$ma ñnï> H$am.
[14]

à.à.à.à.à.4) {d{Z‘¶ Xa åhUOo H$m¶? pñWa {d{Z‘¶ Xa àUmbr ñnï> H$am. [14]

à.à.à.à.à.5) Am§Vaamï´>r¶ ZmUo{ZYrMr C{Ôï>o Am{U H$m¶} ñnï> H$am. [14]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [12]

A) ¶wamo ZmoQ²>g

~) GDR

H$) âbmoqQ>J {d{Z‘¶ Xa

S>) Am§Vaamï´>r¶ {dÎm {ZJ‘


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